AIR SPRINGS
¢ <CATALOGUE

CONNECT’ ) MeKias

AIR SPRINGS






50.000 m?

PRODUCTION

FACILITY

A YEARLY CAPACITY OF

2 MILLION

UNITS

30 O+ FMPLOYEES

In all its practices, Meklas adopts an
innovative approach accompanied
with developments in technology
while enhancing its resources, and
focuses on R&D activities and new
designs to sustain its competitive

edge globally.




O

Ne integrity that
Nds performance
Nd power: Meklas.

Meklas began producing air springs in
Bursa in 1986, and today, with over 30
years of experience, keeps producing
air springs along with vibration
absorbers for heavy vehicles and trailer
manufacturers. It is also expanding

its area of operations by producing

air springs for machines, railway
systems, light commercial vehicles,
agricultural machineries and products

for construction sector.

Meklas mainly operates in the

key and subsidiary automotive
industry sectors, along with
agricultural machinery and
vehicles, industrial applications,
railway systems and construction
applications sectors where air
springs are utilized effectively;

and is currently exporting over
1200 types of products to more
than 80 countries in 5 continents,
with production facilities in 2
different locations in Turkey and
delivery channels in 4 different
locations including USA and
Europe.

TNNEC]



Today, Meklas has become an
important partner for OEM's

due to its products and designs
which were developed together
with heavy vehicle, equipment
and system manufacturers; and
with its independent aftermarket
distribution network, Meklas is
currently handling the distribution

WITH ITS R&D CENTER,
WHICH WAS THE FIRST
EVER TO PRODUCE

AIR SPRINGS IN
TURKEY, MEKLAS IS
FULLY CAPABLE OF

DESIGNING, ANALYZING
AND TESTING ITS
PRODUCTS.

of CONNECT AIR SPRINGS, AIR
EXPERT AIR SPRINGS, MAXISUS,
UNISUS and ROCK RIDE
registered marks.

The company is also fulfilling
customer services in 4 continents
for after-sales services as well as
pre-sale services.

Meklas carries out all its
production with ISO/TS 16949,
ISO 3001, ISO 14001, and OHSAS
18001 quality standards, and
produces highly-durable and
long-lasting air springs for heavy
vehicles, trucks, tractors, buses
and trailers.

o meklas
group




AS OF 2017, WITH MORE THAN 300 EMPLOYEES
-OF WHICH 35 OF THEM ARE EMPLOYED IN THE
R&D CENTER- AND ACTIVITIES CONDUCTED
IN 4 LOCATIONS WITH ATOTAL OF 30.000
SQUARE METERS CLOSED AREA, MEKLAS
IS MOVING ON THE COURSE TO BECOME

A GLOBAL BRAND THANKS TO ITS
SUSTAINABLE DEVELOPMENT STRATEGY,
VISION AND MISSION.

To become a company that
produces ‘global brands” through
an administrative mentality

that focuses on the culture of

VI S I 0 N exellence.

To constantly improve our resources
In order to design and produce
durable, long-lasting air springs and
high technology composite products
for transportation vehicles, industrial
applications, and to support these with
a global distribution network and after-
sale services.



oooooooooooooooooooooooooooooooooooooooooooooo
. .

WE SUCCEED WITH

VALUES OUR EMPLOYEES

We know that the basic
O |
% & requirement for perfect results is
capable and happy employees,

and we improve ourselves in
this aspect. We appreciate each

oooooooooooooooooooooooooooooooooooooooooooo
.

WE TRUST other and give correct feedback.
EACH OTHER DO T e
We establish trust-based T 5 e

and ethical relationships

with all our partners. WE WORKFORA
SUSTAINABLE FUTURE
............................................ :.’ v We don,t fOFget abOUt tomorrow
t «ff  while working for today; we

oooooooooooooooooooooooooooooooooooooooooooo
.

reduce what we take from
nature and we refurbish
what we take from it.

WE ARE
INNOVATIVE

oooooooooooooooooooooooooooooooooooooooooooooooo

We create success out of
an idea with our knowledge
and imagination.

G

oooooooooooooooooooooooooooooooooooooooooooooooo
. .

: g WE ARE QUICK
AND AGILE
oooooooooooooooooooooooooooooooooooooooooo :. f\}
............................................ 0 ? We don'tjust say “it's not working’
: . . and give up, we quickly make
WE PRODUCE decisions and try new methods. :
VALUE FOR OUR
CUSTOMERS } ’... ................................................
V\/e DFOdUCe tOdag ] :.: oooooooooooooooooooooooooooooooooooooooooooooooooo
what our customers
will need tomorrow. WE SUSTAIN OUR

PERFECT RESULTS

. W We enhance our results with our

constant improvement culture.
We show our results in numbers.

. .
oooooooooooooooooooooooooooooooooooooooooooo

.
oooooooooooooooooooooooooooooooooooooooooooooooo







EXPOrt to more than
SU countries in 5 continents.

Meklas has production facilities in 2 different locations in Turkey, and to serve
its customers faster and better, it also employs global distribution channels in
2 different locations in USA and Europe




COMPLETE
AIR SPRINGS







CONNECT

AIR SPRINGS

131108 210047 310006

M12x1.75

M20x2.5 W

M14x1.5

h:548

Product ID: 131108 Weight: 5,18 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
Samro 2500915 Firestone m7B-1
Mercedes A946 328 04 01
Hendrickson HS 251087
Renault 5.010.557164
R.O.R Meritor MLF7061

meklas.com 5 meklas
e JrOuUp



10081-K

CONNECT

AIR SPRINGS

161086 210047/ 2200359
7&&&\ ?259
2258
2 N
E M20x2.5 =
M14x1.5 101.8 M12x1.75

Product ID: 161086 Weight: 1114 kg QIP (pcs): 21
OEM Ref. CROSS Ref.
Samro 2500915 Firestone 1m7B-1
Mercedes A946 328 04 O1 Firestone Part No WQ01-M58-8747
Hendrickson HS 251087 WQ01-M58-8629
Renault 5.010.557164 Goodyear 1R13-150
R.O.R Meritor MLF7061 1R13-148
Goodyear Flex No 566-26-3-068
Phoenix 1DK 25-1
Vibracoustic V1DK 25-8747
Blacktech RML 70081C
Airtech 30081C
Granning 15654
Gart 278.4.535/D278/D
meklas.com meklas

13

e Jroup



CONNECT 10081-KP

AIR SPRINGS

161186 210047 220547

3258

M20x2.5
M14x1.5

h:380

Product ID: 161186 Weight: 7,29 kg QIP (pcs): 21
OEM Ref. CROSS Ref.
Samro 2500915 Firestone m7B-1
Mercedes A 3946 328 04 01 Firestone Part No WO01-M58-8747
Hendrickson HS 251087
Renault 5.010.557164
R.O.R Meritor MLF7061

meklas.com y meklas
e JrOuUp



CONNECT

AIR SPRINGS

131305

0245

h:318

3147.4

210069
2259
2140
56
219.8
M14x1.5
VAL
4
LO)

211.9

Product ID: 131305 Weight: 3,29 kg QIP (pcs): 63
OEM Ref. CROSS Ref.
Scania 1440301 Firestone 1T5VR-3
488265 Firestone Part No. wW01-515-8192
470920 Goodyear 1R13-746
Goodyear Flex No 566-26-3-523
Phoenix 1DF 23 B-1
Airtech 330301-02P
meklas.com meklas

15

e Jroup



CONNECT

AIR SPRINGS

161220 210069 220086

M14x1.5

h:220
)

103,

Product ID: 161220 Weight: 9,01kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Scania 1440301 Firestone 1T5VR-3
488265 Firestone Part No. w01-515-8192
470920 Goodyear 1R13-746
Goodyear Flex No 566-26-3-523
Phoenix 1DF 23 B-1
Airtech 330301-02C
Dunlop 01525A-AP
Granning 92504 /1
Blacktech RML 70301C
Gart 278.2.300/ D278/NA
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

1351348 210069

0245

S

M14x1.5

h:360

Product ID: 131348 Weight: 4,04 kg QIP (pcs): 63
OEM Ref. CROSS Ref.
Scania 1440302 Firestone M5VPR-3
470921 Firestone Part No WQ01-M58-8193 (without piston)
488266 Goodyear 1R12-809
Goodyear Flex No 566-24-3-530
Phoenix 1DF 23 A-1
Airtech 330302P
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161091 210069 220032
9259
< i M14x1.5
2 |
- g g

Product ID: 161091 Weight: 9,05 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Scania 1440302 Firestone 1T15VPR-3
470921 Firestone Part No W01-M58-8193
488266 Goodyear 1R12-809
Goodyear Flex No 566-24-3-530
Phoenix 1DF 23 A-1
Airtech 330302C
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161244 210042 220091
. 2228
140 2217
M14x1.5
0 A .
e [ S
LN == 56.5 )
e 211.9 g1z
%] S

Product ID: 161244 Weight: 775 kg QIP (pcs): 39
OEM Ref. CROSS Ref.
Scania 1440303 Firestone 1m15L-4
152114 Firestone Part No W01-095-0422
1475106 Goodyear 1RM1-833
488263 Goodyear Flex No 566-22-3-547
Phoenix 1DF 20 CA1
Blacktech RML70303C
Airtech 33M4.C
Dunlop 01396A-AP
Gart 297.2.315/ D297/A
meklas.com N meklas

e Jroup



CONNECT

AIR SPRINGS

151106 210042
2235

0228

Yy

M14x1.5 ‘!é}

h:438

2147 .4,

Product ID: 131106 Weight: 3,93 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Scania 1440304 Firestone 1T15LR-4
470922 Firestone Part No WQ01-085-0424 (without piston)

R.O.R Meritor MLF7142 Goodyear 1R1-829
Goodyear Flex No 566-22-3-545
Phoenix 1DF20A-3
Blacktech RML 70304 C
Airtech 330304 P

meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161084 210042 220022

0228
140

2186
M14x1.5
[~

h:304

se.58 \ts, 211.9 213
911.9

Product ID: 161084 Weight: 7,91kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Scania 1440304 Firestone 1T15LR-4
470922 Firestone Part No W01-095-0424
R.O.R Meritor MLF7142 Goodyear 1R11-829
Goodyear Flex No 566-22-3-545
Phoenix 1DF 20A-3
Blacktech RML 70304 C
Airtech 330304 C
Dunlop 01399A-AP
01397A-AP
Granning 92505
Gart 2971430/ D297/B
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

131347 210042

0235 0228

et

M14x1.5

h:438

0147.4
Product ID: 131347 Weight: 2,85 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Scania 1440305 Firestone 1T15LR-4
492680 Firestone Part No W01-095-0481
1440859 Goodyear 1R1-830
R.O.R Meritor MLF7143 Goodyear Flex No 566-22-3-545
Phoenix 1DF 20A-2
Vibracoustic V1DF20C-2
Blacktech RML70305C
Airtech 330305C
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161138

h:325
%

139

210042
2228
140
M14x1.5
[~
56.5) K%ﬁ 211.9

220066

3203

Product ID: 161138 Weight: 8,98 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Scania 1440305 Firestone 1T15LR-4
492680 Firestone Part No W01-095-0481
1440859 Goodyear 1R1-830
R.O.R Meritor MLF7143 Goodyear Flex No 566-22-3-545
Phoenix 1DF 20A-2
Vibracoustic VIDF20C-2
Blacktech RML70305C
Airtech 330305C
Dunlop 01398A-AP
Granning 92502
Gart 2971431/ D297/B
meklas.com meklas

23

e Jroup



CONNECT

AIR SPRINGS

161260

h:300
%

160

210042

08228
140

M14x1.5 |—=28-

5.65

211.9

220094

Product ID: 161260 Weight: 8,68 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Scania 1440306 Firestone 1T5LR-4
492678 Firestone Part No W01-095-0481
Goodyear 1R1-831
Goodyear Flex No 566-22-3-546
Phoenix 1DF 20 A1
Airtech 330306 C
Dunlop 01397A-AP
01399A-AP
Granning 92507
Blacktech RML 70306 C
meklas.com meklas

24

e group



CONNECT

AIR SPRINGS

161289

h:250

106

M14x1.5

210042

8228
140

56.5

211.9

220097

3199.7

Product ID: 161289 Weight: 7,34 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
Scania 1440307 Firestone 1m15L-4
1440860 Firestone Part No WQ01-095-0405
470919 Goodyear 1R1-845
475149 Goodyear Flex No 566-22-3-550
R.O.R Meritor MLF 7144 Phoenix 1DF 23B-2
Blacktech RML 70307 C
Airtech 330307 C
Dunlop 01527A-AP
Granning 92503
Gart 2971.300/D297/C
meklas.com meklas

25

e Jroup



CONNECT

AIR SPRINGS

151307 210060
@248

w@» ‘ 2229

h:365

M10x1.5 M16x2

M12x1.5

M12x1.75

Product ID: 131307 Weight: 4,38 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Hendrickson HS 507922 /P Vibracoustic V1DK27-B1
BMC 57RS308887 Airtech 30721P

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

161319 210060

h:250

121,

M20x1.5
M12x1.5

—4

220120

9241

M14x2

Product ID: 161319 Weight: 10,67 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Hendrickson HS 507922 /P Vibracoustic VIDK27-B1
BMC 57RS308887 Blacktech RML 78887 C
Airtech 30721C
meklas.com

27

O meklas
e group



CONNECT

AIR SPRINGS

151356 210060 310012
2248

A oo

h:360

M16x2
M20x1.5

M12x1.5

Product ID: 131356 Weight: 4,96 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Vibracoustic V1DK27-B2
Airtech 30722 P

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

161320 210060 220119

M20x1.5 M14x2
M12x1.5

h:250

Product ID: 161320 Weight: 10,16 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Vibracoustic V1IDK27-B2
Airtech 30722C

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161417 215038 220160

2205

h:230

102

M12x1.75

Product ID: 161417 Weight: 7,80 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Airtech 30907 C
Dunlop PNP303907100

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

131311 210284
_H
K 2258

M24x1.5

M16x1.5 2 M12x1.75

h:420

N

Product ID: 131311 Weight: 5,96 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Mercedes A 942 32059 21 Goodyear 1R1-847 (without piston)
Hendrickson HS 508263 Goodyear Flex No 566-22-3-525
Daimler A9423205921
Evobus A9423205921
meklas.com , meklas

e Jroup



CONNECT

AIR SPRINGS

161356 210284 220139

2258

M24x1.5
M16x1.5

h:300

145

Product ID: 161356 Weight: 10,06 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Mercedes A942 32059 21 Goodyear 1R1-847
Hendrickson HS 508263 Goodyear Flex No 566-22-3-525
Daimler A9423205921 Vibracoustic V1DK 22 G-1
Evobus A9423205921 Blacktech RML 78263 C
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

151322 210071
@\‘u? 2228

o8

022
M16x1.5

M10x1.5

h:465

$130.8

Product ID: 131322 Weight: 3,06 kg QIP (pcs): 54

OEM Ref. CROSS Ref.

Contitech 1889 N P02 (without piston)

meklas.com - meklas
e Jroup



CONNECT 11889-K

AIR SPRINGS

161315 210071 220033

022
M16x1.5

| M10x1.5 M16x1.5

h:325

133

Product ID: 161315 Weight: 6,93 kg QIP (pcs): 50
OEM Ref. CROSS Ref.
Ford Cargo 9C46-5580-BA Contitech 1889 N PO2
Blacktech RML 75581C

meklas.com » meklas
e JrOuUp



CONNECT

AIR SPRINGS

161152 210112

2228

M10x1.5

h:246

100

s

Product ID: 161152

240049

0227

L

Weight: 775 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
\olvo 20452144 Contitech 6613 N PO1
2181323 Blacktech RML 74762 C
20 554762 Airtech 36762C
Granning 93924
meklas.com

35

O meklas
e group



CONNECT

AIR SPRINGS

y

131310

@ a

h:380

510006

M22x1.5
M12x1.5 M12x1.75

Product ID: 131310 Weight: 417 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Otokar M2010 CF Gomma 1T340-19
meklas.com

. O meklas
e Qroup



CONNECT

AIR SPRINGS

161302 210296 220579
0228
130
85 L
o 495,
E = SEN

M16x1.5

Product ID: 161369 Weight: 6,25 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
lveco 41297180 CF Gomma 1TS 270-25C/ 207162
Blacktech RML 77180 CP

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

1613638 210297 220579

0228

130
85 R
o 45
Q o
5)) ‘@ ©
- 2xM16x1.5

Product ID: 161368 Weight: 6,20 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
lveco 41297179 CF Gomma 1TS 270-25/ 207163
Blacktech RML 77179 CP

meklas.com 6 meklas
e JrOuUp



CONNECT

AIR SPRINGS

131001 210005
Twﬂzq-g:ﬂﬁ] ‘ @311
210
@300
7o)
o (0)]
2
o) 25
= M12x1.75
M22x1.5
@171.1

Product ID: 131001 Weight: 5,41kg QIP (pcs): 20

OEM Ref. CROSS Ref.

Airtech 32725P

meklas.com -, meklas
e Jroup



CONNECT

AIR SPRINGS

161003 210005 190019
1 1 @311 @258
70
O
M22x1.5 00
o o) IMeen 1.9 o
~ P ) o 00 __ 0o Tolle
g
5 25
2 M12x1.75

Product ID: 161003 Weight: 16,22 kg QIP (pcs): 18

OEM Ref. CROSS Ref.

Airtech 32725C

meklas.com " meklas
e JrOuUp



CONNECT

AIR SPRINGS

161302 210005 190019
1 piby
5 M22x1.5
; M12x1.75

Product ID: 161302 Weight: 16,22 kg QIP (pcs): 20

OEM Ref. CROSS Ref.

meklas.com B meklas
e Jroup



CONNECT 12829-KP

AIR SPRINGS

161466 210358 220592

M22x1.5
M12x1.5

h:310
176
L]
]
150

M18x1.25

Product ID: 161466 Weight: 6,60 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Schmitz 1077929 Goodyear 1R12-851
1R12-829
Goodyear Flex No 566-24-3-541
566-24-3-551

meklas.com - meklas
e JrOuUp



CONNECT 12839-KP

AIR SPRINGS

161487/ 210367/ 220592
$260
o1 160
L
o © o¢
§ ﬂ 2xM12x1.75 6H

Product ID: 161487 Weight: 6,60 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Schmitz Cargobull 1077929 Goodyear 1R12-839
Schmitz D355 Goodyear Flex No 566-24-3-541

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161467 210357 220174
2259
150 0229

M22x1.5
| Meex1.0

M12x1.75 o =

h:260

127_,

M18x1.5

Product ID: 161467 Weight: 9,09 kg QIP (pcs): 33
OEM Ref. CROSS Ref.
Solaris P-1001.101.040 Phoenix 1DF 25 A-21
P-1001101.046 Vibracoustic V1DF 25A-21

P-1001.101.050
P-1001.101.058
P-0000-194 642

meklas.com " meklas
e JrOuUp



CONNECT

AIR SPRINGS

131016 210015 310012
441 = ﬂ. ‘ 0258
158
M22x1.5

/3

h:445

M16x2
+ - ®

M12x1.75

N}

Product ID: 131016 Weight: 4,99 kg QIP (pcs): 44

OEM Ref. CROSS Ref.

SAF 4.284.3003.01 Contitech 4004 N PO2
Goodyear 1R1-705
Phoenix 1DK 22 E-5 NP
Vibracoustic V1DK 22 E-5NP
Airtech 34004 P
Dunlop S12U13
Gart D278/S

278.0.451
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

131250 210015 310006
Il — Il ‘ 2258
158

73

h:445
+
o

M12x1.75
M22x1.5 |
M12x1.75

N}

Product ID: 131250 Weight: 5,26 kg QIP (pcs): 44

OEM Ref. CROSS Ref.

SAF 4.284.3003.01 Contitech 4004 N PO2
Firestone 1T17BS-6
Firestone W01-M58-0919
Goodyear 1R1-705
Phoenix 1DK 22 E-5 NP
Airtech 34004 P
Dunlop D12U13

meklas.com e meklas
e JrOuUp



CONNECT

AIR SPRINGS

161028 210015 550004
2258
M22x1.5 0240
M12x1.75
g = + §

142

Product ID: 161028 Weight: 944 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

SAF 2.229.0007.00 Contitech 4004 N PO5
3.229.0007.00 Firestone 1T17BS-6
3.229.0007.01 Firestone W0O1-M58-6366
3.229.0007.02 Goodyear 1R1-706

Goodyear Flex No 566-22-3-503

Phoenix 1DK 22 E-5

Vibracoustic V1DK 22 E-5

Blacktech RML7515C

Airtech 34004-05C

CF Gomma 1T300-33/97722

Gart 278.0.451/D278 /S
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161029 210015 220507
2258
1 M22x1.5 158
5 o
g M12x1.75
o L
I

Product ID: 161029 Weight: 7,35 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

SAF 3.229.0007.00 Contitech 4004 N P03
3.229.0007.01 Firestone 1T15BS-6
3.229.0007.02 Firestone WO01-M58-6366
4.284.3003.01 Goodyear 1R1-713

Scania 1723273 Goodyear Flex No 566-22-3-503

R.O.R Meritor MLF7031 Phoenix 1DK 22 E-8

Vibracoustic VIDK22E-8

Airtech 34004 CPP

Dunlop D12B13

CF Gomma 1T300-37

Gart D278/S - 278.4.452
meklas.com » meklas

e group



CONNECT

AIR SPRINGS

131291 210268

0248 7259

]

M12x1.75
2115.9

M22x1.5

20
mt
N

h:425

Product ID: 131291 Weight: 3,89 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
Gigant 247104 Contitech 4007 N PO1
3042 Vibracoustic VIDF21A-247104
Airtech 34007 P

meklas.com o meklas
e Jroup



®

CONNECT

AIR SPRINGS

131316 210093
2259
- 160 M22x1.5
M12x1.5 — ZQF\

h:425

Product ID: 131316 Weight: 3,64 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
Gigant 0166291 Contitech 4007 N PO1
3042 Airtech 34007 P

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

161354 210268 190024
2259
— 150
M22x1.5 0204
. e - M16x4
E KJ M12x1.75 * 20

Product ID: 161354 Weight: 10,37 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Gigant 1662-92 /30428 Contitech 4007 N PO1
Vibracoustic VIDF21A-247104
Airtech 34007 P

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161355 210093 190026

0259
160

M22x1.5

73

M12x1.75

h:325
N
Q

135
—

Product ID: 161355 Weight: 9,86 kg QIP (pcs): 38

OEM Ref. CROSS Ref.

Gigant 3042-166291

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

161333 210268 190020

0259

M22x1.5
| MzzxT.o

h:375

M12x1.75 ‘ 20

167
—
\

Product ID: 161333 Weight: 9,86 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

Gigant 1663-53

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

®

161418 210060 190024

2259

0204

h:375

M12x15

167

Product ID: 161418 Weight: 9,86 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

Gigant 3042 S /0166294 Vibracoustic 1DF 21A-2

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

161419 210060 190030

M20x1.5
M12x1.5

M12x1.75

h:375

167
—

Product ID: 161419 Weight: 9,86 kg QIP (pcs): 38

OEM Ref. CROSS Ref.

Gigant 3042 S HD /0166352

meklas.com - meklas
e Jroup



CONNECT 14007-K06
AIR SPRINGS

(M)
(]

©-

161465 210093 190026
2259
2204
Lo L — M22x1.5 120
g M12x1.75 20 M16x2
9 KJ M22x1.5

Product ID: 161465 Weight: 10,40 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
Gigant 3042 /0166273
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

151017
il 0

V= T VT
2248 QJ&

h:442

NGV

2xM12x1.7

210006

3258
150

M22x1.5
| Mzzx1.0

o

Ny
N

310012

M16x2

Product ID: 131017 Weight: 4,92 kg QIP (pcs): 45

OEM Ref. CROSS Ref.

SAF 4.284.3006.00 Contitech 4022 N P02
Firestone 1T17BS-6
Firestone Part No W01-M58-0756
Goodyear 1R11-709 / DNU40
Goodyear Flex No 566-22-3-503
Phoenix 1DK 22 E-9 NP
Vibracoustic VIDK 22 E-9 NP
Airtech 34022 P
Dunlop D1U40
Gart D278/s

278.0.452
meklas.com meklas

57

e Jroup



CONNECT

AIR SPRINGS

131276 210006 310006

2248
I I @259

N\ 150
M22x1.5

M
M12x1.75 | ’\¢
x1.
2 M12x1.75

h:445

A\

Product ID: 131276 Weight: 5,25 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

SAF 4.284.3006.00 Contitech 4022 N P02
Firestone 1T17BS-6
Firestone Part No W01-M58-0756
Goodyear 1R11-709 / DNU40
Goodyear Flex No 566-22-3-503
Phoenix 1DK 22 E-9 NP
Vibracoustic VIDK 22 E-9 NP
Airtech 34022 P
Dunlop DNMU40
Gart D278/s

278.0.452
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

151090 210006 310012
I Il
== 7 2258

f 2248 150

M22x1.5
| Meexl.0

Ny
. © N
2xM12x1.75 ‘
XX 22 M16x2

h:442

A%

Product ID: 131090 Weight: 4,98 kg QIP (pcs): 44
OEM Ref. CROSS Ref.
SAF 3.229.0033.00 Contitech 4022 N PO5 (without piston)
Scania 1723281 Firestone 1T17BS-6
Firestone Part No W0O1-M58-8612
Goodyear 1R1-781
Goodyear Flex No 566-22-3-526
Phoenix 1DK 22 E-1
Vibracoustic V1DK 22 E-10
Blacktech RML 75133 CP5
Airtech 32619 P
Granning 16098
CF Gomma 1T300-37 / 206585
Gart 2781455/ D278/S
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

210006 220172
2258
150
M22x1.5
2 o]
2 N
0 2xM12x1.7 25

Product ID: 161030 Weight: 9,46 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

SAF 3.229.0029.00 Contitech 4022 N P03
3.229.2129.00 Firestone 1T17BS-6
3.229.2229.00 Firestone Part No W01-M58-6367
3.229.2429.00 Goodyear 1R1-710
2618V Phoenix 1DK 22 E-6

Scania 1723277 Vibracoustic V1DK 22 E-9

Wijhuizen 33128 Blacktech RML 75133 CP2

Airtech 34022C

Granning 16099

CF Gomma 1T300-37 / 204677

Gart 278.4453/D278/S
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161267/ 210006 220096
9258
d = IS8 150 0260
M22x1.5
o o= mt 20
N | ° ™ Ol Q
< 2xM12x1.7 ‘ 25 =] 0L
§ =2
— I I h | 70

Product ID: 161267 Weight: 13,91kg QIP (pcs): 26

OEM Ref. CROSS Ref.

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161031 210006 220207

0258

150
M22x1.5

o
[ ™

h:341

2xM12x1.7 25l

141

Product ID: 161031 Weight: 7,34 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

SAF 3.229.0029.00 Contitech 4022 N P03
3.229.2129.00 Firestone 1T17BS-6
3.229.2229.00 Firestone Part No WO01-M58-6367
3.229.2429.00 Goodyear 1R1-714

Scania 1723277 Phoenix 1DK 22 E-9

R.O.R Meritor MLF7031 Vibracoustic V1DK 22E-9

Blacktech RML 75133 CP3

Granning 16099ATP

CF Gomma 1T300-37 /206340

Gart 278.4.454 /D278/S
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161032 210006 220530
0 2258
150 2240

h:350

151

3
.o ™~
}\ /L 2xM12x1.7 ' 25!
M22x1.5 M16x2

Product ID: 161032 Weight: 718 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

SAF 3.229.0033.00 Contitech 4022 N PO5

Scania 1723281 Firestone 1T17BS-6
Firestone Part No W0O1-M58-8612
Goodyear 1R1-781
Goodyear Flex No 566-22-3-526
Phoenix 1DK 22 E-1
Vibracoustic V1DK 22 E-10
Blacktech RML 75133 CP5
Airtech 32619 CPP
Granning 16098
CF Gomma 1T300-37 / 206585
Gart 2781.455/D278/S

meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

131018 210004
Tﬁ% ‘ 2286
210
2265 M22x1.5
25
_ e
o M12x1.75 ! |

Product ID: 131018 Weight: 4,39 kg QIP (pcs): 24

OEM Ref. CROSS Ref.
SAF 3.229.0031.00 Contitech 4023 N POB

3.229.2131.00 Firestone TTISF-1

3.229.2431 Firestone Part No WO01-M58-6348

3.229.2231.00 Airtech 34023 P
Wabco 9518147290 CF Gomma 1TI9E-2

204676
meklas.com y meklas

e group



CONNECT

AIR SPRINGS

161033 210004 220002

3286

M12x1.75

h:400
95

M22x1.5

Product ID: 161033 Weight: 11,52 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

SAF 3.229.0031.00 Contitech 4023 N P03
3.229.2131.00 Firestone TM9L-M
3.229.2431.00 Firestone Part No W01-M58-6348
3.229.2231.00 Goodyear 1R14-729
2923V Phoenix 1D 28 B-10

Schmitz 751082 Vibracoustic V1D 28 B-10

Scania 1723280 Blacktech RML 75134 C

Airtech 34023C
Granning 1601ATP
CF Gomma 1TI9E-2
204676
Gart 2774505/ D277
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161034

h:400

M22x1.5

M12x1.75

210004
9286
210
25
‘ ] o

220527

Product ID: 161034 Weight: 9,54 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

Saf Holland 3.229.0031.00 Contitech 4023 N P03
3.229.2131.00 Firestone TT9L-1
3.229.2231.00 Firestone Part No W01-M58-6348
3.229.2431.00 Goodyear 1R14-729
2923V Phoenix 1D 28 B-10

Schmitz 751082 Vibracoustic V1D 28 B-10

Scania 1723280 Blacktech RML 75134 C

Airtech 34023C
CF Gomma 1TI9E-2
204676
Granning 160NATP
Gart 2774505/ D277
meklas.com meklas

66

e group



CONNECT

AIR SPRINGS

131019 210004
o |
b SoeE 3 2286
210
M22x1.5
25
o | ‘FO’
i M12x1.75 ! }

Product ID: 131019 Weight: 4,70 kg QIP (pcs): 24
OEM Ref. CROSS Ref.
Weweler Us 04028 Contitech 4028 N PO2 (without piston)
US 04028C Firestone 1T9L-12
US 04028F Firestone Part No W01-M58-8106
Schmitz 015323 Goodyear 1R14-784
Scania 2198335 1R14-810
SMB 09377008 Goodyear Flex No 566-28-3-529
Valx 80131003 Phoenix 1D 28 F-1
Vibracoustic VI1D28F-1
Blacktech RML75139C2
Airtech 34028 P
Gart D287/E- 2874540
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161035 210004 220002

0286

210
M22x1.5 25

M12x1.75 !

h:460

Product ID: 161035 Weight: 11,72 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Weweler US 04028 Contitech 4028 N PO2
US 04028C Firestone 1T19L-12
US 04028F Firestone Part No W01-M58-8106
Schmitz 015323 Goodyear 1R14-784
Scania 2198335 1R14-810
SMB 09377008 Goodyear Flex No 566-28-3-529
Valx 80131003 Phoenix 1D 28 F-1
Vibracoustic VID28F-1
Blacktech RML75139C2
Airtech 34028 C
Gart D287/E- 2874540
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161301 210013

h:350

195
C

220108

0227

y\{ 215

M16x2

Product ID: 161301 Weight: 10,70 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Scania 1510195 Contitech 6700 N PO1
1543691 Goodyear 1R14-753
1731M3 Blacktech RML71M3C
2287814 Airtech 3413 C
meklas.com o

O meklas
e group



CONNECT

AIR SPRINGS

131020 210033 510006
2254

;«ﬂﬁ{

h:391

M12x1.75

NT/

Product ID: 131020 Weight: 4,84 kg QIP (pcs): 45

OEM Ref. CROSS Ref.

Firestone 1T15M-3

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

151282 210007/ 510006

0228

28254

R

M20x1.5 M12x1.75

M12x1.5

h:391

ANFi%

Product ID: 131282 Weight: 4,94 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161131 210033
2228
99 M16x1.5
o M10x1.5

Product ID: 161131 Weight: 6,90 kg

OEM Ref. CROSS Ref.

220533

QIP (pcs): 26

Airtech

34154 CPP

meklas.com
72

Q

meklas
group



CONNECT

AIR SPRINGS

161168 210033 2205472

0228
90°

M16x1.5

45
N
N~
) M10x1.5

157.5

h:295

Product ID: 161168 Weight: 6,90 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Renault 5.010.239.252 Contitech 4154 N PO5
5.010.488.071 Firestone 1T15M-3
5.010.294.252B Firestone Part No W01-358-8172
W01-M58-8172
Phoenix 1DK 23 F-1
Vibracoustic V1DK 23 F-1
Blacktech RML75265CP5
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161257 210021 220533
2228
157.5 M14x1.5
o ol =
= N

M10x1.5

Product ID: 161251 Weight: 6,85 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

Scania 1320151 Firestone 1T15M-4

Renault 5.010.294.252 Firestone Part No W01-M58-7283
Goodyear 1R1-832
Blacktech RML 77283 CP
Airtech 34154-06 C

meklas.com y meklas

e group



CONNECT

AIR SPRINGS

131021 210007 310006
0254

)ﬁ% @228

h:428

M12x1.75

M20x1.5 ﬁ
M12x1 .5 M12x1.75

TV

Product ID: 131021 Weight: 4,54 kg QIP (pcs): 45

OEM Ref. CROSS Ref.

Fruehauf M0Q1472 Contitech 4156 N PO5

R.O.R Meritor 21215762 Firestone 1T15M-6

Weweler US35864F Firestone Part No WQ01-358-0734
Goodyear 1R12-842
Goodyear Flex No 566-24-3-502
Blacktech RML75267-5
Airtech 34156 P

meklas.com Y meklas

e Jroup



CONNECT

AIR SPRINGS

131023 210021 310006

0254

M

M14x1.5

Ny
N
MW2><W.75§ Z

h:428

NTV/

Product ID: 131023 Weight: 4,89 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
DAF 698351 Firestone 1T15M-6
Firestone Part No W01-358-0734

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

161036 210007 220004

h:370

M20x1.5
M12x1.5

Product ID: 161036 Weight: 9,08 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

Fruehauf M001472 Contitech 4156 N PO7

Neway 905.57.075 Firestone 1T15M-6

Weweler 21515761 Firestone Part No W01-358-9361

R.O.R Meritor 21215761 Goodyear 1R12-719
Goodyear Flex No 566-24-3-502
Phoenix 1DK 23 K-28
Vibracoustic VIDK23K-28
Blacktech RML 75267 C7
Airtech 34156-01C

meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161041 210007 220044

M20x1.5
M12x1.5

h:370

Product ID: 161047 Weight: 1142 kg QIP (pcs): 38

OEM Ref. CROSS Ref.

BERTOJA 45402004 Contitech 4156 N PO9

Fruehauf UJB 0207-001 Phoenix 1DK 23 K-54

UJB 0207 Firestone 1T15M-6
Firestone Part No W01-M58-3089
Goodyear 1R12-706
Goodyear Flex No 566-24-3-502
Vibracoustic VIDK23K-54
Blacktech RML75267C9
Airtech 34156-03C
Granning 15615
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161298 210180 220110

M20x1.5
M12x1.5

-
©

2343
151
q

Product ID: 161298 Weight: 9,73 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

Firestone 1T15M-6

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161037 210007/ 220509

M20x1.5
M12x1.5

h:370

Product ID: 161037 Weight: 6,83 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Fruehauf M 001472 Contitech 4156 N P15
Hendrickson HA 10001 Firestone 1T15M-6
Weweler US 35864 Firestone Part No WO01-358-9361
ROR Meritor 21215761 Goodyear 1R12-719
Phoenix 1DK 23 K1
Blacktech RML 75267 CP15
Airtech 34156 CPP
Dunlop 00981B-AP
CF Gomma 207777
1T323-32
Gart 278.4.421/D278/G
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161219 2100583 220554

0228 @260

N
o ®
< ”
| /27— 13UNC 3/4"—16UNF
7/4”*W8NPT M12x1.75

Product ID: 161219 Weight: 6,71kg QIP (pcs): 26

OEM Ref. CROSS Ref.

Hendrickson HA 100016 Contitech 4156 N P10
Firestone 1T15M-6
Firestone Part No W01-358-8929
Goodyear 1R12-461
Goodyear Flex No 566-24-3-038
Blacktech RML 75267 CP10
Airtech 34156-13 CPP

meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161042 210021 220510

2228
157.5 M14x1.5

LA M10x1.5

N
Ny

h:370

171

Product ID: 161042 Weight: 7,02 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

Firestone 1T15M-6

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

161225

h:370

14156-KP66

210021 220509

M14x1.5

N
N

Product ID: 161225 Weight: 6,80 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Scania 123386 Firestone 1T15M-6
Firestone Part No WO01-M58-7295
Goodyear 1R12-358
meklas.com meklas

83

e Jroup



CONNECT

AIR SPRINGS

161040

h:370

14156-KP88

210007/

M20x1.5
M12x1.5

Product ID: 161040 Weight: 6,98 kg

220510

QIP (pcs): 28

OEM Ref.

CROSS Ref.

Firestone

1T15M-6

meklas.com

84

meklas
e group



CONNECT

AIR SPRINGS

131352 210060 310010

2259

3248

h:475

M20x1.5 M12x1.75

M12x1.5

Product ID: 131352 Weight: 4,63 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
Fruehauf MQ078580 Contitech 4157 N PO3 (without piston)
Neway 90557233 Goodyear Flex No 566-22-3-521
Airtech 34157-03 P

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

151026 210006 310010
@248
=71;112 — ‘[_1,,% ‘ @258
150

M22x1.5
| MezxT1.0

, ]

7 ﬁ
M12x1.75 M12x1.75

95

2] |

h:472

\[/

Product ID: 131026 Weight: 5,00 kg QIP (pcs): 38

OEM Ref. CROSS Ref.

Airtech 34157-04 P

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

131024 210008 310010
2248
%‘ﬂ, . ‘ @259

157.5

M22x1.5
M12x1.5 M12x1.75

h:475

M12x1.75

]

Product ID: 131024 Weight: 5,16 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
Weweler US 07074C Contitech 4157 N PO5 (without piston)
US 07074 P Firestone T15MPW-7
Us 08840 Firestone Part No WQ01-M58-7074
Phoenix 1DK 21A3
Goodyear 1R11-106
Airtech 34157-05P
Dunlop D12B17
CF Gomma 1T 300-38
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

131027 210014 310010
0248 2259
1o — § 150
M22x1.5
AN
% M12x1.75 T i M12x1.75

Product ID: 131027 Weight: 5,09 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Scania 1379392 Firestone TI5MPW7
1440294 Firestone Part No WO01-M58-8194
1543691 Airtech 38186 P
R.O.R Meritor MLF7081

meklas.com oo meklas
e JrOuUp



CONNECT

AIR SPRINGS

131025
2248

0 0
y\#[{

h:475

\g/

M12x1.75

08228
150

210020

\

310010

M22x1.5

73

MWZXW.75/( 2

Product ID: 131025 Weight: 4,77 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Mercedes A 946 32814 01 Airtech 39002-A8 P
R.O.R Meritor 21221307
meklas.com

89

O meklas
e group



CONNECT

AIR SPRINGS

131061 210070 510010
0248

/‘v\%

M12x1.75

h:475

Y

Product ID: 131061 Weight: 4,89 kg QIP (pcs): 39
OEM Ref. CROSS Ref.
Airtech 39002-A3 P
CF Gomma 1T 300-30

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

151028 210021 310010
2248
M 0228
157.5
| | M14x1.5

\IE/

Product ID: 131028 Weight: 4,68 kg QIP (pcs): 45

OEM Ref. CROSS Ref.

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

161399 210060 220510

2258

h:380

M22x1.5
M12x1.5

Product ID: 161399 Weight: 6,80 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
Fruehauf M078580 Contitech 4157 N PO3
Neway 90557233 Goodyear 1R11-881
Goodyear Flex No 566-22-3-521
Blacktech RML75268CP3

meklas.com 0 meklas
e JrOuUp



CONNECT

AIR SPRINGS

161046

-
[i1=]

h:380

—

175

210006
2258
150
M22x1.5
A -
o
M12x1.75 25]

220510

Product ID: 161046 Weight: 7,08 kg QIP (pcs): 38

OEM Ref. CROSS Ref.

Mercedes A 946 32814 01 Contitech 4157 N P14

Weweler US 07364 Firestone TI5SMPW-7

Jost JAS 30105 014 01 Firestone Part No W0O1-M58-6297

30105014 01 Goodyear 1R1-1M

R.O.R Meritor 21221307 Goodyear Flex No 566-22-3-521
Phoenix 1DK 21A-4
Blacktech RML 75268 CP4
Airtech 34157-04 CPP
Dunlop OQ0980A-AP
CF Gomma 207463

1T300-40
Gart C294/D/ 294.2.454
meklas.com meklas

93

e Jroup



CONNECT

AIR SPRINGS

161045 210008 220510

h:380

M22x1.5
M12x1.5

175

Product ID: 161043 Weight: 7,23 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
Weweler US 07074C Contitech 4157 N PO5
Us 07074 P Firestone TI5SMPW-7
UsS 08840 Firestone Part No WO01-M58-7074
Goodyear 1R1-882
Goodyear Flex No 566-22-3-521
Phoenix 1DK 21A-3
Blacktech RML 75268 CP5
Airtech 34157-05 CPP
Dunlop 00980B-AP
Vibracoustic VIDK21A-3
CF Gomma 207778
1T323-32
Gart 294.2.450/1-C294
meklas.com y meklas

e group



CONNECT

AIR SPRINGS

161047 210014 220511

M22x1.5 @200
| Meexl.0

h:400
=

192

M12x1.75

AC LN

Product ID: 161047 Weight: 710 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

Scania 2198333 Contitech 4157 N PC6

Weweler US 06316 Firestone TI5SMPW-7

Schmitz 751065 Firestone Part No W01-968-6136

W01-968-8186
Goodyear 1R1-764
Goodyear Flex No 566-22-3-521
Phoenix 1DK 20 A-1
Airtech 38186 CPP
Blacktech RML 75268 CP6
Gart C294 / 2941451
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161051

B

h:380

s

14157-KP08

210060 220553

2240

M20x1.5

M12x1.5 M12x1.75

Product ID: 161051 Weight: 6,61kg QIP (pcs): 23
OEM Ref. CROSS Ref.
Samro H2501869 Contitech 4157 N P08
Neway 90557233 Firestone 1T5SMPW-7
SMB MQ78580 Firestone Part No WO01-M58-6317
Fruehauf M078580 Goodyear 1R11-773
Goodyear Flex No 566-22-3-521
Phoenix 1DK20C-2
Vibracoustic VIDK20C-2
Blacktech RML 75268 CP8
Airtech 34157-08 CPP
Granning 15750
CF Gomma 207768
1T300-37
Gart 2941452 /C294
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161049 210008 220510

h:380

M22x1.5
M12x1.5

175

Product ID: 161049 Weight: 717 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

ROR 21222442 Contitech 4157 N P09

Weweler US 07074F Firestone TI5SMPW-7
Firestone Part No WQ01-M58-7074
Goodyear 1R11-106
Goodyear Flex No 566-22-3-521
Phoenix 1DK 21A-31
Vibracoustic VIDK21A-31
Blacktech RML 75268 CP9
Airtech 39002-A3 CPP (90°)
Gart C294 /294.2.450

meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161050

0 2258

h:380

175

—
]
J

= —

210060

M20x1.5
M12x1.5

220518

2200

M12x1.75

Product ID: 161050 Weight: 7,01kg QIP (pcs): 38
OEM Ref. CROSS Ref.
Fruehauf UJB 0975 Contitech 4157 N P10
SMB M0B0924 Firestone TI5SMPW-7
ACERBI 128140028 Firestone Part No W01-M58-6315
800449526 Goodyear 1R11-772
Goodyear Flex No 566-22-3-521
Phoenix 1DK 20 A-51
Vibracoustic VIDK20A-51
Blacktech RML 75268 CP10
Airtech 34157-10 CPP
CF Gomma 206925
1T300-38
Gart C294 / 2941.450
meklas.com meklas

98

e group



CONNECT

AIR SPRINGS

161045 210020 220510
9228
L~ L 150 M22x1.5

M12x1.75

175
—
DN
Q)

Product ID: 161045 Weight: 6,84 kg QIP (pcs): 39
OEM Ref. CROSS Ref.
Mercedes A 946 32814 01 Contitech 4157 N P14
Weweler US 07364 Firestone T15MPW-7
US 06287 Firestone Part No W0O1-M58-6297
R.O.R Meritor 21221307 Goodyear 1RM-M
Jost JAS 30105 014 01 Phoenix 1DK 21A-4
Airtech 34157 CPP
Dunlop OQ0980A-AP
CF Gomma 207463
Blacktech RML 75268 CP14
Gart 294.2.454/C294 D
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161044 210021 220510

0228

M22x1.5

M12x1.75 M12x1.5

Product ID: 161044 Weight: 5,34 kg QIP (pcs): 39
OEM Ref. CROSS Ref.
Wabco 951811106 0 Contitech 4157 N P05
Firestone TI5SMPW-7
Firestone Part No WO01-M58-7074
Airtech 39002 A3 CPP

meklas.com o0 meklas
e JrOuUp



CONNECT

AIR SPRINGS

161048 210021 220510

8228

157.5 M14x1.5

Ny
N

h:380

L 2xM10x1.5

175

Product ID: 161048 Weight: 6,69 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

161245 210007/ 220553

2228

0240

h:330

M20x1.5
M12x1.5 M12x1.75

M12x1.75

Product ID: 161243 Weight: 5,98 kg QIP (pcs): 24

OEM Ref. CROSS Ref.

Fruehauf M078580 Firestone 1T5SMPW-7

Neway 90557233 Firestone Part No W01-M58-6317

Samro H2501869 Goodyear 1R11-773
Goodyear Flex No 566-22-3-521
Phoenix 1DK 20C-2
Blacktech ML75268CP8
Airtech 39002-A3/08 CPP
Dunlop D12B30

meklas.com o meklas

e group



CONNECT

AIR SPRINGS

161395 210070 220510

©200

N

100
+

M12x1.75

h:380

Product ID: 161395 Weight: 6,51 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

R..0O.R Meritor 21222442 Contitech 4157 N P09

Weweler US 07074F Firestone TI5SMPW-7
Firestone Part No WQ01-M58-7074
Goodyear 1R1-761
Goodyear Flex No 566-22-3-521
Vibracoustic VIDK21A-31
Phoenix DK 21A-31
Airtech 39002-A3 CPP 30
CF Gomma 1TC 300-38/ 205598
Dunlop 00980B

meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161458 210352 220555
0228
10, 2240

h:380

M12x1.75
M12x1.75

Product ID: 161458 Weight: 5,98 kg QIP (pcs): 24

OEM Ref. CROSS Ref.

SMB MO078580

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

131029 210014 310010
2248
7 — § ‘ @259
150
M22x1.5
o -
z M10x1.5
M12x1.75

Product ID: 131029 Weight: 4,85 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
Schmitz 014892 Contitech 4158 N PO2
750999 Phoenix 1DK 20 B-1NP
Weweler US 06285 Airtech 34158 P
Scania 2198334 Vibracoustic V1DK20B-1NP
Dunlop D12U23
D278HS
Gart 278.0.531
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161053 210014 220511

@260

M22x1.5
N
N
M12x1.75

h:400

192

f\ﬂ (ﬁf\

Product ID: 161053 Weight: 7,20 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Schmitz 014 892 Contitech 4158 N PO3
750999 Firestone T15MPW9
Weweler US 06285 Firestone Part No W01-M58-8185
Scania 2198334 Goodyear NR12-749
Goodyear Flex No 566-24-3-510
Phoenix 1DK 20 B-1
Vibracoustic VI1DK20B-1
Blacktech RML 75269 CP
Airtech 34158 CPP
Granning 15657
Dunlop D12B22
Gart 2781530
278.1530/1
D278/H/S
meklas.com o meklas

e group



CONNECT

AIR SPRINGS

131030 210007/ 510006

0254 0228

h:515

M20x1.5
M12x1.5

M12x1.75 M12x1.75

Product ID: 131030 Weight: 4,90 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
Viberti 128147109 Contitech 4159 N PO5
Wabco 9518110030 Firestone 1T15M-9
Firestone Part No W01-M58-0736
Goodyear 1R12-761
Goodyear Flex No 566-24-3-501
Phoenix 1DK 21B-5 NP
Vibracoustic VIDK21B-5
Airtech 34159 P
Gart 278.0.551
D278H
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

131242 210007/ 310006

f( 9§ 0228

M20x1.5 M12x1.75

M12x1.5

h:515

TV

Product ID: 131242 Weight: 5,20 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Samro H2500425 Contitech 4159 N P03 (without piston)
Firestone 1T15M-9
Firestone Part No WQO1-M58-7548 (without piston)
Airtech 34159-01C (without piston)

meklas.com o8 meklas
e JrOuUp



CONNECT

AIR SPRINGS

131091 210020 310006
f/ @254 \ 2228
150 M22x1.5

NS
o N
M12x1.75 ‘
295 M12x1.75

h:515

NTV

Product ID: 131091 Weight: 5,02 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Weweler USQ06287F Contitech 4158 N P04
Firestone T15MPW-9
Firestone Part No W0O1-M58-6287

meklas.com o6 meklas
e Jroup



CONNECT

AIR SPRINGS

131089 210021 510006
2254

f : 08228

M14x1.5

/3

2xM10x1.5

h:515

MW2><W.75/'

A%

Product ID: 131089 Weight: 4,99 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Scania 1314905 Firestone 1T5M-9
255294 Firestone Part No W01-M58-7308 (service assembly )
345879 Goodyear 1R12-713
Goodyear Flex No 566-24-3-501
Vibracoustic V1DK 23 L-42 (without piston)
meklas.com o meklas

e group



CONNECT

AIR SPRINGS

161054 210007 220005

@228 ©260

M20x1.5
M12x1.5

h:360

M12x1.75

Product ID: 161054 Weight: 10,00 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

Samro H2500425 Contitech 4159 N P03
Firestone 1T15M-9
Firestone Part No W0O1-M58-7548
Goodyear 1R12-701 / D12B0O
Phoenix 1DK 23 L-27
Goodyear Flex No 566-24-3-501
Vibracoustic VIDK23L-40
Airtech 34159-01C
CF Gomma 1T323-40
Dunlop PNP 31137 00 00
Blacktech RML 75260 C3
Gart 278.451D278/H

meklas.com meklas

m

e Jroup



CONNECT

AIR SPRINGS

161039 210007

i 0228

h:360

M20x1.5
M12x1.5

188

220015

Product ID: 161059 Weight: 13,33 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Viberti 128147109 Contitech 4159 N P05
Wabco 9518110030 Firestone 1T15M-9
Firestone W01 M58 0736
Airtech 34159 C
meklas.com

n2

O meklas
e group



CONNECT

AIR SPRINGS

210007

161060 220016

08228

h:360

M20x1.5
M12x1.5

Product ID: 161060 Weight: 12,97 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
SMB 1518779 Contitech 4159 N PQ7
1520356 Firestone 1T15M-9
1524873 Firestone Part No WQ01-M58-8859
M001782 Goodyear 1R12-702
Fruehauf UJB 0203-001 Goodyear Flex No 566-24-3-501
DAF 0644432 Phoenix 1DK 23 L-25
Wabco 9518127020 Blacktech RML 75260 C7
Airtech 34159-05C
Dunlop 00982A-AP
CF Gomma 202302
1T323-40
Gart 278251/ D278H
meklas.com meklas

13

e Jroup



CONNECT

AIR SPRINGS

161329 210021 220123

M14x1.5

h:360

171
C

Product ID: 161329 Weight: 13,70 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Scania 1314905 Firestone 1T15M-9
1865753 Firestone Part No W01-M58-7348
1327144 Goodyear 1R12-713
Goodyear Flex No 566-24-3-501
Vibracoustic V1DK 23 L-42
Blacktech RML 77308 CP
Airtech 34159-11C
meklas.com meklas

N4

e group



CONNECT

AIR SPRINGS

161266 210007/ 220095

0228

h:360

M20x1.5
M12x1.5

M12x1.75

Product ID: 161266 Weight: 11,33 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

Samro H2500425 Contitech 4159 N P03
Firestone 1T15M-9
Firestone Part No. W0O1-M58-7548
Goodyear 1R12-701
Goodyear Flex No 566-24-3-501
Phoenix 1DK 23 L-27
Airtech 34159-01C

34159-02C
Dunlop PNP 31137 00 00
Blacktech RML 75260 C3
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161357 210007 220402

0228 0259

h:360

M20x1.5
M12x1.5

M12x1.75

Product ID: 161357 Weight: 971kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Fruehauf UJA 0894-001 Contitech 4159 N P14
ROR 21215762 Firestone 1T15M9
21215891 Firestone Part No W01-M58-7548
2122 6039 Goodyear 1R12-701
Phoenix 1DK23L27
Airtech 34159-04 KALU
Gart D278H
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161055 210007 220512

h:400

M20x1.5
M12x1.5

Product ID: 161055 Weight: 7,63 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

Fruehauf UJA 0894-001 Contitech 4159 N P14

R.O.R Meritor 21215891 4159 N P06
Firestone 1T15M-9
Firestone Part No WQ0O1-M58-7548

W01-358-8853
Goodyear 1R12-760
Phoenix 1DK 21B-4
Airtech 34159-10 CPP
CF Gomma 1T323-40/ 204124
Dunlop PNP311370000
meklas.com . meklas

e Jroup



CONNECT 14159-KP09

AIR SPRINGS

210007/ 220511

0228 @260

h:400

M20x1.5
M12x1.5 M12x1.75

Product ID: 161058 Weight: 7,36 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Acerbi 128147123 Contitech 4159 N POS
Cardi 58051210 Firestone 1T15M-9
Fruehauf UJB 0358-001 Firestone Part No W0O1-M58-9131
Samro H2500324 Goodyear 1R12-721/ D12B04
Viberti 128147123 Phoenix 1DK 23 L-9131
Trallor MOO1774 Airtech 34159-02 CPP
SMB 1525199 CF Gomma 1T323-40/ 300751

MOO1774 Dunlop D12B04
Fruehauf UJA 09030 Gart 2781510
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161178 210021 220510

0228
157.5

h:385

L M10x1.5

171

Product ID: 161178 Weight: 6,99 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

Firestone 1T15M-9

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

131087 310504
— [l
@290 50
10,
3471 N\ 39
: di\Ys
M24x1.5
M16x1.5
2150.8

Product ID: 131087 Weight: 3,22 kg

QIP (pcs): 33

OEM Ref. CROSS Ref.

Mercedes AS9423202221 Contitech 4183 N P25 (without piston)
A942 32068 21 4183 N P23 (without piston)
A942 32013 21 4183 N2
Goodyear 9567
Airtech 34183-23 P
meklas.com o meklas

e group



CONNECT

AIR SPRINGS

131167 310505
g
@290
40

h:475

e
-
=

- M24x1.5
M16x1.5
150.8
Product ID: 131167 Weight: 3,50 kg QIP (pcs): 33
OEM Ref. CROSS Ref.
Mercedes A 942 32023 21 Contitech 4183 N P26
A942 32069 21 4183 N P24 (without piston)
Airtech 34183-24 P
meklas.com

121

O meklas
e group



CONNECT

AIR SPRINGS

161125 510504 220052

3265

h:325

161

< <
- N
o £
(4=

M16x1.5

NI/ 1

Product ID: 161125 Weight: 9,60 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Mercedes A 94232022 21 Contitech 4183 N P25
A942 32068 21 4183 N P23
A942 32013 21 Goodyear 9567
Blacktech RML 95294 C23
Airtech 34183-23C
Granning 93918
meklas.com o meklas

e group



CONNECT

AIR SPRINGS

161125 5310504

- 40
) 10
39 i\\ 34
s
N L Z M16x1.5

h:325

161

220052

3265

Product ID: 161192 Weight: 9,60 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Mercedes A 942 32023 21 Contitech 4183 N P26
A 942 32069 21 4183 N P24
A942 32014 21 Blacktech RML 95294 C24
Airtech 34183-24 C
meklas.com
123

O meklas
e group



CONNECT

AIR SPRINGS

131188 510504
2290
—E
50
10|,
34,71 N\ 39
. @5
0 ]
M24x1.5
M16x1.5

2150.8
Product ID: 131188 Weight: 3,20 kg QIP (pcs): 33
OEM Ref. CROSS Ref.
Mercedes A 97432000 21 Contitech 4185 N P21
AS942 3203021 4185 N PO1 (without piston)
Firestone 1R7C490-320
Firestone Part No W01-M58-0588
Airtech 34185-01P
Gart No C282/S - 2821462
meklas.com o meklas

e group



CONNECT

AIR SPRINGS

161223 310504 220088
2180
10 @250
= ) 10
39 # 34
o I F | 7
X ~
<
2 L M24x1.5 M16x1.5
- M16x1.5
N7
Product ID: 161223 Weight: 9,84 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Mercedes A 9423203021 Contitech 4185 N P21
A 97432000 21 4185 N PO1
Firestone 1R7C490-320
Firestone Part No W01-M58-0588
Blacktech RML 95296 C21
Airtech 34185-21C
Gart C282/5- 2821462
meklas.com e meklas

e Jroup



CONNECT 14186-01

AIR SPRINGS

151292 510504
2290
J— |
50
10
34/ TR 39
g wd A5
° 4
M24x1.5
M16x1.5
2150.8
Product ID: 131292 Weight: 314 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Mercedes AS9423207021 Contitech 4186 NP23 (without piston)
A942 3202421 Airtech 34186-23 C (without piston)
A 94232016 21

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

h:420

14186-02

310505

40
39 /g
M24x1.5

M16x1.5

s

Product ID: 131293 Weight: 3,71kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Mercedes A942 3202521 Contitech 4186 N P24 (without piston)
AS9423207121 Blacktech RML 95297 C24 (without piston)
AS942 32017 21 Airtech 34186-24C (without piston)
meklas.com

. O meklas
e Jroup



CONNECT 14186-KO01

AIR SPRINGS

161346 510504 220128

2180
40

h:230

M24x1.5
L M16x1.5

140

Product ID: 161346 Weight: 9,74 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Mercedes A942 3207021 Contitech 4186 NP23
A942 32024 21 Airtech 34186-23C
A942 32016 21

meklas.com s meklas
e JrOuUp



CONNECT

AIR SPRINGS

161345 310505
. 2180
40 10
39 I 34

@

N

M24x1.5
M16x1.5

h:230

140
—

14186-K02

220128

Product ID: 161345 Weight: 10,01kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Mercedes A 9423202521 Contitech 4186 N P24
A942 3207121 Blacktech RML 95297 C24
A942 32017 21 Airtech 34186-24C
meklas.com
129

O meklas
e group



CONNECT

AIR SPRINGS

151206 510504
@290
=]
40
10

ﬁf I

g
M24x1.5
M16x1.5

h:475

2150.8
Product ID: 131206 Weight: 3,30 kg QIP (pcs): 33

OEM Ref. CROSS Ref.
Mercedes A94232026 21 Contitech 4187 N P23

A9Q423207221 4187 N P21 (without piston)

A 94232018 21 Firestone 1R7C470-340

Airtech 34187-21P
meklas.com
130

O meklas
e group



CONNECT

AIR SPRINGS

131338 310504
@290
==
M24x1.5 $228
40
M16x1.5
; % N\
~ 3 i/ =
<
10

$150.8

Product ID: 131338 Weight: 3,31kg QIP (pcs): 33
OEM Ref. CROSS Ref.
Mercedes AQ42 32027 21 Contitech 4187 N6
A942 32073 21
A942 32019 21

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161242 310504 220052
©180 0265
| 40
) 10
39 i\ 54
8 e 4
© L/
N
S
lp]
© L M24x1.5 @
7 M16x1.5 .
Product ID: 161242 Weight: 9,30 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Mercedes AS42 32018 21 Contitech 4187 N P23
A942 32026 21 4187 N P21
AQ42 3207221 Firestone 1R7C470-340
Firestone Part No WQ01-M58-0587
Airtech 34187-21C

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

161338 310505 220052
2180 2265
= A9 10
‘ 4

ﬁ{gi

M24x1.5
M16x1.5 M16x1.5

h:260

165
(-

Product ID: 161338 Weight: 9,10 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Mercedes AS94232027 21 Contitech 4187 N P26
A 942 3207321
A 942 3200757
A942 32019 21

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161507 210006 220598
‘L]' — Q’ 7258 @203
ik M22x1.5
E M12x1.75 — &4
o U M16x2

Product ID: 161501 Weight: 7,83 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
BPW 05.429.43.85.0 (30) Contitech 941 MB PO1
Phoenix 1DK 21-4
Firestone m73-1.8
Firestone Part No W01-M58-8072

meklas.com - meklas
e JrOuUp



CONNECT 14386-KP

AIR SPRINGS

161500 210006 220599
| I— 2258
150 M22x1.5

B

M12x1.75

h:350
] ]

M16x2

151
=

Product ID: 161500 Weight: 6,72 kg QIP (pcs): 33
OEM Ref. CROSS Ref.
BPW 05.429.43.86.0 (30K) Contitech 940 MB P01
Phoenix 1DK21K-4
Firestone 1m73-78
Firestone Part No W01-M58-8073

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

131032 310501

0240
52
M24x1.5
M16x1.5

j@

h:443

£130.8

Product ID: 131032 Weight: 2,22 kg QIP (pcs): 54
OEM Ref. CROSS Ref.
Mercedes A94232028 21 Contitech 4390 N P21
A 94232049 21 4390 N PO1 (without piston)
AS9423200121 Firestone 1R7Z-440-290
Firestone Part No WQ01-M58-8514
Goodyear 9505
Goodyear Flex No 556-03-9047
Phoenix 1KF 21-21
Vibracoustic VIKF21-1
Airtech 34390-01P
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

131033 510503

Product ID: 131033 Weight: 2,36 kg QIP (pcs): 54
OEM Ref. CROSS Ref.
Mercedes A94232029 21 Contitech 4390 N P22
A942 3205021 4390 N PQO2 (without piston)
AS423200221 Firestone 1R7Z-440-290
Firestone Part No WQ01-M58-8513
Goodyear 9506
Goodyear Flex No 556-03-9047
Vibracoustic VIKF21-2
Blacktech RMLS5401C22
Airtech 34390-02 P
CF Gomma 1VSC 285-30
meklas.com meklas

137

e Jroup



CONNECT

AIR SPRINGS

161062 510501 220006

7155 @200

M24x1.5

h:290

M16x1.5 M16x1.5

165

Product ID: 161062 Weight: 6,22 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Mercedes A94232028 21 Contitech 4390 N P21
A 94232049 21 4390 N PO1
AS9423200121 Firestone 1R7Z-440-290
R.O.R Meritor MLF7108 Firestone Part No WQ01-M58-8514
Goodyear 9505
Goodyear Flex No 556-03-9047
Phoenix 1KF 21-21
Blacktech RML 95401 C21
Airtech 34390-21C
Granning 15956
CF Gomma 1VSC285-30/ 206782
Gart 3041440/ C 304
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161063 310503 220006
2155 @200
52

M24x1.5
~1 = M16x1.5

h:290

M16x1.5

165

Product ID: 161063 Weight: 6,44 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Mercedes A94232002 21 Contitech 4390 N P22
A942 3205021 4390 N PO1
AS42 3202921 Firestone 1R7Z-440-290
R.O.R Meritor MLF7109 Firestone Part No WQ01-M58-8513
Goodyear 9506 / D12TN
Phoenix 1KF 21-22
Blacktech RML 95401 C22
Airtech 34390-22C
Granning 93916
CF Gomma 1VS 285-30/ 207766
Gart 3041441/ C 304
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

131320

240

310501

i

2155

h:370

M24x1.5
M16x1.5

07.5

$130.8

Product ID: 131320 Weight: 2,15 kg

OEM Ref. CROSS Ref.

QIP (pcs): 72

Mercedes A942 32006 21 Contitech 4391 N P21 (without piston)
A 942 32053 21 Blacktech RML95402C21
Airtech 34391-01P
meklas.com
140

O meklas
e group



CONNECT

AIR SPRINGS

131367

%240

ol
a

h:370

$130.8

OEM Ref.

Product ID: 131367

310502

@24
M16x1.5

M24x1.5
M16x1.5

Weight: 2,37kg

CROSS Ref.

QIP (pcs): 72

Mercedes A942 32007 21 4391 N P22 (without pistan)
A942 32054 21 RML95402C22
34391-02 P
meklas.com

147

O meklas
e group



CONNECT

AIR SPRINGS

161365 510501 220080

h:240
145
(@

M24x1.5
M16x1.5

Product ID: 161365 Weight: 5,86 kg QIP (pcs): 75
OEM Ref. CROSS Ref.
Mercedes A 942 32006 21 Contitech 4391N P21
A 942 32053 21 Blacktech RML95402C21
Airtech 34391-01P

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

160207 310503 220080

M16x1.5
M24x1.5

M16x1.5

h:240

145

Product ID: 161207 Weight: 6,02 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Mercedes A942 32007 21 Contitech 4391N P22
A 942 32054 21 Blacktech RMLS5402C22
Airtech 34391-02 P

meklas.com s meklas
e Jroup



CONNECT

AIR SPRINGS

131308 210016
@248 0258
92
161= 3 B4

3 ©

M 64.5]

<

M16x1.5
2xM10x1.5
7 2130.8
Product ID: 131308 Weight: 4,99 kg QIP (pcs): 48
OEM Ref. CROSS Ref.
Volvo 1076 075 Contitech 4420 N PO1 (without Piston)
1076 076 Firestone 1T17BR-8
20554 756 Firestone Part No WQ01-M58-9707
Fruehauf 431487 Blacktech RML75531C
R.O.R Meritor MLF7171 Airtech 36075 P
CF Gomma 1T19-E2 / 204420
Gart D278/V1-2781.355
meklas.com meklas

144

e group



CONNECT

AIR SPRINGS

161096 210016 220036

02352

h:310

140
—

Product ID: 161096 Weight: 8,88 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Volvo 1076 075 Contitech 4420 N PO1
1076 076 Firestone 1T17BR-8
20554756 Firestone Part No WQ01-M58-9707
Fruehauf 431487 Blacktech RML75531C
R.O.R Meritor MLF7171 Airtech 36075 P
CF Gomma 1T19-E2 / 204420
Gart D278/V1-2781.355
meklas.com e meklas

e Jroup



CONNECT

AIR SPRINGS

161085

//n\\ M14x2

012

h:335

160
C

&

210042 220023

8228
140

56

56

Product ID: 161085 Weight: 9,26 kg QIP (pcs): 39
OEM Ref. CROSS Ref.
Scania 1434506 Phoenix 1DF20A-4
473868 Goodyear 1R11-832
488264 Goodyear Flex No 566-22-3-546
Blacktech RML 74506 C
Airtech 334506 C
Granning 92501
Gart 2971432 /D297/B
meklas.com e meklas

e group



CONNECT

AIR SPRINGS

161523 210035 210180

2286

M22x1.5

h:400

2xM12x1.75

F
=]

4xM12x1.75

180

Product ID: 161523 Weight: 11,04 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
BPW 041030090 Airtech 374521C
Gart D277/DA
D 2274.521

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

h:333

N

Product ID: 131166

100

M24x1.5
M16x1.5

Weight: 4,24 kg

310006

M12x1.75

QIP (pcs): 3

9)

OEM Ref. CROSS Ref.
Volvo 20737947 Contitech 6614 N PO1 (without piston)
21961458 Airtech 37947-C (without piston)
20583420
20737943
20424543
meklas.com meklas

148

Q

group



CONNECT

AIR SPRINGS

(o))
00
(o)

161189

h:290

210041 220076

@225

M14x2

Product ID: 161189 Weight: 9,80 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

\olvo 20737947 Contitech 6614 N PO1
21961458 Blacktech RML 74543 C
20583420 Airtech 37947 C
20737943
20424543

meklas.com

s O meklas
e Jroup



CONNECT

AIR SPRINGS

131077 510502
2207

=)
2155

M24x1.5

h:394

M16x1.5

$130.8

Product ID: 131077 Weight: 2,02 kg QIP (pcs): 54
OEM Ref. CROSS Ref.
Mercedes AB29320025 Contitech 4644 N P22
4644 N P02 (without piston)
Vibracoustic VIKE22-1
Blacktech RMLS5755C22
Airtech 34644 P
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161385 310502 220147

2155 2205

M24x1.5

M16x1.5

M16x1.5

h:269
123
-
7

Product ID: 161385 Weight: 8,03 kg QIP (pcs): 72
OEM Ref. CROSS Ref.
Mercedes AB29320025 Contitech 4644 N P22
4644 N PO2
Vibracoustic VIKE22-1
Blacktech RML95755C22
Airtech 34644 P

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

131286 210027
mll
w 2258
9265
35
E 022
M16x1.5
M12x1.5

2150.8

Product ID: 131286 Weight: 4,95 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
M.AN 81436016068 Contitech 4705 N1PO1
81436010155 Goodyear 1R12-831
Goodeyar Flex No 566-24-3-543
Blacktech RML75816-1
Airtech 34705 P
Gart C302/B- 302.0.521
meklas.com o meklas

e group



CONNECT

AIR SPRINGS

161347 210027

h:328

131.5

220129

0210

M18x2

Product ID: 161347 Weight: 9,82 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

M.AN 81.436.006.039 Contitech 4705 N1P0O3
Blacktech RML 75816 C3
Airtech 34705 C
Gart 3021520/ C302B

meklas.com
153

O meklas
e group



CONNECT

AIR SPRINGS

161348 210027 220130

h:328

130

Product ID: 161348 Weight: 9,82 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
M.AN 81.436.006.040 Contitech 4705 N1P04
Firestone 1T17AR-10.5
Firestone Part No W01-M58-8367
Blacktech RML 75816 C4
Gart 3021521/ C3028B

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

131034 210016

0248

28258

il

h:448

7130.8
Product ID: 131034 Weight: 4,59 kg QIP (pcs): 44
OEM Ref. CROSS Ref.
Volvo 1076 594 Contitech 4713 N P02
20554755 Firestone 1T17BR-8
Firestone Part No W01-M58-9706
Goodyear 1R12-762
Goodyear Flex No 566-24-3-513
Vibracoustic VIDF22C-1
Blacktech RML75824C
Airtech 34713 P
CF Gomma 1TS 300-28 /206778
Dunlop D12Uu24
Gart C293V/ 2931460
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

161064 210016

0258
92

h:330

155

220007

2200

Product ID: 161064 Weight: 8,94 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
\olvo 1076 594 Contitech 4713 N PO2
20554755 Firestone 1T17BR-8
Firestone Part No W01-M58-9706
Goodyear 1R12-762
Goodyear Flex No 566-24-3-513
Vibracoustic VIDF22C-1
Blacktech RML75824C
Airtech 34713 P
CF Gomma 1TS 300-28 /206778
Dunlop D12U24
Gart C293V /2931460
meklas.com meklas

156

e group



CONNECT

AIR SPRINGS

131103 210025
0248
@ 0258
7 % 180
6
N 1 J
i | ta
o M10x1.5 S
M16x1.5
% 7130.8 y
Product ID: 131103 Weight: 4,62 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Volvo 1079718 Contitech 4718 N PO1 (without piston)
1075363 Firestone 1T17JBR-9.7
20452136 Firestone Part No W01-M58-8577
20554759 Goodyear 1R12-821
Goodyear Flex No 566-24-3-537
Blacktech RML 75829 C (wihout piston)
Airtech 34718 P
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

161065 210025 220008
2258
180 2228
- f 6
gt M10x1.5 ‘ I o
M16x1.5

Product ID: 161065 Weight: 8,65 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Volvo 1079718 Contitech 4718 N PO1
1075363 Firestone 1T17IBR-9.7
20452136 Firestone Part No WQ01-M58-8577
20554759 Goodyear 1R12-821
Goodyear Flex No 566-24-3-537
Blacktech RML 75829 C
Airtech 34718 K
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161447 210028 190031

@311
220

2xM12x1.75

147
(4*

Product ID: 161447 Weight: 15,83 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
Gigant 3642 Vibracoustic V1DF 32-B
0166269 Gart 292.2.463

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

131035 510502
2260

=)

/ \ 2155

h:473

M24x1.5
M16x1.5

£130.8

Product ID: 131035 Weight: 319 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Mercedes A 946 32003 21 Contitech 4737 N P21 (without piston)
A946 32037 21 Goodyear 9523
Goodyear Flex No 556-03-9075
Blacktech RML95848C21
Airtech 34737-01P
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161167 310502 220065

@155 0226

h:270

M24x1.5
M16x1.5 M16x1.5

Product ID: 161167 Weight: 8,20 kg QIP (pcs): 25
OEM Ref. CROSS Ref.
Mercedes A946 32003 21 Contitech 4737 N P21
A946 32037 21 Goodyear 9523

R.O.R. Meritor MLF7165 Goodyear Flex No 556-03-9075
Blacktech RML95848C21
Airtech 34737-01C
Dunlop D13T04

meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161066 510502 220009
@155 2196
;| e
< h M24x1.5
© M16x1.5
— M16x1.5

Product ID: 161066 Weight: 814 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Mercedes A946 32005 21 Contitech 4737 N P22
A9422039 21 Goodyear 9524

R.O.R. Meritor MLF7055 Goodyear Flex No 556-03-9075
Blacktech RML95848C22
Airtech 34737-22C
Dunlop D13T05

meklas.com . meklas

e group



CONNECT

AIR SPRINGS

151042 310502
2260
[=]
< M24x1.5
M16x1.5
2130.8

Product ID: 131042 Weight: 2,66 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Mercedes A942 32043 21 Contitech 4757 N P21
A942 3200117 4757 N PO1 (without piston)
Firestone 1R7Z-460-305-A
Firestone Part No WQ01-M58-8521
Phoenix 1KF 24-21
Goodyear 9519
Goodyear Flex No 556-03-9079
Blacktech RML95868C21
Airtech 34757-01P
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

131043 310501
0260
52

(@]

(@]

<

<

M24x1.5
M16x1.5
7 2130.8
Product ID: 131043 Weight: 2,60 kg QIP (pcs): 60
OEM Ref. CROSS Ref.
Mercedes A 974 328 00 01 Contitech 4757 N2
A 974328 0101 Phoenix 1KF 24-2 NP
Firestone 1R7Z-60-305-B
Firestone Part No W01-M58-0910
Goodyear 9518 / D13U43
Goodyear Flex No 556-03-9079
Blacktech RML95868-2
Airtech 34757-02 P
Gart C299/A - 299.0.460
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161078 310502 220014
2280
2155
M16x1.5 M16x1.5

Product ID: 161078 Weight: 8,06 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Mercedes A942 32043 21 Contitech 4757 N P21
AS42 3200117 4757 N PO1
Firestone 1R7Z-460-305-A
Firestone Part No WQ01-M58-8521
Goodyear 9519 /D13T0!1
Goodyear Flex No 556-03-9079
Phoenix 1KF 24-21
Vibracoustic V1KF 24-1-232
Blacktech RML 95868 C21
Airtech 34757-21C
Gart 299.1.461/C299 A
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161079 310501 220014

2280

h:270

M24x1.5
M16x1.5

157

M16x1.5

Product ID: 161079 Weight: 740 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Mercedes A942 3203221 Contitech 4757 N P29
A 9743200217 4757 N P09
A9423203221 4757 N P02
A 9743200417 Firestone 1R7Z-460-305-B
Firestone Part No W01-M58-8522
Goodyear 9520/ D13T02
Goodyear Flex No 556-03-9079
Phoenix 1KF 24-29
Vibracoustic V1KF 24-2-232
Blacktech RML 95868 C29
Airtech 34757-29C
CF Gomma 1VSC300-26 / 206786
Gart C299/A - 2991460
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161517 310502 220179

$155

M24x1.5
M16x1.5

h:270

157.5_

Product ID: 161517 Weight: 919 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Mercedes A942 3203321 Contitech 4758 N P23
A 9423200617 Blacktech RML 95869 C23
Airtech 34758-23 K

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

131172

2260

9

£130.8

h:341

Product ID: 131172

310502

M24x1.5
M16x1.5

Weight: 2,16 kg

QIP (pcs): 26

OEM Ref. CROSS Ref.
Mercedes A942 32044 21 Contitech 4759 N P21 (without piston)
ASQ42 3270217 Blacktech RML95860C21
Airtech 34759-21P
meklas.com

168

O meklas
e group



CONNECT

AIR SPRINGS

161205 310502 220078

@279
2155

h:200

M24x1.5
M16x1.5

M16x1.5

Product ID: 161205 Weight: 6,74 kg QIP (pcs): 39
OEM Ref. CROSS Ref.
Mercedes A9Q42 32044 21 Contitech 4759 N P21
A942 3270217 Blacktech RML95860C21
Airtech 34759-21C

meklas.com o meklas
e Jroup



CONNECT 14786-01

AIR SPRINGS

131318

2210

]

h:310

S

\_J

2120.6

310501

M24x1.5
M16x1.5

Product ID: 131318 Weight: 1,86 kg QIP (pcs): 75
OEM Ref. CROSS Ref.
Mecedes A 942 32045 21 Contitech 4786 N P21 (without piston)
AS42 3200117 Airtech 34786-21C (without piston)
meklas.com meklas

170 ‘ )
o

group



CONNECT 14786-KO1

AIR SPRINGS

161428 310501 220164

2155 2190

h:225

111.9

M24x1.5

115

2xM20x1.5

M16x1.5

Product ID: 161428 Weight: 6,53 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Mecedes A 9423204521 Contitech 4786 N P21
A942 3200117 Airtech 34786-21C

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

131114

3265

M12x1.75

h:468

Product ID: 131114

14810-05

210004
2286
210 M22x1.5

95

Weight: 4,32 kg

QIP (pcs): 24

OEM Ref. CROSS Ref.
SAF 3.229.222700 Contitech 4810 N PQO5 (without pistan)
3.229.212700 Firestone 1m9L-7
3.229.0027.00 Firestone Part No W01-M58-6338
2918V Goodyear 1R14-730
Scania 1723275 Goodyear Flex No 566-28-3-548
Phoenix 1D 28 A-10
Vibracoustic VID28A-10
Blacktech RML75921C5
Airtech 32918 P
CF Gomma 1TI9E-2
meklas.com meklas

172

e group



CONNECT

AIR SPRINGS

161093

h:340

M12x1.75

140 _,

14810-K05

210004
0286
A M22x1.5

220001

Product ID: 161093 Weight: 10,56 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

SAF 3.229.2227.00 Contitech 4810 N P05
3.229.212700 Firestone m9L-7
3.229.0027.00 Firestone Part No W01-M58-6338
2918V Goodyear 1R14-730

Scania 1723275 Goodyear Flex No 566-28-3-548

Phoenix 1D 28 A-10
Vibracoustic VID28A-10
Blacktech RML75921C5
Airtech 32918 P
CF Gomma 1TI9E-2
meklas.com meklas

173

e Jroup



CONNECT

AIR SPRINGS

0286
210

210004

M22x1.5
L

h:340

95

M12x1.75

140 _

14810-K83

220165

Product ID: 161435 Weight: 10,31kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Schmitz 016010 Goodyear 1R14-783
Weweler US 07337GST2 Goodyear Flex No 566-28-3-530
meklas.com

174

O meklas
e group



CONNECT

AIR SPRINGS

131036 210011
3265
f t \ 2286

M14x1.5

h:511

?156.5
Product ID: 131036 Weight: 5,23 kg QIP (pcs): 24
OEM Ref. CROSS Ref.
Scania 255293 Contitech 4813 N PO7 (without pistan)
255295 Firestone TM9L-M
298569 Firestone WQ01-M58-7358
325748 Goodyear 1R14-727
107674 1R14-838
1314906 Goodyear Flex No 566-28-3-547
Blacktech RML 75924 C
Airtech 34813 P
Dunlop D13B10
CF Gomma 1T19E-2BR
Gart D287/ 2874.520
meklas.com e meklas

e Jroup



CONNECT

AIR SPRINGS

161068 210011 220002

M14x1.5

h:420

178
—
C

Product ID: 161068 Weight: 1148 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Scania 255293 Contitech 4813 N PO7
255295 Firestone TT9L-1
298569 Firestone WQ01-M58-7358
325748 Goodyear 1R14-727
107674 1R14-838
1314906 Goodyear Flex No 566-28-3-547
R.O.R Meritor MLF7163 Blacktech RML 75924 C
SAF 3.229.0005.00 Airtech 34813 P
Dunlop D13B10
CF Gomma 1T19E-2BR / 97764
Gart D287 /2874520
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

151041 510502
2260
P M24x1.5
- M16x1.5
2130.8

Product ID: 131041 Weight: 2,85 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Mercedes A 946 3203821 Contitech 4838 N P21 (without piston)
A942 32038 21 Firestone 1R77-595-330-A
Firestone Part No WQ01-M58-8512
Vibracoustic VIKF25-1-232
Blacktech RMLS5949C21
Airtech 34838 P
meklas.com . meklas

e Jroup



CONNECT 14838-K

AIR SPRINGS

161077 510502 220012
g 2226
( 2155
(@]
% L M24x1.5
Lg M16x1.5 M16x1.5
~d

Product ID: 161077 Weight: 8,22 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Mercedes A946 32038 21 Contitech 4838 N P21
AS942 32038 21 4838 N PO1
Firestone 1R7Z-595-330-A
Firestone Part No W01-M58-8512
Vibracoustic VIKF25-1-232
Blacktech RML95949C21
Airtech 34838 -21C
meklas.com - meklas

e group



CONNECT 14838-K02

AIR SPRINGS

161235 510502 220090
a 2220
2155
% [ = M24x1.5
EL M16x1.5 Bl 5

Product ID: 161235 Weight: 9,62 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Mercedes A942 32036 21 Contitech 4838 N P22
A946 32002 21 Goodyear 9522

Goodyear Flex No 556-03-9074
Vibracoustic VIK25-2-232
Blacktech RML 95949 C22
Airtech 34838-22C

meklas.com - meklas
e Jroup



CONNECT 14838-K03

AIR SPRINGS

161311 310502 220116
2230
H 2155
E = M24x1.5
QL M16x1.5 M16x1.5
& [fl

Product ID: 161311 Weight: 8,65 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Mercedes A9423203521 Contitech 4838 N P23
A946 3200121 Goodyear 9536

Goodyear Flex No 556-03-9074
Vibracoustic VIKF25-3-232
Blacktech RML 95949 C23
Airtech 34838-23C

meklas.com 0 meklas
e JrOuUp



CONNECT

AIR SPRINGS

131357

h:435

210213

Product ID: 131337 Weight: 4,82 kg QIP (pcs): 48
OEM Ref. CROSS Ref.
M.AN 81.43601.0168 Contitech 4862 N1PO1
Vibracoustic VIDF16B-INP
Blacktech RML75973
Airtech 34862 P
meklas.com

181

O meklas
e group



CONNECT

AIR SPRINGS

161325 210213

h:265
A}
{

131.5

220041

2178

M18x2

Product ID: 161325 Weight: 8,30 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

M.AN 81.43600.6049 Contitech 4862 N1P02
Vibracoustic VIDF16B-1
Blacktech RML 75973 C2
Airtech 34862 C

meklas.com
182

O meklas
e group



CONNECT

AIR SPRINGS

131057 210005 310027/
@300 -
,\ﬂ -4 210
M22x1.5
1 o &
3 M12x1.75 ‘ 5
P o M16x2

Product ID: 131037 Weight: 6,20 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
BPW 05.429.41.01.0 (36K) Contitech 4881N P02
Schmitz 750570 Firestone 1T66D-7
Firestone Part No W01-M58-8601
Goodyear 1R14-701
Goodyear Flex No 566-28-3-505
Vibracoustic VIDK32K
Phoenix 1DK 312K
Blacktech RML75992
Airtech 3481 P
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161069

h:350

147

14881-K

210005
2311
210
M22x1.5
/@‘/ u’)‘
1 ° Oj‘
M12x1.75 ‘ =,

190001

0256
120
/Q

(9] o

9 o
oQoo

80

M16x2

Product ID: 161069 Weight: 15,72 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
BPW 05.429.41.221 Firestone 1TBe6F-70
Firestone Part No W01-M58-8602
Goodyear 1R14-724
Goodyear Flex No 566-28-3-505
Vibracoustic VIDK32K-X1
Phoenix 1DK 32 K-1
Blacktech RML 75992 C
Airtech 34881-01K
CF Gomma 1TC360-40K / 207309
meklas.com meklas

184

e group



CONNECT

AIR SPRINGS

161170

h:350

146.5
(-

210005

2311

M22x1.5
| MZzx1.9

14881-K01

190001

95

Product ID: 161170 Weight: 15,74 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
BPW 05.429.41.311 Goodyear 1R14-724 / D14B37
05.429.41.221 Goodyear Flex No 566-28-3-505
Blacktech RML 75992 C
meklas.com

185

O meklas
e group



CONNECT 14881-KP

AIR SPRINGS

1610/0 210005 190507
2311 2250
B | | - 70
E °@oo ©
gt h m M16x2 45|

Product ID: 161070 Weight: 12,32 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
BPW 05.429.43.41.0 (36K) Contitech 4881N P30
Scania 2198331 Firestone 1T66F-70
Haffer Man 6-AB8003-0200 Firestone Part No W01-M58-8666
Schmitz 750 491 Goodyear 1R14-757
751356 Goodyear Flex No 566-28-3-505
Phoenix 1DK32K-2
Blacktech RML 75992 CP
Airtech 34881-01CPP
CF Gomma 1TC 360-40K / 207309
Gart 292.2.462/C292A
meklas.com . meklas

e group



CONNECT 14881-KPO1
AIR SPRINGS

161174 210005 190501

2311
210

M22x1.5
| MZzx1.0

0
o O

M12x1.75 ‘ bt

Product ID: 161174 Weight: 12,86 kg QIP (pcs): 18

OEM Ref. CROSS Ref.

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

131059 210026
2225
o - 2258

h:498

L £130.8 J

Product ID: 131059 Weight: 440 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
M.AN 81.43601.0176 Contitech 4882 N1PO1
81.43601.0151 4882 N1P0O5
Firestone 1M17TWCR-8.0
Firestone Part No W01-M58-8355
Goodyear 1R10-702
Goodyear Flex No 566-20-3-502
Vibracoustic VIDF16-2 NP
Blacktech RML75993
Airtech 34882 P
CF Gomma 1TS260-32 / 207760
Gart C289/M-  289.0.512
meklas.com . meklas

e group



CONNECT 14882-K

AIR SPRINGS

161102 210026 220041

2178

h:280

M18x2

Product ID: 161102 Weight: 819 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
MAN 81.436.006.036 Contitech 4882 N1P0O5
81.436.006.056 Firestone T7TWR-8
Firestone Part No WQ01-M58-9880
Goodyear 1R10-709
Goodyear Flex No 566-20-3-502
Phoenix 1DF16-2
Vibracoustic V1DF16-2
Blacktech RML 75993 C
Airtech 34882 C
Granning 94102
CF Gomma 1TS 260-32 /207701
Gart 2891510/ C289M
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

131060
Of
2235
M16x1.5
O
3
< M12x1.5

210027

7130.8
Product ID: 131060 Weight: 4,72 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
M.AN 81436016067 Contitech 4883 N1PO1
81436010153 4883 N1P0O6
Firestone 1T17JBR-8.5
Firestone Part No W01-M58-8363
Goodyear 1R1-804
Goodyear Flex No 566-22-3-354
Vibracoustic VIDF19C-1
Blacktech RML75994
Airtech 34883 P
Gart C304/M3 - 304.0.513
meklas.com meklas

190

e group



CONNECT 14883-K

AIR SPRINGS

161127 210027 220055
2258
B4
B0 @200
|38
o M16x1.5 —
< ] M12x1.5
. M18x2
" i

Product ID: 161127 Weight: 9,35 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

M.AN 81.43600.6037 Contitech 4883 N1P0O6
Firestone 1T17JBR-8.5
Firestone Part No W01-M58-8362
Goodyear 1R11-884
Goodyear Flex No 566-22-3-534
Blacktech RML 75994 C
Airtech 34883-06C
Gart 3041.513/C304/M3

meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

131066 210027
@235
q I o 7258
f:éi\f%,J::i 84
60
M16x1.5 //—_gg
E M12x1.5

Product ID: 131066 Weight: 4,60 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
M.AN 81.43601.0152 Contitech 4884 N1PO1
81.43601.0174 4884 N1 P06 (without piston)
81.43601.0175 Firestone 1T17JBR-8.0
Firestone Part No W01-M58-8361
Goodyear 1R1-820
Goodyear Flex No 566-22-3540
Vibracoustic VIDF19B-1 NP
Blacktech RML75995
Airtech 34884 P
CF Gomma 1TS 290-28
Gart C304/M4 - 304.0.51
meklas.com o meklas

e group



CONNECT 14884-02

AIR SPRINGS

151274 210026

2259

0235

M12x1.5

p
19 ‘%

O M

N~

h:500

% £130.8 J

Product ID: 131274 Weight: 4,70 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

MAN 81.43600.6041 Contitech 4884 N1 P02 (without piston)

meklas.com o meklas
e Jroup



CONNECT 14884-K

AIR SPRINGS

161104 210027 220055
2258
84
60 2178
Mi6x1.5 | 4T |35
% M12x1.5
3 M18x2

Product ID: 161104 Weight: 9,21kg QIP (pcs): 30
OEM Ref. CROSS Ref.
M.AN 81.436.006.035 Contitech 4884 N1P0O6
81.436.006.055 Firestone M7IR-7.2
1T17JBR-8.0
Firestone Part No W01-M58-9879
Goodyear 1R1-861
Goodyear Flex No 566-22-3-540
Phoenix 1DF19 B-1
Vibracoustic V1DF19 B-1
Blacktech RML 75995 C6
Airtech 34884 C
CF Gomma 1TS 290-28 /207702
Gart 304.1.510/C304/M4
Granning 94100
meklas.com . meklas

e group



CONNECT 14884-K02

AIR SPRINGS

161584 210026 220055
0259 ©200
84
f = )
M12x1.5
‘ f Lz ’\L M18x2
M f M16x1.5

Product ID: 161384 Weight: 9,25 kg QIP (pcs): 28

OEM Ref. CROSS Ref.

M.A.N 81.43600.6041 Contitech 4884 N1PQ7
Firestone 1T17JBR-8.0
Firestone Part No W01-M58-8359
Goodyear 1R1-885
Goodyear Flex No 566-22-3-540
Blacktech RML 75995 C7
Airtech 34884-07C
Gart 289.1.513/C289/M

meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

131296

28225

T T

h:395

022
M16x1.5

M12x1.5

2130.8
Product ID: 131296 Weight: 3,90 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
M.AN 81.43601.0160 Contitech 4885 N1PO1
81.43601.6071 Blacktech RML75996
81.43601.0160 Airtech 34885 P
Gart C289/M1-289.0.41
meklas.com

196

O meklas
e group



CONNECT

AIR SPRINGS

161324

022
M16x1.5

L ﬂ M12x1.5

h:265
<

131.9

14885-K

210027

220041

2178

M18x2

Product ID: 161324 Weight: 8,30 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

M.AN 81.43600.6044 Contitech 4885 N1P02
Blacktech RML 75996 C2
Airtech 34885 C
Granning 94015
CF Gomma 1TS 260-20/ 207764
Gart 289.1.410/C289/M1

meklas.com

197

O meklas
e group



CONNECT

AIR SPRINGS

131038 210012 310004
@265
\ A.H ’ 2286
M24x1.5 @24
M16x1.5 M16x1.5

o
(&)

h:540

M16x1.5

Product ID: 131038 Weight: 7,92 kg QIP (pcs): 27
OEM Ref. CROSS Ref.
Renault V. 5.010.294.308.C Contitech 4911 N PO3 (without piston)
5.011.239.971 Goodyear 1R13-714
Goodyear Flex No 566-26-3-505
Blacktech RML 75022C3
Airtech 3491 P
Gart D287/E - 2871540
meklas.com o meklas

e group



CONNECT

AIR SPRINGS

1351199 210130 3170004
I

30

h:540

3
©011.8 M16x1.5

Product ID: 131199 Weight: 7,89 kg QIP (pcs): 27

OEM Ref. CROSS Ref.

Renault V. 5.010.557.356 Contitech 4911 N P04 (without piston)
Goodyear 1R13-755
Goodyear Flex No 566-26-3-505
Blacktech RML75022C4
Airtech 34911-04 P
CF Gomma 1T19E-3 /207771
Gart D287/E- 2871.541

meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161071 210012 220010

-0 2286

pimig

M24x1.5
M16x1.5

M16x1.5 0226

M16x1.5

h:415
210
)

Product ID: 161071 Weight: 14,66 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Renault V. 5.010.294.308.C Contitech 491N PO3
5.010.239.971 Goodyear 1R13-714
5.010.557.356 Goodyear Flex No 566-26-3-505
Blacktech RML 75022C3
Airtech 3491 C
Gart D287/E - 2871540
CF Gomma 1TI9R-3 /207770
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161234

g 1]

h:344

211

210130
2286
165 M24x1.5
99 M16x1.5
30

220010

2226

M16x1.5

Product ID: 161234 Weight: 14,42 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Renault VI 5.010.557.356 Contitech 4911 N P04
22190560 Goodyear 1R13-755
7.422190.560 Goodyear Flex No 566-26-3-505
Blacktech RML75022C4
Airtech 34911-04 C
CF Gomma 1T19E-3 / 207771
Gart D287/E- 2871.541
meklas.com meklas

201

e Jroup



CONNECT

AIR SPRINGS

131039 210012 310004

I*M
@265

2286

M24x1.5
M16x1.5

O]
|

h:600

)
™ M16x1.5

Product ID: 131039 Weight: 710 kg QIP (pcs): 27

OEM Ref. CROSS Ref.

Renault V. 5.001.832.067 Contitech 4912 N P08
Firestone T9LL14
Firestone Part No W0O1-M58-5522
Goodyear 1R13-713
Goodyear Flex No 566-26-3-502
Blacktech RML75023
Airtech 34912 P
CF Gomma 1TS19 E-4 /206780
Gart D287/C - 287.0.601

meklas.com . meklas

e group



CONNECT

AIR SPRINGS

131098 210130 510004
3 2286
2265 165
S N
&
N an.g h M16x1.5

Product ID: 131098 Weight: 6,94 kg QIP (pcs): 27
OEM Ref. CROSS Ref.
Renault V. 5.010.600.328 Contitech 4912 N P13 (without piston)
7421.978.494 Firestone 1T19LL-14
Volvo 20726768 Firestone Part No WQ01-M58-5520 (without piston)
21978 504 Blacktech RML75023C13
Airtech 3491210 P
Gart D287/C - 2871602
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161075 210012 220010
B0 M24x1.5 e 9228
M16x1.5 ] 1615
o 811.9
il f

Product ID: 161073 Weight: 13,17 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

Renault V. 5.010.294.307.C Contitech 4912 N PO7

R.O.R. Meritor MLF7063 Firestone 1T19L-14
Firestone Part No W01-M58-8786
Goodyear 1R13-738

TRI3-71
Goodyear Flex No 566-26-3-502
Phoenix 1DK 28 F-4
Vibracoustic V1DK 28 F-4
Blacktech RML 75023 C7
Airtech 34912 C
Dunlop D13A08
Granning 16046
CF Gomma 1T19 E-4 /206779
Gart D287C /2871600
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161210 210130 220010

M24x1.5
M16x1.5

$286

9228

M16x1.5

h:410

210

Product ID: 161210 Weight: 13,67 kg QIP (pcs):
OEM Ref. CROSS Ref.
Renault VI 5.010.557.355 Contitech 4912 N P13
7.422.025.556 Firestone MoLL-14
Volvo 20722 412 Firestone Part No W01-M58-5521
22 025568 Goodyear 1R13-753
Goodyear Flex No 566-26-3-502
Phoenix 1DK 28 F-5
Blacktech RML75023C13
Airtech 34912-01C
Gart 2871602
D287/C
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

161520 210130

g M24x1.5 8286
M16x1.5

h:410
F

211

220010

M16x1.5

Product ID: 161520 Weight: 10,40 kg QIP (pcs): 33
OEM Ref. CROSS Ref.
Renault VI 5.010.557.355 Contitech 4912 N P10
7422.025.556 Phoenix 1DK 28 F-5
Volvo 20722 412 Goodyear 1R13-753
22 025568 Airtech 34912-10C
CF Gomma D287/C
Gart 2871603
meklas.com
206

O meklas
e group



CONNECT

AIR SPRINGS

151040 210013 310005

$286

105 $12
M16x1.5 | ——*
e
144 \% M16x2

8265

h:610

|

Product ID: 131040 Weight: 5,56 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Scania 1379393 Contitech 4913 N P04
1379392 4913 NPO2 (without piston)
1440294 Firestone 1TI9F-14
Firestone Part No WQ01-095-0365
Goodyear 1R14-755
Goodyear Flex No 566-28-3-522
Blacktech RML75024
Airtech 34913 P
Gart C282/H-D287/H
282.0.601/2870.603
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161075 210013 220011

9286 226

%15

w“?; M16x2

M16x1.5

B

h:415

Product ID: 161075 Weight: 1242 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Scania 1379392 Contitech 4913 N PO2
1440294 Firestone 1T19L-14
TTI9LAJ-14
Firestone Part No W01-M58-9881
WO01-M58-0500
Goodyear 1R14-753
Goodyear Flex No 566-28-3-522
Phoenix 1D 28 H-16
Vibracoustic V1D28H-16
Blacktech RML 75024 C
Airtech 34913 C
Dunlop 00937A-AP
Granning 16105
CF Gomma 1T19E-93 /206201
Gart 2821600/ C282H
meklas.com s meklas

e group



CONNECT

AIR SPRINGS

131094 210129
7 2240 2228

h:532

M24x1.5
M16x1.5

310015

MWBXW.S/( Z

Product ID: 131094 Weight: 515 kg QIP (pcs): 39
OEM Ref. CROSS Ref.
Renault VI 5.001.855.856 Contitech 4915 N P03
5.010.294.546 Blacktech RML75026
Airtech 34915 P
Gart C294/C - 294.0.531
meklas.com
209

O meklas
e group



CONNECT

AIR SPRINGS

161209 210129 220081

9228

M24x1.5 2187

912 M16x1.5

M16x1.5

h:410
211
—

Product ID: 161209 Weight: 10,17 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

Samro H2501122 Contitech 4915 N PO6

Renault V.| 5.010.294.309 Phoenix 1DK 191
5.010.600.578 Vibracoustic \V1DK19-1
5.010.557.991 Blacktech RML 75026 Cb
5.010.488.070 Airtech 34915-01C
7422190.563 Gart 2941530/ C294C

\olvo 20757 541
22025613

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161307/ 210197 220115
»180 @200
= M24x1.5
- - M16x1.5
= 815.9

Product ID: 161307 Weight: 8,68 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
RenaultVl 5.010.557622 Contitech 4919 N PO1
5.010.630457 Blacktech RML 75020 C
7421978.484 Airtech 34919 C
Volvo 20735220
21978 490
meklas.com meklas

o e group



CONNECT

AIR SPRINGS

161383

0
N,
[N

h:311

220291

Product ID: 161383 Weight: 7,30 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Renault VI 5010 600 262 Contitech 4922 MB
Airtech 34922 CPP
meklas.com meklas

212

e group



CONNECT

AIR SPRINGS

131304 210025

248

9259
/ \ M10x1.5

1o

h:330

$130.8
Product ID: 131304 Weight: 3,99 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Volvo 20452138 Airtech 34925 P
1629782
1075 365
20554761

meklas.com s meklas
e Jroup



CONNECT

AIR SPRINGS

9258

M10x1.5

1o

h:242

161124 210025 220049

9227

C

?6

Product ID: 161124 Weight: 8,13 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
\olvo 20452138 Contitech 6609 N PO1
1629782 Blacktech RML 74925 C
1075 365 Airtech 34925 C
20554 761

meklas.com
214
CO

meklas
group



CONNECT

AIR SPRINGS

B C

161382 210308 220588

9259
100,

0pnl M1 50 M16x1.5

N
N

h:311

g

Na

Product ID: 161382 Weight: 6,60 kg QIP (pcs): 28

OEM Ref. CROSS Ref.
\olvo 22025612 Contitech 4927 N PO1

25379 286 Blacktech RML 75038 CP

20722 409
Renault VI 5.010.630.800

5.010.305.391

22025580

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

161306 210191 220114

9259

200

[im]

M24x1.5
M16x1.5

h:280
(@ N

140

Product ID: 161306 Weight: 8,17 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
Renault VI 5.010.557623 Airtech 34929 C
Neway 90557009

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

131189 210141
9200
9228
d P 77.5
50 $11.9
e 40
M16x1.5
[]
© 138
s 211.9
2130.8
Product ID: 131189 Weight: 343 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Scania 1434930 Firestone 1T15UR-9
1932592 Firestone Part No WO01-M58-8653 (without piston)
Airtech 34930 P
Gart C295/SC - 295.1.475/1
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

161226 210141 220544

8228

77.5 . =0 M16x2 2175
— $11.9
M16x1.5 g - 216
< T ik <
ol . \ T~ _411.9
28 .
© 60.5

Product ID: 161226 Weight: 5,18 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Scania 1434930 Firestone 1T15UR-9
1932592 Firestone Part No W01-M58-8653
Phoenix 1DF17 B-2
Blacktech RML 78653 CP
Airtech 34930 CPP
Gart 2951475 /C295/SC
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

131190

9265

h:465

$150.8

210142

9258
13.5 139

i 912

o ) |
° = $11.9
105 N

M16x1.5/ N 10
153.5

Product ID: 131190 Weight: 4,30 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Scania 1434933 Firestone 1T28HR-8
Firestone WQ01-M58-8633 (without piston)
Airtech 34933 P
meklas.com

219

O meklas
e group



CONNECT

AIR SPRINGS

161312 210142 220117

258
13.5 139 _,

60,
1/ 912
LL Al
0.5 > ~ 5<zm.9

M16x1.5/ N |

“’H 153.5

h:350

185

Product ID: 161312 Weight: 10,20 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Scania 1434933 Firestone 1T28HR-8
Firestone W01-M58-8633
Airtech 34933 C

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

131063 210059 510022
ﬁf@% 8259
0248

h:423

M16x2

=

Product ID: 131063 Weight: 5,18 kg QIP (pcs): 38

OEM Ref. CROSS Ref.

BPW 05.429.41.56.0 (30 K) Contitech 4940 N P02
Goodyear 1R1-799
Goodyear Flex No 566-22-3-501
Blacktech RML75051
Airtech 34940 P
Gart C293/A-293.0413

meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

161098 210059 190004

h:355

Product ID: 161098 Weight: 11,05 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
BPW 05.429.41.56.0 (30 K) Blacktech RML 75051C
Airtech 34930 CPP

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

161224 210059 190504

0208
/0

h:358

M16x2

146
(-

Product ID: 161224 Weight: 8,52 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
R.O.R Meritor MLF7174 Contitech 4940 N PO2
BPW 05.429.43.24.0 (30K) Blacktech RML 75051CP
Airtech 34940 CPP
Granning 16241

meklas.com s meklas
e Jroup



CONNECT

AIR SPRINGS

151062 210059 310022
0 0
1= @ 0 R

0248

7

h:523

M16x2

Product ID: 131062 Weight: 5,38 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

BPW 05.429.41.25.0 (30) Contitech 4941N P02
Goodyear 1R1-802
Goodyear Flex No 566-22-3-500
Blacktech RML75052
Airtech 34941P
Gart €293/ 293.0.513

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

161097 210059 190002
Il @205
60
20
I 2
< h M16x2

Product ID: 161097 Weight: 11,95 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

BPW 05.429.43.25.0 (30) Contitech 4941N P02
Goodyear 1R1-802
Goodyear Flex No 566-22-3-500
Blacktech RML75052
Airtech 34941C
Granning 16242

meklas.com e meklas
e Jroup



CONNECT

AIR SPRINGS

161194 210059 190502
60
20
L0
2
A 0 =
- - M16x2
(0]

Product ID: 161194 Weight: 940 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
BPW 05.429.41.25.0 (30) Contitech 4941N P02
Goodyear Flex No 566-22-3-500
Blacktech RML 75052 CP

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

131064

0248

h:423

Product ID: 131064

210060

3259

M20x1.5
M12x1.5

Weight: 4,71kg

310022

M16x2

QIP (pcs): 44

OEM Ref. CROSS Ref.
BPW 05.429.41.77.0 (30 K) Contitech 4960 N P02 (without piston)
Wabco 9518118010 Firestone 1T173-6.8

Firestone Part No W01-M58-9704

Goodyear 1R1-801

Goodyear Flex No 566-22-3-501

Phoenix 1DK 21K-3

Vibracoustic VIDK21K-3

Blacktech RML75071

Airtech 34960 P

Gart C292A/293.0.41

CF Gomma 1TC300-30K

meklas.com meklas

227

e Jroup



CONNECT

AIR SPRINGS

161099 210060

0259

h:355

146.5
T

M20x1.5
M12x1.5

190004

@205

60

M16x2

Product ID: 161099 Weight: 1140 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
BPW 05.429.43.23.0 (30K) Contitech 4960 N P02
Wabco 9518118010 Blacktech RML75071C
Airtech 34960 C
meklas.com
228

O meklas
e group



CONNECT

AIR SPRINGS

161455

h:370

14960-KO01

210060 190034

3199.5
45
PR
al Q
M20x 1.5 6 o .
M12x1.5 M16x

Product ID: 161455 Weight: 12,13 kg QIP (pcs): 38

OEM Ref.

CROSS Ref.

meklas.com

meklas
e group

229



CONNECT 14960-KP

AIR SPRINGS

161100 210008 190504
" 157.5 @;%9
0 08 8:
o — M20x1.5 20]
< M16x2

M12x1.5

146
i

Product ID: 161100 Weight: 8,46 kg QIP (pcs): 38

OEM Ref. CROSS Ref.

BPW 05.429.41.77.0 (30 K) Contitech 4960 N P02
Firestone 1m7J-6.8
Firestone Part No W01-M58-9704
Goodyear 1R1-801
Goodyear Flex No 566-22-3-501
Phoenix 1DK 21K-3
Vibracoustic VIDK21K-3
Blacktech RML75071
Airtech 34960 CPP
Gart 293.0.41
CF Gomma 1TC300-30k / 207711

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

131065 210061 510022
2248

——N

M22x1.5

73

h:423

M16x2

=y

Product ID: 131065 Weight: 4,54 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
BPW 05.429.42.04.0 (30 K) Contitech 4961N P02
Schmitz 751345 Goodyear 1R1-800
Scania 2198369 Goodyear Flex No 566-22-3-501
Blacktech RML75072
Airtech 34961P
Dunlop D1U43
Gart C292A/292.0.414
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

1611071 210061 190004

M22x1.5

h:355

Product ID: 161101 Weight: 1140 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
BPW 05.429.42.04.0 (30 K) Contitech 4961N P02
Schmitz 751345 Goodyear 1R1-800
Scania 2198369 Goodyear Flex No 566-22-3-501
Blacktech RML75072
Dunlop D11U43
Gart C292A/292.0.414
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

131302 210060 310022
7 2248 0259

h:520

M20x1.5
M12x1.5 M16x2

Product ID: 131302 Weight: 5,20 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
BPW 05.429.42.54.0 (30) Contitech 4963 N P01
Airtech 34963 P
Gart C293/293.0512

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

161456 210060 190033

2200

h:370

M20x1.5
M12x1.5

M12x1.75 M16x2

Product ID: 161456 Weight: 12,66 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

161337 210060

2259

h:385

191
i
N

M20x1.5
M12x1.5

190502

/0

Product ID: 161337 Weight: 9,55 kg QIP (pcs): 33
OEM Ref. CROSS Ref.
BPW 05.429.42.54.0 (30) Contitech 4963 N P01
0542942540 Gart 293.2514/C293
lveco 500036878
meklas.com
235

O meklas
e group



CONNECT

AIR SPRINGS

131181
$248

210016

7F E g 2 ¢ 9258

h:383

92.4

M10x1.5
M16x1.5 ‘ 64.5

2130.8

Product ID: 131181 Weight: 440 kg

QIP (pcs): 26

OEM Ref.

CROSS Ref.

Volvo 2057331 Contitech 6603 N PO2 (without piston)
20573 31 Blacktech RML73311C
3195240 Airtech 3631P
meklas.com meklas

236

e group



CONNECT

AIR SPRINGS

161216

h:280

1]

210016 220084
$258 ©226
M10x1.5 !
M16x1.5 64.5

Product ID: 161216 Weight: 817 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Volvo 20573 31 Contitech 6603 N PO2
20573 31 Blacktech RML73311C
3195240 Airtech 363M1C
meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

1313526 210326
1 i
7 S $259
25 032
Y 4590 M22x.5
p N~

2130.8

Product ID: 131326 Weight: 4,08 kg QIP (pcs): 38

OEM Ref. CROSS Ref.

Mercedes 960 32017 57 Contitech 6120 N P49 (without piston)

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

131327 210328

7 — " 3259

#50
M16x1.5

h:473

! ———
$130.8

Product ID: 131327 Weight: 4,20 kg

OEM Ref. CROSS Ref.

QIP (pcs): 38

Mercedes A 9603201357 Contitech 6120 N P48 (without piston)
meklas.com - meklas
e Jroup



CONNECT 16120-KPO1
AIR SPRINGS

161407/ 210326 220584

h:280
160
o

Product ID: 161407 Weight: 6,70 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
Mercedes 960 32017 57 Contitech 6120 N P49
meklas.com s meklas

e group



CONNECT 16120-KP02
AIR SPRINGS

161420 210328 220584

| (=]

h:280

160
1 N\
— A~

Product ID: 161420 Weight: 6,70 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
Mercedes ASB0 3201357 Contitech 6120 N P48
meklas.com 5 meklas

e Jroup



CONNECT

AIR SPRINGS

151328 210327
@‘n’ @]Q)
9228
8200 832
85 M22x1.5
Z
$130.8

Product ID: 131328 Weight: 3,50 kg QIP (pcs): 55
OEM Ref. CROSS Ref.
Mercedes A960 3201257 Contitech 6121 N P44 (without piston)
A960 3206257

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

161408 210327 220582

228

932
M22x1.5

h:280

160
(@
=

Product ID: 161408 Weight: 4,60 kg QIP (pcs): 39
OEM Ref. CROSS Ref.
Mercedes ASB0 3201257 Contitech B6121N P44
A960 3206257

meklas.com s meklas
e Jroup



CONNECT

AIR SPRINGS

131329 210326

r () 2259

h:498

| #3130.8 |

Product ID: 131329 Weight: 3,64 kg

OEM Ref. CROSS Ref.

QIP (pcs): 30

Mercedes A960 3200057 Contitech
A96032070 21

6122 N P46 (without piston)

meklas.com
244

Q

meklas
group



CONNECT

AIR SPRINGS

131330 210328

2259
o= @9 90_,_90

45

R
/]

h:498

& £130.8 }

Product ID: 131330 Weight: 3,72 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Mercedes A9603200057 Contitech 6122 N P47 (without piston)
A9603207021

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

161409 210326 220583

9200

h:280

Product ID: 161409 Weight: 6,18 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Mercedes AS60 3200057 Contitech 6122 N P46
A9603207021

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

161410 210328 220583

9259

#50
M16x1.5

h:280

160

Product ID: 161410 Weight: 6,18 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Mercedes A96032077 21 Contitech 6122 N P47
Mercedes A9603200157

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

131334 210329
2200
o 9228
[© 9

h:550

M32x2
M22x1.5H6

$130.8

Product ID: 131334 Weight: 3,54 kg QIP (pcs): 40

OEM Ref. CROSS Ref.

Mercedes A9603200657 Contitech 6123 N P40 (without piston)

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

161411

=]

h:400

165

Nl

M32x2
M22x1.5

210329 220157

9228 200
M16x1.5

Product ID: 161411 Weight: 740 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Mercedes A960 3200657 Contitech 6123 N P40
meklas.com

s O meklas
e Jroup



CONNECT

AIR SPRINGS

151332 210326

h:328

$130.8

Product ID: 131332 Weight: 3,54 kg QIP (pcs): 48

OEM Ref. CROSS Ref.

Mercedes A96032002 21 Contitech 6126 N P40 (without piston)

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

131333 210328

h:328

Product ID: 131333 Weight: 3,62 kg QIP (pcs): 48

OEM Ref. CROSS Ref.

Mercedes A9B0 3200121 Contitech 6126 N P41 (without piston)

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161413 210326 220158

0225

3]

h:224
135

j
c_F

A DN

Product ID: 161413 Weight: 740 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

Mercedes A960 3200221 Contitech 6126 N P40

meklas.com o) meklas
e JrOuUp



CONNECT

AIR SPRINGS

161412 210328 220158
2225
1 im]
N
T AN

Product ID: 161412 Weight: 740 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

Mercedes A960 3200221 Contitech 6126 N P41

meklas.com e meklas
e Jroup



CONNECT

AIR SPRINGS

151359 210064
2254 2228
80
N
E M12x1.5 | (}\ g
E | 12
2x911.9
] \;ﬂ

Product ID: 131359 Weight: 3,46 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Scania 1386198 Contitech 6703 N PO1 (without piston)
1362143 Goodyear Flex No 566-26-3-524
Airtech 36198 P

meklas.com - meklas
e JrOuUp



CONNECT 16198-K

AIR SPRINGS

161090 210064 220030

M12x1.5
8228 235

2

h:220

©04+0,
157.5

+
180

812

Product ID: 161090 Weight: 7,06 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Scania 1386198 Contitech 6703 N PO1
1362143 Goodyear 1R13-747
Goodyear Flex No 566-26-3-524
Phoenix 1DF 23 B-3
Airtech 36198 C

meklas.com e meklas
e Jroup



CONNECT

AIR SPRINGS

131298
8254

h:433

®147.7

210064
9228

M12x1.5

2x$11.9 80 -
QG S .
157.5 12)

Product ID: 131298 Weight: 3,93 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Scania 1386199 Contitech 6704 N PO1 (without piston)
1362145 Goodyear 1R13-744
1370743 1R13-199
Goodyear Flex No 566-26-3-521
566-26-3-145
Airtech 36199 P
meklas.com meklas

256

e group



CONNECT

AIR SPRINGS

161120 210064 220047

M12x1.5

h:370

145
—

Product ID: 161120 Weight: 9,05 kg QIP (pcs): 24
OEM Ref. CROSS Ref.
Scania 1386199 Contitech 6704 N PO1
1362145 Goodyear 1R13-744
1370743 1R13-199
Goodyear Flex No 566-26-3-521
566-26-3-145
Phoenix 1DF 23 C-1
Vibracoustic VIDF23A-199
Blacktech RML76193C
Airtech 36199 C
Gart D278/MA - 278.2.415
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

131123 210064
2228
157.5
2254 80
N
M12x1.5 S <

h:503

121
2x@11.9

QIP (pcs): 36

B3147.7
Product ID: 131123 Weight: 4,43 kg
OEM Ref. CROSS Ref.
Scania 1362147 Contitech
1386200 Goodyear
1370744

Goodyear Flex No

Airtech

6701 N PO1(without piston)
1R13-745

1R13-200

566-26-3-522
566-26-3-147

36200 P

meklas.com
258

meklas
e group



CONNECT

AIR SPRINGS

161126 210064 220048

$250
M12x1.5 9228 812

h:290

/3
+
180

Product ID: 161126 Weight: 10,54 kg QIP (pcs): 24
OEM Ref. CROSS Ref.
Scania 1362147 Contitech 6701N PO1
1386200 Goodyear 1R13-745
1370744 1R13-200
Goodyear Flex No 566-26-3-522
566-26-3-147
Vibracoustic V1DF23D-1
Phoenix 1DF 23 D-1
Airtech 36200C
Gart D278/M - 278.2.500
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

161313 210195 220032
o o 922 2258
M16x1.5 6H
3 e %
I \ 45
- 12x912

140

Product ID: 161313 Weight: 8,60 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

Scania 1726238 Contitech 6708 N PO2
Goodyear 1R12-813
Goodyear Flex No 566-24-3-530
Phoenix 1DF 23 A-2
Blacktech RML 76238 C
Airtech 331238 C
Gart 278.2.330/1D278/N

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161314 210196 220022

922 9228 2186
M16x1.5
> 0
o s s
2x9613
2x912
140 ®$11.9

Product ID: 161314 Weight: 7,80 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

Scania 1726240 Contitech 6710 N PO3
Goodyear 1R1-834
Goodyear Flex No 566-22-3-545
Phoenix 1DF 20 A-5
Blacktech RML76240C
Airtech 331240 C
Gart 2971.430/1/ D297/B

meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

161280 210169 220104

M24x1.5 9228

M16x1.5
132

h:270

Product ID: 161280 Weight: 5,81kg QIP (pcs): 22

OEM Ref. CROSS Ref.

\olvo 20712428 Airtech 32428 C

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

131196 210145 510006
Al
/@‘Pﬂ'—r%

M12x1.75

M20x1.5
M12x1.5

h:425

M12x1.75

AV

Product ID: 131196 Weight: 5,00 kg QIP (pcs): 44
OEM Ref. CROSS Ref.
Volvo 20352247 Airtech 36247 CPP (without piston)
20386228

meklas.com s meklas
e Jroup



CONNECT

AIR SPRINGS

161232 210145 220509

M12x1.75 ‘ 2238 9260

M20x1.5
M12x1.5

M12x1.75

h:370

Product ID: 161232 Weight: 6,93 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Volvo 20352247 Blacktech RML 72247 CP
20386228 Airtech 36247 CPP

meklas.com - meklas
e JrOuUp



CONNECT 16290-01

AIR SPRINGS

131287 210262
9220
m 9228

=
@ R

h:380

130

M16x1.5

) mso.é

Product ID: 131287 Weight: 418 kg QIP (pcs): 54
OEM Ref. CROSS Ref.
lveco 41270462 Firestone 1T15LNR 45
Firestone Part No W01 M58 8663 (without piston)
Airtech 36686 P

meklas.com - meklas
e Jroup



CONNECT 16290-02

AIR SPRINGS

210265

9228

|
o7
78

h:380

M16x1.5

$130.8

Product ID: 131288 Weight: 4,34 kg QIP (pcs): 54
OEM Ref. CROSS Ref.
lveco 41270463 Firestone 1T15LNR 45
41031243 Firestone Part No W01 M58 8662 (without piston)
41214058 Airtech 36687 CPP (without piston)
41214814

meklas.com - meklas
e JrOuUp



CONNECT 16290-03

AIR SPRINGS

131289 210264
$228
M16x1.5
45 —
(O IKC; g
<] —
o %
s

’ £150.8

Product ID: 131289 Weight: 5,13 kg QIP (pcs): 48
OEM Ref. CROSS Ref.
lveco 41270465 Firestone 1T15LNR 45
Firestone Part No W01 M58 8661 (without piston)

meklas.com e meklas
e Jroup



CONNECT 16290-04

AIR SPRINGS

131290 210261
9225
00
;;ﬂi 9228
Jo A == 45
F——— R
€; (o))
+ &
=~ 00
o
5 M16x1.5
Product ID: 131290 Weight: 511kg QIP (pcs): 51
OEM Ref. CROSS Ref.
lveco 41270466 Firestone MI15LNR 45
Firestone Part No W01 M58 8660 (without piston)

meklas.com - meklas
e JrOuUp



CONNECT 16290-KPO1

AIR SPRINGS

161350 210262 220578

9228

38
\ % Q M1 4x2
] )

M16x1.5 130

%195

h:300

57
/8

Product ID: 161350 Weight: 5,84 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

lveco 41270462 Firestone 1T15LNR 45
Firestone Part No WQ0O1M58 8663
Phoenix 1DF 20 G-1
CF Gomma 1TS 270-23 /206686
Blacktech RML 70462 CP
Airtech 36686 CPP
Gart 290.1.390/D 290 BR

meklas.com - meklas
e Jroup



CONNECT 16290-KP02

AIR SPRINGS

161357 210265 220578
. 9228 _ $195
38 45 m
o ﬁ @m B 00
2 N
10 14x2
M16x1.5 M

Product ID: 161351 Weight: 5,99 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Iveco 41270463 Firestone 1T15LNR 45
41031243 Firestone Part No WQ0O1M58 8662
41214058 Vibracoustic V1E19-2
41214814 Blacktech RML 70463 CP
Airtech 36687 CPP
CF Gomma 1TS 270-23 /206687
Gart 2901.391/D 290 BR

meklas.com - meklas
e JrOuUp



CONNECT 16290-KP03

AIR SPRINGS

161352 210264 220578

3228 $195
45
o o]©° &
4 P S -
(@] o0l — 8
E 7 . L\L—j/g_J
8 m ' 7" 50 M14x2
o M16x1.5
Product ID: 161352 Weight: 5,84 kg QIP (pcs): 27
OEM Ref. CROSS Ref.
lveco 41270465 Firestone 1T15LNR 45
Firestone Part No W01 M58 8661
CF Gomma 1TS 270-23 /206684
Blacktech RML 70465 CP
Gart 2901.392/D 290 BR

meklas.com - meklas
e Jroup



CONNECT 16290-KP04

AIR SPRINGS

161353 210261 220578

6]
0]

T oo

45 0228

)
Q

84
129

h:300

M16x1.5

S B
?SY ©

|

50

Product ID: 161353 Weight: 6,69 kg QIP (pcs): 27
OEM Ref. CROSS Ref.
Iveco 41270466 Firestone 15 LNR 45
Firestone Part No WO0O1M58 8660
CF Gomma 1TS 270-23 /206685
Blacktech RML 70466 CP
Gart 290.1.393 /D290 BR

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

151306
9248

Nl

h:383

OEM Ref.

210016

$259

2xM10x1.5

Product ID: 131306 Weight: 4,37 kg

CROSS Ref.

QIP (pcs): 30

\olvo

20573312 Contitech
3171693 Airtech
3178706

3195 240

20573312

3171693

3178706

3195 240

6603 N P01 (without piston)

36312P

meklas.com

273

meklas
e group



CONNECT

AIR SPRINGS

161288 210016

9258

h:280

84

92.4

M10x1.5 —

64.5

M16x1.5

220102

198

Product ID: 161288 Weight: 8,75 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Volvo 20573312 Contitech 6603 N PO1
3171693 Goodyear 1R1-893
3178706 Goodyear Flex No 566-22-3-578
3195240 Blacktech RML73312C
20573312 Airtech 36312C
3171693
3178706
3195240
meklas.com meklas

274

e group



CONNECT 163608-01

AIR SPRINGS

151303 210182 310021

a

8264

M16x1.5) "

h:630

Product ID: 131303 Weight: 6,40 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Scania 1903608 Contitech 6700 N P02 (without piston)
1944314 Firestone 1T19LLI-14
Firestone Part No W01-M58-8535
WQ1-S05 9881
Goodyear 1R14-869
Goodyear Flex No 566-28-3-522
Airtech 34608 P
meklas.com - meklas

e Jroup



CONNECT 163608-KO01

AIR SPRINGS

161367 210182 220137

286 9226

$15
MW6XWS@
? o
00
155

M16x2

70|

h:430

Product ID: 161367 Weight: 12,28 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Scania 1903608 Contitech 6700 N P02
1944314 Firestone 1T9LLT -14
Firestone Part No W01-M58-8535
W01-S05 9881

Goodyear 1R14-869
Goodyear Flex No 566-28-3-522
Airtech 34608 P

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

131315 210171
2240
X 2258
92.3

14.7] |~ \
OI
19]

Ix

Mwexw.5)<
N Zke

160.2

h:370

50

£130.8

Product ID: 131315 Weight: 3,92 kg QIP (pcs): 48
OEM Ref. CROSS Ref.
Volvo 21513833 Contitech 6620 N PQO2 (without piiston)
70311683 Goodyear 1R12-823 (without piston)
21097433 Goodyear Flex No 566-24-3-539
21057936 Blacktech RML77433 C
Airtech 33833P
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

161281 210171 220099
3258
il ) = M12x1.5
— 210
75, >< 5
3 el
o g ki
& 92 50.5)
1 0

Product ID: 161281 Weight: 8,72 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Volvo 21513833 Contitech 6620 N PO2
7031683 Goodyear 1R12-823
21097433 Goodyear Flex No 566-24-3-539
21057936 Blacktech RML77433C
Airtech 33833C
meklas.com meklas

278

e group



CONNECT

AIR SPRINGS

131067 210041
. Iﬁlg 8228
2200 4x9228 17.5 40

g

m@gﬁr i
N 1
<

50

100

h:465

$130.8
Product ID: 131067 Weight: 3,86 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Volvo 1075 891 Contitech 6608 N P01 (without piston)
1076 416 Firestone 1T15UR-9
20374510 Firestone Part No W0O1-M58-8474
20456152 Goodyear 1R10-704
20531985 Goodyear Flex No 566-20-3-504
70321693 Phoenix 1DF17 B-1
20582 215 Vibracoustic VIDF16D-1
21961456 Blacktech RML 77527 C
Renault V. 7.422.071.639 Airtech 36416 P
Granning 92500
Gart 2951465/ C295/V
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

161081 210041 220021
8)
808 9228
0 4x9228 5 11D
X LS
< To' 3
. L §
© 50
47
30

Product ID: 161081 Weight: 6,60 kg QIP (pcs): 27
OEM Ref. CROSS Ref.
Volvo 1075 891 Contitech 6608 N PO1
1076 416 Firestone 1T15UR-9
20374 510 Firestone Part No WO01-M58-8474
20456152 Goodyear 1R10-704
20531985 Goodyear Flex No 566-20-3-504
70321693 Phoenix 1DF17 B-1
20582 215 Vibracoustic VIDF16D-1
21961456 Blacktech RML77527C
Renault V. 7422071639 Airtech 36416 C
Granning 92500
Gart 2951465/ C295/V
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

1310638

A,

9200

h:395

$130.8

210041

9228

M24x1.5

4x814.75 17.25
v/
e\ 15 | o
S 8
50

Product ID: 131068

M16x1.5

Weight: 3,84 kg

QIP (pcs): 48

OEM Ref. CROSS Ref.
Volvo 1076 418 Contitech 6607 N PO1 (without piston)
20374 51 Firestone 1T15UR-6
20 456 156 Firestone Part No WQ01-M58-8473
20531987 Goodyear 1R10-707
20582 214 Goodyear Flex No 566-20-3-507
3171695 Phoenix 1DF17 A1
70321695 Vibracoustic VIDF16C-1
21961451 Blacktech RML 77529 C
Airtech 36418 P
Granning 939
Gart 2951.400/C295/VA
meklas.com meklas

281

e Jroup



CONNECT

AIR SPRINGS

+ 0D @

161082 210041 220018

88 9228
8] 4x314.75

17.25

00

h:270
150
42.5

50|, M24x1.5
M16x1.5

Product ID: 161082 Weight: 6,32 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Volvo 1076 418 Contitech 6607 N P01
2037451 Firestone 1T15UR-6
20 456 156 Firestone Part No W01-M58-8473
20531987 Goodyear 1R10-707
20582214 Goodyear Flex No 566-20-3-507
3171695 Phoenix 1DF 17 A-1
70321695 Vibracoustic VIDF16C-1
21961451 Blacktech RML77529C
Airtech 36418 C
Granning 939N
Gart 2951.400/C295/VA
meklas.com . meklas

e group



®

CONNECT

AIR SPRINGS

131109 2100645
@205
//ﬁH 2228
(@ ‘J
8 s
m b
>
< ] 28 Mwexm5><?

2130.8

QIP (pcs): 30

Product ID: 131109 Weight: 4,16 kg

OEM Ref. CROSS Ref.

\olvo 1076 417

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

210041

9228

M24x1.5
M16x1.5

131080
4x$14.75
17.25
. 115N o
S o [T S
< 50

’ $130.8

Product ID: 131080

Weight: 3,72 kg

QIP (pcs): 30

OEM Ref. CROSS Ref.

Volvo 20531988 Contitech 6606 N P02 (without piston)
20582 212 Firestone 1TT15LNR-3.0
21961447 Firestone Part No W0O1-M58-8690
20427 804 Blacktech RML76420C
20427 805 Airtech 36420 P
20456158
20427802
20375228
1076 417

meklas.com meklas

284

e group



CONNECT

AIR SPRINGS

161083 210063 220028

170

h:240
i
57

h:110
—
¢
a
o
f

Product ID: 161088 Weight: 9,24 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

\olvo 1076 417

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

1612071

h:240

h:110
-

42.5

210041

M24x1.5
M16x1.5

220077

Product ID: 161201 Weight: 5,56 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Volvo 20531988 Contitech 6606 N PO2
20582212 Firestone 1T15LNR-3.0
21961447 Firestone Part No W0O1-M58-8690
20427 804 Blacktech RML 76420 C
20 427 805 Airtech 36420C
20456 158
20427 802
20375228
1076 417
meklas.com meklas

286

e group



CONNECT

AIR SPRINGS

131357

I ___n
p

$248

h:443

-

164560-02

210303

$228

M24x1.5
M16x1.5

$130.8
Product ID: 131357 Weight: 3,51kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Volvo 22058737 Contitech 4560 N PQO2 (without piston)
21224745 Airtech 34560 C(without piston)
meklas.com . meklas
e Jroup



CONNECT 164560-K02

AIR SPRINGS

161373 210303 220141

228 $196
L M24x1.5 o14
M16x1.5

h:330
162
—

M14x2

Product ID: 161373 Weight: 6,35 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
Volvo 22058737 Contitech 4560 N P02
21224745 Airtech 34560 C

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

131368 210303
3248 3228
M 161
7 \ M10x1.5 A 2
N0
(@)
+ 0
m —
N~
N)
£ M24x1.5
M16x1.5
I2130.8
Product ID: 131368 Weight: 3,08 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Volvo 22058738 Contitech 4561 N P02 (without piston)
21224746 Airtech 34561C (withpout pistan)

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161459 210303 220170

9228 3196

L M24x1.5 M1 4x2
: 5 M16x1.5 214

h:260

135

Product ID: 161459 Weight: 6,08 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
Volvo 22058738 Contitech 4561N P02
21224746 Airtech 34561C

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

131369 210303
248
Im=4 nfl 9228
161
X 26
M10x1.5 310
i 10
o i
M
£ v &8
M24x1.5
! M16x1.5
@WBO.S

Product ID: 131369 Weight: 3,07 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Volvo 22058739 Contitech 4562 N P03 (without piston)
21224747

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161372 210303 220144

9228 196

L M24x1.5 M14x2
o M16x1.5 214
e~ I (’b

h:240

122
—

Product ID: 161372 Weight: 5,94 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Volvo 22058739 Contitech 4562 N PO3
21224747

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

/,.»"’;> - --\‘

1531558 210303
©200 2228

M24x1.5

MIO0xT1.5 M16x1.5

h:468

Product ID: 131358 Weight: 3,02 kg QIP (pcs): 50
OEM Ref. CROSS Ref.
Volvo 22 058 741 Contitech 4570 N PQO2 (without piston)
Airtech 34570 C (without piston)

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161574 210304 220145

168
M10x1.5

= M14x2

h:280

164
—

214

Product ID: 161374 Weight: 5,75 kg QIP (pcs):

OEM Ref. CROSS Ref.

Volvo 21224749

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

161375 210303 220145

L M24x15 2168

30
M10x1.5 M16x1.5

M14x2

I

h:280
164
—

Product ID: 161375 Weight: 5,75 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Volvo 22 058 741 Contitech 4570 N PO2
Airtech 34570C

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

131371 210304

200

M24x1.5
M16x1.5

h:398

$130.8

Product ID: 131371 Weight: 3,07 kg QIP (pcs): 50

OEM Ref. CROSS Ref.

\olvo 21224 571

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

1313/2 210086
$228
H@ 161
M10x1.5 A 280
[t
00 (@)
A + ©
M24x1.5
M16x1.5
,&:/1/
$130.8
Product ID: 131372 Weight: 2,98 kg QIP (pcs): 50
OEM Ref. CROSS Ref.
Volvo 22 056 630 Contitech 4571N P 02 (without piston)
21224750 Airtech 34571 C (without piston)

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

1615/6 2103504 220145
3228
2168
M10x1.5 M14x2 )
814 =
o — N
N o
< ™M L
B \"&_mﬁ

Product ID: 161376 Weight: 5,50 kg QIP (pcs): 46
OEM Ref. CROSS Ref.
Volvo 21224571
meklas.com

o O meklas
e Qroup



CONNECT

AIR SPRINGS

161377

210303 220145

- M24x1.5 2168

M16x1.5 = M14x2

h:280
164
—

914

Product ID: 161377 Weight: 5,57 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
\olvo 22 056 630 Contitech 4571N P02
21224750 Airtech 34571C
meklas.com

- O meklas
e Qroup



CONNECT

AIR SPRINGS

131373

N

o rp

9248

h:333

£130.8

90
/0

Product ID: 131373

164580

Weight: 4,47 kg QIP (pcs): 45

OEM Ref.

CROSS Ref.

Volvo 21451172 Contitech 4580 N PO1 (without pistan)
Volvo 21451173 4580 N PQO2 (without piston)
meklas.com

- O meklas
e Jroup



CONNECT 164580-K
AIR SPRINGS

161371 210305 220146

N

224

175
130

h:310
90
—
g
=

189

Product ID: 161371 Weight: 10,09 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Volvo 21451172 Contitech 4580 N PO1
meklas.com - meklas

e Jroup



CONNECT 164580-KO01
AIR SPRINGS

161515 210305 220178

l

9226

216
gMTGxW.S

h:320

160
90

=)

Product ID: 161515 Weight: 9,21kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Volvo 21451173 Contitech 4580 N PO2
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161305

h:290

108

210170 220112
M16x1.5 #9258
M10x1.5 65
BN
< %{:ﬁ\:v:i\ N

Product ID: 161305 Weight: 8,45 kg QIP (pcs): 27
OEM Ref. CROSS Ref.
Volvo 20480202 Contitech 6602 N P02
20573113 Goodyear 1R12-843
21097 453 Goodyear Flex No 566-24-3-458
70313734 Blacktech RML76M3 C
70397 453 Airtech 3613C
70321079 Granning 93926
21041697
20480 202
2057313
21041697
21041697
21097 453
70313734
70397 453
70321079
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

151124 210094
2205

TEJﬁ_______g_D ®21.8 $205

— M16x1.5 150

53 2x914

o LO);
9 S
= 21

"

$130.8

Product ID: 131124 Weight: 3,57 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Volvo 20573108 Contitech 6604 N PO1 (without piston)
70321692 Firestone 1M15UR-4.0
70321690 Firestone Part No WQ01-M58-8470 (without piston)
Goodyear 1R1-890
Goodeyar Flex No 566-22-3-577
Phoenix 1DF17-1
Vibracoustic V1DF 16 E-1
Blacktech RML 73108 C
Airtech 36108 P
Granning 93919
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161128 210094
$21.8 9228 514
M16x1.5 —
21
3 g 2 A
P 60

2200583

$197

Product ID: 161128 Weight: 5,70 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Volvo 20573108 Contitech 6604 N PO1
70321692 Firestone 1T15UR-4.0
70321690 Firestone Part No W01-M58-8470
Goodyear 1R1-890
Goodyear Flex No 566-22-3-577
Phoenix 1DF17-1
Vibracoustic V1DF 16 E-1
Blacktech RML 73108 C
Airtech 36108 P
Granning 93919
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

131251 210170

h:320

£130.8

Product ID: 131251 Weight: 4,50 kg QIP (pcs): 50

OEM Ref. CROSS Ref.

Volvo 21026175

meklas.com ‘oe meklas
e JrOuUp



CONNECT

AIR SPRINGS

131314 210112
2248

h:477

7130.8
Product ID: 131314 Weight: 4,89 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Volvo 20554 760 Contitech 6612 N P01 (without piston)
20580705 Blacktech RML 74760C
21961472 Airtech 36760 P
20479 800
20452142

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161222 210112 220008

9228 9228

M10x1.5

h:355

163

Product ID: 161222 Weight: 9,34 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
\olvo 20554760 Contitech 6612 N PO1
20580705 Blacktech RML 74760C
21961472 Airtech 36760 P
204739 800
20452142

meklas.com \oe meklas
e JrOuUp



CONNECT

AIR SPRINGS

161221 210016

Il
= Ne—

W

M16x1.5

h:355

190
—

220085

9190

Product ID: 161221 Weight: 8,60 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Volvo 20554770 Contitech 54770 M
3173271 Vibracoustic V1DF 22 C-3
Blacktech RML 74770 C
Airtech 36770C
Granning 93930
Gart 2931.461- C293/V
meklas.com
309

O meklas
e group



CONNECT

AIR SPRINGS

131079 210093
’7% ) 2258
160
M)
M | © ™
N | 20
< M12x1.75
M22x1.5
115.

Product ID: 131079 Weight: 3,97 kg QIP (pcs): 28

OEM Ref. CROSS Ref.
Scania 1440302

470921 Contitech 724 N PO1 (without piston)

488266 Goodyear R1-71
Gigant 3053 Goodeyar Flex No 566-22-3-504

166225 Blacktech RML7835

Aitrtech 3724 P
meklas.com meklas

310

e group



CONNECT

AIR SPRINGS

161187 210093 190008
ﬂ . LL 0258
/ 3 — M20x1.5 WA
S - AR

H?b M12x1.75 ‘ ho!

190
€
C

Product ID: 161187 Weight: 12,40 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Gigant 3053 Contitech 724 N P02
166225 Goodyear R1-71
Goodyear Flex No 566-22-3-504
Airtech 3724C
Granning 16101
Blacktech RML 7835 C2
meklas.com meklas

3M

e Jroup



CONNECT

AIR SPRINGS

151100 210028
@300
»311
220
—=A)
o M22x1.5
o)
e -+
M)
) 20|
< 2xM12x1.75
8171.1

Product ID: 131100 Weight: 5,25 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
Gigant 246149 Contitech 725 N PO1 (without piston)
3653 Firestone 1T66F-10.8
Firestone Part No W01-M58-83969
Goodyear 1R14-704
Goodyear Flex No 566-28-3-502
Phoenix 1DF 32
Vibracoustic VIDF32-246149
Airtech 3725P
Taurus UR 836-11
Dunlop D14U38
CF Gomma 1TCS360-45 / 202964
Gart C292/S5-292.0533
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161002

ni==ig

h:415

173

210028

$311

$220

95

+

M22x1.5

2xM12x1.75

1900238

Product ID: 161002 Weight: 17.25 kg QIP (pcs): 18

OEM Ref. CROSS Ref.
Contitech 725N P02

R.O.R Meritor MLF7103 Firestone 1T66F-10.8

Gigant 166217 Firestone Part No WO01M58 8969

246149 Goodyear 1R14-813
Goodyear Flex No 566-28-3-501
Vibracoustic V1DF32-166217
Blacktech RML7836C2
RML7836C5
Airtech 3725C
Granning 15867
Gart 2921534/C292/S
meklas.com meklas

313

e Jroup



CONNECT

AIR SPRINGS

161001 210028 190027
9311
8253
220
M22x1.5 120

2xM12x1.75

h:415

G
O
43
M16x2

176

Product ID: 161001 Weight: 1706 kg QIP (pcs): 18
OEM Ref. CROSS Ref.
Contitech 725N PQO3
R.O.R Meritor MLF7105 Firestone 1TE6F10.8
Gigant 166525 Firestone Part No W01M588610
Goodyear 1R14-814
1R14-756
Goodyear Flex No 566-28-3-501
Phoenix 1DF 32-1
Vibracoustic V1DF 32
Blacktech RML 7836 C4
Airtech 3725-01C
Granning 15868
Gart 2921533/ C292/S
meklas.com meklas

314

e group



CONNECT

AIR SPRINGS

161442

M22x1.5

2xM12x1.75

h:415

176

210028

2311

190027

8253

4xM16x2

95

S

Product ID: 161442 Weight: 15,34 kg QIP (pcs): 27
OEM Ref. CROSS Ref.
Gigant 3653
166263
meklas.com

315

O meklas
e group



CONNECT

AIR SPRINGS

161460 210028 190027

6311 9253
$220

M22x1.5 4xM16x2

2xM12x1.75

95

h:415

176

Product ID: 161460 Weight: 15,50 kg QIP (pcs): 27
OEM Ref. CROSS Ref.
Gigant 3653
166263
meklas.com meklas

316

e group



CONNECT

AIR SPRINGS

161446 210028 190032
‘ 2311 2256
n n 210
e e
2 -
Jan) M12x1.75 ‘ = =
H“\F\‘ & 4xM16x2 45
M22x1.5
\_

Product ID: 161446 Weight: 20,21kg QIP (pcs): 20
OEM Ref. CROSS Ref.
BPW 05.429.41.38.0 Contitech 942 MB
05.429.41.69.0 Phoenix 1DK 32 L1
Granning 15903 Airtech 3942-01K
Haffermann 6-AB8003-0300 Blacktech RML7053C
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

131313 210021 310008

o )

9200

M14x1.5

73

h:585

M12x1.75

Product ID: 131313 Weight: 7,80 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Scania 1314904 Firestone TISLUXM
1865753 Firestone Part No WQ01-M58-7315 (without piston)

R.O.R Meritor MLF7033 Goodyear 1RN-828 (without piston)
Goodyear Flex No 566-22-3-544
Airtech 37315P
Granning 15601
Blacktech RML77315C

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161397 210021 220151

M14x1.5

73

h:430

M10x1.5

Product ID: 161397 Weight: 11,22 kg QIP (pcs): 35

OEM Ref. CROSS Ref.

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

161113 210021 220524

h:430

Product ID: 161113 Weight: 7,29 kg QIP (pcs): 35
OEM Ref. CROSS Ref.
Scania 1314904 Firestone TISLUXM
1865753 Firestone Part No W01-M58-7315

R.O.R Meritor MLF7033 Goodyear 1R11-828
Goodyear Flex No 566-22-3-544
Airtech 37315P
Granning 15601
Blacktech RML77315C

meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161470 210356 220176
6228
139.7 5240
102,
180 M12x1.75
o w3.5% M16x1.5H6
S AL CSIE
g %
) £69.85 M12x1.75
!

Product ID: 161470 Weight: 10,52 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
lveco 50417415 Vibracoustic VID23G-5
500042592 Blacktech RML 77415 C

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161470 210356 220176

228
139.7

102. M12x1.75
180 M12x1.75
- 13.5% M16x1.5H6
2 e X‘ o
N yaN yay o,
| B
mn TarT
0
69.85 M12x1.75

Product ID: 161514 Weight: 10,50 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Hendrickson HS508385 Vibracoustic V1D23 G-4WB
lveco 50418867

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

161474 210028 190035
| | ‘ 2310
( ) 220
M22x1.5
g | T
& U M12x1.75

Product ID: 161474 Weight: 18,66 kg QIP (pcs): 15
OEM Ref. CROSS Ref.
Gigant 166228 Contitech 752 N P02
3671 Airtech 3752-02C
Blacktech RML7863 C

meklas.com s meklas
e Jroup



CONNECT

AIR SPRINGS

161089

h:285

M16x1.5
M10x15

@

210016

220029

$197

Product ID: 161089 Weight: 6,99 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Volvo 20554772 Contitech 7783 N
3987782 57772 M
20427783
meklas.com

324

O meklas
e group



CONNECT

AIR SPRINGS

131069 210041

228

4x314.75

$248 47

M24x1.5

100

h:448

1 I
91308

Product ID: 131069 Weight: 3,75 kg QIP (pcs): 36

OEM Ref. CROSS Ref.
Renault 7422071638 Contitech 6605 N PO1 (without piston)
Volvo 1075890 Firestone 1T15LNR-6

20375226 Firestone Part No WQ01-M58-8472

20427 800 Goodyear 1R1-805 (without piston)

20456150 Goodyear Flex No 566-22-3-535

20531984 Phoenix 1DF 20 D1

1076 415 Vibracoustic V1DF 20 B-1

20582 206 Blacktech RML 78914 C

21961974 Airtech 37803 P

20427 803 Granning 93914

Gart 2941430/ C294/V
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161087 210041 220027
$200
88 915x4 el
B 17 47
| 3
3 < 3
M 50 | X
Lﬁb M24x1.5 it 2
2 M16x1.5

Product ID: 161087 Weight: 7,26 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Renault 7.422.071638 Contitech 6605 N PO1
Volvo 1075890 Firestone 1TT15LNR-6
20375226 Firestone Part No WO01-M58-8472
20427 800 Goodyear 1R1-805
20456150 Goodyear Flex No 566-22-3-535
20531984 Phoenix 1DF 20 D1
1076 415 Vibracoustic V1 DF 20 B-1
20582 206 Blacktech RML 78914 C
21961974 Airtech 37803 P
20427 803 Granning 93914
Gart 2941430/ C294/V
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

131070 210041
88
?\L\» $228
$248 4x314.8 47
5 17.25
2 ? 50

M24x1.5

M16x1.5
Product ID: 131070 Weight: 3,81kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Volvo 20375227 Contitech 6606 N P01 (without piston)
20 456 154 Firestone 1TT15LNR-3
20531986 Firestone Part No WQ01-M58-8477
20427 801 Goodyear 1R11-848 (without piston)
20582 209 Goodyear Flex No 566-22-3-553
21961443 Phoenix 1DF 20 EA1
21961443 Vibracoustic VIDF20A-1
20427 805 Blacktech RML 77804 C
20427 804 Airtech 37804 P
Granning 93910
Gart 2941.340/ C294/VA
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161083 210041 220019

j 9228 3200
=i . ?15X4 47
r 1,284
L ]
20 ’ M14x12 6g

\HJL/ M24x1.5
M16x1.5

8Q

h:270

155

42.5

Product ID: 161083 Weight: 718 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Volvo 20375227 Contitech 6606 N PO1
20456 154 Firestone TT15LNR-3
20531986 Firestone Part No W01-M58-8477
20427 801 Goodyear 1R11-848
20582 209 Goodyear Flex No 566-22-3-553
21961443 Phoenix 1DF 20 E-1
21961443 Vibracoustic VIDF20A-1
20427 805 Blacktech RML 77804 C
20427 804 Airtech 37804 P
Granning 93910
Gart 2941.340/ C294/VA
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

1531224 210041
$238
ﬁ m 9228
o— ————p
4x914.75
402 17 M24x1.5
M R~ ¢ M16x1.5
5 la) S
= 50
1 -
Product ID: 131224 Weight: 3,65 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Volvo 20427 802 Contitech 7802 M (without piston)
20456158 Airtech 37805 C (without piston)
20456 158
20531988
meklas.com

. O meklas
e Jroup



CONNECT

AIR SPRINGS

161259 210041 220093

ﬁ $228
B 17

h:270
42.5
im}
38047

119.5
(__.
O
o

M24x1.5
M16x1.5

aﬁb

Product ID: 161259 Weight: 6,35 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
\olvo 20427 802 Contitech 7802 M
20456158 Airtech 37805C
20456158
20531988

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

161521

h:315

210071

0228

10Q

/6.58

r\‘ M10x1.5
|
|
/

022
M16x1.5

220553

Product ID: 161521 Weight: 5,58 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
DAF 1698 436 Contitech 792 N PO1
1448 543 Vibacoustic V1DK20C-8
1529836
meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

161518 220579 220333
0228
100 2240

| M12x1.75

: M12x1.5
ﬁﬁ
M22x1.5
nM

6 .58

315
/

121.5

Product ID: 161518 Weight: 5,58 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
DAF 1793526 Contitech 792 N P02
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

131002 210010
8286

$265

M22x1.5

4xM12x1.75

Product ID: 131002 Weight: 4,90 kg QIP (pcs): 24

OEM Ref. CROSS Ref.

M.AN 81436010042 Contitech 810 MB/O

ROR 2120 8082 (servise assembly) Firestone 1T19L-7

21215632  (servise assembly) Firestone Part No WQ01-095-7237

SAF 2918 (servise assembly) Goodyear 1R14-868
Goodyear Flex No 566-28-3-548
Phoenix 1D 28 A-5NP
Vibracoustic VID28A-5 NP
Blacktech RML7921
Airtech 3810P
Dunlop PNP307520000

meklas.com . meklas

e Jroup



CONNECT 1810-02
AIR SPRINGS

131339 210342
3265 ‘ 0786
7 5 =5 M22x1.5 210
b 25
< 2xM12x1.75

$156.5

Product ID: 131339 Weight: 4,80 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

meklas.com - meklas
e JrOuUp



CONNECT 1810-05
AIR SPRINGS

131107 210004
8265
2286
n
(0)]
Te) O
2
T 25|
M12x1.75
2156.5

Product ID: 131101 Weight: 4,22 kg QIP (pcs): 24

OEM Ref. CROSS Ref.

meklas.com e meklas
e Jroup



CONNECT 1810-16

AIR SPRINGS

131335 210004
9265
$286
L A I () M22x1.5 210
7o)
mn & (o))
M
<
< 25
2xM12x1.75 = M16x1.5
7

Product ID: 131335 Weight: 5,49 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

161004

h:340

143

210010

220001

$260

Product ID: 161004 Weight: 10,12 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Weweler 21208082/ US 00622/ US 07337/ Contitech 810 MB
US 87413/ US 87413 / US 874131 Firestone TI9L-7
DAF 1384273 Firestane Part No. WO1-M58-6345
Granning 15635 WOI-M58-8775
Hendrickson 506 243 /506 243/01
Neway 21215632 Goodgear 1R14-716
ROR 2120 8082 / 21215632 Goodyear Flex No 566-28-3-548
Renault V.| 5.000.452.939 Vibracoustic VID28A-2
SAF Holland 2.228.0002.00/ 2.228.2102.00/ Phoenix 1D28A-2
2.228.2202.00/2.228.2402.00/ Blacktech RML 7921C
2.228.2602.00/2.228.0002.00/ Airtech 3810C
2918
Trailor 650 4646 G Dunlop O0984A-AP
Trouillet HB10 315 CF Gomma 87413/1
Volvo 1080707 1T19E-1
Scania 1723502 Gart 277.4.420/D277/B
meklas.com meklas

337

e Jroup



CONNECT 1810-KO1

AIR SPRINGS

161212 210010 2200071

h:340

Product ID: 161212 Weight: 11,00 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Daf 1384273 Firestone m9oL-7
Granning 15635 Firestone Part No W01-M58-6345
Hendirckson 506243 Goodyear 1R14-716
Ranault V. 5000452939 Phoenix 1D 28A-2
SAF 2.229.2602.00 Blacktech RML 7921C1
2.229.2102.00 Airtech 391320C
2.228.0002.00 Dunlop D13B0O1/ PNP311780000
Trailor 650 4646 G CF Gomma 1T19E1
Trouillet HB10315 87413/1
York 506243/01
Volvo 1080 707
meklas.com - meklas

e group



CONNECT 1810-K03
AIR SPRINGS

161208 210010 220002

260

=

h:340

178

Product ID: 161208 Weight: 11,20 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

meklas.com - meklas
e Jroup



CONNECT 1810-K16
AIR SPRINGS

161290 210004 220103
M22x1.5 $286 8260
ﬂ ﬂ4 210 45

25

h:280
140
~_IC | ¢
; i)
95
70

M12x1.75

M16x2

Product ID: 161290 Weight: 12,99 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

1810-KP

161005 220526

210010

M22x1.5

M12x1.75

h:340

Product ID: 161005 Weight: 8,28 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Weweler US 07337F Contitech 810 MB
SAF 2.228.0002.00 Firestone m9L-7
2.229.0002.00 Firestone Part No WQ01-M58-8775
R.O.R Meritor 21215632 Goodyear 1R14-716
21208082 Goodyear Flex No 566-28-3-548
Vibracoustic VID28A-2
Phoenix 1D28A-2
Blacktech RML7921C
Airtech 3810 CPP
Dunlop 00984A-AP
CF Gomma 87413/1
1TT19E-1
Gart 277.4.420/D277/B
meklas.com meklas

34

e Jroup



CONNECT

AIR SPRINGS

151003 210035 310001
0265

&75 — P

h:511

M12x1.5

g/

Product ID: 131003 Weight: 6,52 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Battaglino 221400 Contitech 811 M16
DAF 0067452 Firestone TT9L-1
R.O.R Meritor 21215633 Airtech 3811-02 P
21122239 Dunlop D14B51

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

131005 210004 310001
M 9286
M22x1.5 210
- M12x1.75| o
o P

T
U% M12x1.5

Product ID: 131005 Weight: 6,10 kg QIP (pcs): 24
OEM Ref. CROSS Ref.
Firestone T1SL-N
Airtech 381M-01P

meklas.com s meklas
e Jroup



CONNECT

AIR SPRINGS

131006 210024
% ‘ 9286
M10x1.25
50..100
/_\

»

h:511
175.2
200

90

M22x1.5

\ 2156.5_, /

$265

Product ID: 131006 Weight: 6,10 kg

OEM Ref. CROSS Ref.

QIP (pcs): 22

Daf 0067306-526823 Contitech 811 MB (without piston)
Evo-Bus 4731029000 Firestone 1T9L-1M
Goodyear 1R14-718
Goodyear Flex No 566-28-3-503
Blacktech RML73922C (without piston)
Airtech 381P
CF Gomma 1T19E-2
203878
meklas.com » meklas

e group



CONNECT

AIR SPRINGS

131007 210092 310001
@ | 286
M22x1.5

180

0

- I o E

2 10

M10x1.25
M16x1.5
gl
P265

Product ID: 131007 Weight: 6,50 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

Firestone TM9L-M

meklas.com e meklas
e Jroup



CONNECT

AIR SPRINGS

151004 2100273

o l—15 | 2286

M10x1.25 5200
a

- ol o

D 921.8 90_|_1004 | §
M16x1.5

\\ _2156.5_ /

9265

Product ID: 131004 Weight: 5,90 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Contitech 811 M16
Firestone TI9F-M

meklas.com ” meklas
e JrOuUp



CONNECT

AIR SPRINGS

161008 210035

M22x1.5

h:400

220002

Product ID: 161008 Weight: 11,55 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Battaglino 2211400 Airtech 38N1-05C
R.O.R Meritor 212222 39
meklas.com " meklas
e Jroup



CONNECT

AIR SPRINGS

161010 210004
M22x1.5 ) P286
210
S - T
s 25)
M12x1.75

220002

Product ID: 161010 Weight: 11,55 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Schmitz 015323 Airtech 3811-01C
Weweler Us 04028 Blacktech RML 7922 C1
meklas.com
348

O meklas
e group



CONNECT

AIR SPRINGS

210024 220002

9286

M10x1.25

h:400

178

Product ID: 161011 Weight: 15,76 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Renault V. 5.000.745.918 Contitech 811 MB
Daf 1384 274 Firestone TMSL-M
Firestone Part No WQO1M58 6359
Goodyear 1R14-718
Goodyear Flex No 566-28-3-503
Blacktech RML7922C
Airtech 381C
Dunlop D13B34
CF Gomma 203878
1T19E-2
Gart 2774.506/D277
meklas.com s meklas

e Jroup



CONNECT

AIR SPRINGS

161012 210035 220002

M22x1.5 0286 9260

| 1

M12x1.75

h:400

178

Product ID: 161012 Weight: 11,20 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

Battaglino 2211400 Firestone 1T19LM

R.O.R Meritor 212222 39 Firestone Part No W01 M58 7320

21215633 Goodyear 1R14-721/ D14B51
Airtech 3811-02C
Blacktech RML 7922 C2
Gart 2874522 /D287
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161009 210023 220002

9286

$21.8
M16x1.5

$200

h:400

Product ID: 161009 Weight: 10,78 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

Airtech 381-03C

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

131008 210010

y ‘ 286
M22x1.5

M12x1.75

h:511

9265

Product ID: 131008 Weight: 5,08 kg QIP (pcs): 24

OEM Ref. CROSS Ref.

SAF-Holland 2923 Service Assembly Contitech 813 MB/O
Firestone 1T1SL-N
Firestpone Part No W01M58 7238
Goodyear 1R14-867
Goodyear Flex No 566-28-3-547
Phoenix 1D 28B-5NP
Vibracoustic V1D28B-2 NP
Blacktech RML7924
Airtech 3813P

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

131309
2265
I

210010

9286

q = D
] M22x1.5

h:511

4xM12x1.75

158.8

158.8

250013

Product ID: 131309 Weight: 5,30 kg QIP (pcs): 24

OEM Ref. CROSS Ref.

SAF-Holland 2923 Service Assembly Contitech 813 MB/O
Firestone 1T19L-N
Firestpone Part No W01 M58 7238
Goodyear 1R14-867
Goodyear Flex No 566-28-3-547
Phoenix 1D 28B-5NP
Vibracoustic V1D28B-2 NP
Blacktech RML7924
Airtech 3813P

meklas.com meklas

353

e Jroup



CONNECT

AIR SPRINGS

161013

h:400

178

210010

9286

M22x1.5

220002

Product ID: 161013 Weight: 10,86 kg QIP (pcs): 22
OEM Ref. CROSS Ref.

Granning 15634 Contitech 813 MB

Hendrickson 505 859 /505 859/01/ 785170 Firestone 1T9LM

Kassbohrer 4.731.030.000/ 4.731.033.000 Firestone Part No WO01-M58-6364

PaulNFZ p2700MB0813 WO1-M58-6339

Pegaso 175005 Goodyear 1R14-705

Renault VI 5.000.790.692 / 5.010130.925 1R14-857

SAF Holland 2.229.0003.00/2.229.0010.00/ Goodyear Flex No 566-28-3-547
2.229.2103.00 / 2.229.2403.00 / 566-28-3500
2.229.2603.00 Phoenix 1D28B-2

Titan 916 8770 0000 Vibracoustic V1D28B-2

Trailor 003 6158 E / 6502 3482 Blacktech RML 7924 C

Trouillet ST 225-675 Airtech 3813C

Viberti 128147122 / 644 285 Dunlop 00985A-AP

Weweler US 07345 / US 87408 CF Gomma 87408

ROR 21215633 1T9E-2

Scania 1723269 Gart 2774.500/D277

meklas.com meklas

354

e group



CONNECT

AIR SPRINGS

161014 210010 220527

M22x1.5

M12x1.75

h:400

178

Product ID: 161014 Weight: 8,93 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
- Contitech 813 MB (compoasite piston)
Firestone TM9L-M
Firestone Part No W01-M58-6339
Goodyear 1R14-711
Phoenix 1D28B-2
Blacktech RML 7924 CP
Airtech 3813 CPP
CF Gomma 1T19E-2
87408
Dunlop PNP311770000
D13B19
Taurus KR 622-26
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

1311352 210036 310010
9254
19— UR M22x1.5
9228
150
M10x1.5 M12x1.75

h:503

A%

Product ID: 131132 Weight: 4,84 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
Firestone T15MPW-9
Firestone Part No WO01-M58-6257
Goodyear 2R12-748 / D12U23
Phoenix 1DK 20 B-1NP
Vibracoustic VIDK20B-1NP

meklas.com e meklas
e JrOuUp



CONNECT 18185-KP

AIR SPRINGS

161137 210036 220011

M22x1.5 9228 3260

M10x1.5

5ol

h:400

M12x1.75

Product ID: 161137 Weight: 7,06 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

Weweler US 06285 Contitech 4158 N P03

Schmitz 750999 Firestone T15MPW-9

014 892 Firestone Part No WO0O1M58 8185

Scania 2198334 Goodyear 1R12-749
Phoenix 1DK 20 B-1
Vibracoustic V1DK20B-1
Blacktech RML 75269 CP
Airtech 38185 CPP

meklas.com - meklas

e Jroup



CONNECT 1836-01

AIR SPRINGS

131009 210017
6265 $259
b Y_ﬂ,—(% M16x1.5 8Q., 70 M10x1.5
» ik 85,
< o) 155

$150.8

Product ID: 131009 Weight: 3,70 kg QIP (pcs): 54

OEM Ref. CROSS Ref.

Daf 0067504 Contitech 836 M

VDL Bus 0067504 Firestone 1T17AR-4.5
Firestone Part No WQ01-D08-0776

WO01- M58-0776
Goodyear 1R12-700
Goodyear Flex No 566-24-3-500
Vibracoustic VIDF25-1
Phoenix 1D 25-1NP
Blacktech RML7947
Airtech 3836 P
meklas.com - meklas

e group



CONNECT 1836-02

AIR SPRINGS

151010 210018
$265 $259
1 |-
— M16x1.5 M10x1.5
0 "
N
< S
$150.8

Product ID: 131010 Weight: 3,62 kg QIP (pcs): 54
OEM Ref. CROSS Ref.
Daf 0513982 Contitech 836 M2
VDL Bus 0513982 836 M2K8
Firestne 1T17AR-4.55
Firestone Part No W01-M58-0777
Goodyear 1R12-710
Goodyear Flex No 566-24-3-500
Phoenix 1DF 25-3 NP
Vibracoustic V1DF 25-3
Blacktech RML7947-2
RML 7947C7
Airtech 3836-02P
Gart C302
302.0.378/2
Dunlop D13U31
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

=
INN
03
—

131011

9265

[
)\

h:375

$150.8

1836-04

210019

9259

80_. 70
M16x1.5
Ny
1

! 155
M10x1.5

110

Product ID: 131011 Weight: 4,23 kg QIP (pcs): 54

OEM Ref. CROSS Ref.

Daf 0513985 Contitech 836 MB

VDL Bus 0513985 Firestone 1T17AR-4.5
Firestone Part No W01-M58-0775
Goodyear 1R12-764
Goodyear Flex No 566-24-3-500
Phoenix 1DF 25-4 NP
Vibracoustic VIDF25-4
Blacktech RML7947-1
Airtech 3836-01P
Dunlop D12U27

meklas.com meklas

360

e group



CONNECT 1836-10

AIR SPRINGS

131321 210324
3265
7 | J,L{% 2258

G

375

M22x1.5

110

2xM10x1.5

L

©150.8

Product ID: 131321 Weight: 3,68 kg

QIP (pcs): 30

OEM Ref. CROSS Ref.

Daf 1794 420 Contitech 836 N P10 (without piston)

Phoenix 1DF23A-4
Firestone 1T17AR-4.5
Firestone Part No W01-M58-8368
Goodyear 1R12-849
Goodyear Flex No 566-24-3-548
Blacktech RML 7947 C10

meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

131284 210199

$265

9258

$22M16x1.5

h:375

Lol
S

2150.8

Product ID: 131284 Weight: 4,30 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

meklas.com o meklas
e JrOuUp



CONNECT 1836-KO1

AIR SPRINGS

161015 210017 220003

9259 9225
150

M16x1.5
M10x1.5

h:270

135
—

M16x2

Product ID: 161015 Weight: 710 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Daf 0388165 Contitech 836 MK
1529 833 Firestone 1T17AR4.5
1697 678 Firestone Part No WO01-M58-8722
Goodyear 1R12-712
Goodyear Flex No 566-24-3-500
Phoenix 1DF 25-1
Vibracoustic VIDF25-1
Blacktech RML 7947 C1
Airtech 3836C
Gart 3021.375
C302
Dunlop D13B32
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

210018

161016

(@]
N ’\h ©
= -

M16x1.5 #258
M10x1.5

135

1836-K02

2200035

225

M16x2

Product ID: 161016 Weight: 710 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

Daf 0388167 Contitech 836 M2 K1

R.O.R Meritor MLF7059 Firestone 1T17AR-4.5
Firestone Part No W01-M58-8721
Goodyear 1R12-711
Goodyear Flex No 566-24-3-500
Phoenix 1DF 25-13
Vibracoustic VIDF25-13
Blacktech RML7947-2C1
Airtech 3836-02C
Granning 15996
Gart 3021.375/2

C302
Dunlop D13B31
meklas.com meklas

364

e group



CONNECT 1836-K04

AIR SPRINGS

161017 210019 220024

9226

h:270

M16x2

Product ID: 161017 Weight: 914 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

VDL BUS 0377498 Contitech 836 MB K4
Firestone 1T7AR-4.5
Firestone Part No W01-M58-8705
Phoenix 1DF 25-14
Vibracoustic VIDF25-14
Blacktech RML 7947 04
Airtech 3836-04C
Granning 17060

meklas.com - meklas

e Jroup



CONNECT 1836-K06

AIR SPRINGS

161018 210017/ 220064
$258 9225.5
h i
M16x1.5 M10x1.5
S , el o
o + i

139
(-
D
o
[o)]

= m = = M16x2

Product ID: 161018 Weight: 914 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

VDL BUS 0526 651 Contitech 836 MB K6

Daf 0526 651 Firestone 1T7AR-4.5
Firestone Part No W01-M58-8701
Goodyear 1R12-768
Goodyear Flex No 566-24-3-500
Phoenix 1DF 25-15
Vibracoustic VIDF25-15
Blacktech RML 7947 C6
Airtech 3836-06C
Granning 17061

meklas.com - meklas

e group



CONNECT 1836-K07

AIR SPRINGS

161230 210019 220060
$21.8
9258 9225
0 1 M16x1.5 =
. ( M16x1.5
2 At + ) 9
o % 28] o)
. [fl N

Product ID: 161230 Weight: 8,35 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

Daf 0297721 Contitech 836 M K7
Firestone 1T7AR-4.5
Firestone Part No W0O1-M58-8715
Goodyear 1R12-723
Vibracoustic VIDF25-12
Phoenix 1DF 25-12
Blacktech RML 7947 C7
Granning 15990

meklas.com . meklas

e Jroup



CONNECT 1836-K09

AIR SPRINGS

161403 2103235 220153
$258
150 8225
33 20
o [ 5
5 o -
S’)h M M10x2
== 2xM16x1.5

Product ID: 161403 Weight: 710 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Daf 1622849 Contitech 836 N P09
1697683 Firestone 1T17AR-4.5
Firestone Part No WO01-M58-8364
Airtech 3836-09C

meklas.com o meklas
e JrOuUp



CONNECT 1836-K10

AIR SPRINGS

161404 210324 2200045
9258
M22x1.5. 157.5 9225
- Lp\_ﬁ_ﬁ 2xM10x1.5 >f="2| 70.02 e

Product ID: 161404 Weight: 710 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Daf 1794 420 Contitech 836 N P10
Goodyear 1R12-849
Goodyear Flex No 566-24-3-548
Phoenix 1DF23A-4
Blacktech RML 7947 C10

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

161321 210199 220121
922 8259
M16x1.5 8200 8218
N ¢ o
o ‘
/
M24x3
M10x1.5

Product ID: 161321 Weight: 8,15 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

BMC 53RS900061 Blacktech RML 7947 C11

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

161469 210356 220175
1392
180 102.2 s

h:317

C (2]

n
aq]
©
+
(<]
90
165
(o]
[e]

145

Product ID: 161469 Weight: 10,34 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
lveco 504108867 Airtech 38439 C
Hendrickson HS508385 Blacktech RML78385C

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

1531012
0 0
15 L= 1)
?300

h:529

210005

2311

210

95

M12x1.5
M22x1.5

310027

M16x2

Product ID: 131012 Weight: 6,78 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
BPW 05.429.40.010 Contitech 881MB
Schmitz 750228 Firestone 1T66D-10.8
Scania 2338883 Firestone Part No W01-M58-8978
Goodyear 1R14-708
Goodyear Flex No 566-28-3-501
Phoenix 1DK 32
Vibracoustic VIDK32
Blacktech RML7992
Airtech 3881P
CF Gomma 1TC3360-45
Dunlop D14 U36
Gart 292.0.532
C292
meklas.com meklas

372

e group



CONNECT

AIR SPRINGS

h:415

191
C
C

210005

2311

M16x2

190003

0256
120

(¢] [eXe,

co@oo

45
80

Product ID: 161019 Weight: 16,90 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
BPW 05.429.40.611(36) Firestone 1T66F-10.8
Firestone Part No W01-M58-8966
Goodyear 1R14-712
Goodyear Flex No 566-28-3-501
Phoenix 1DK 32-1
Vibracoustic VIDK32 X9
Blacktech RML7992C
Airtech 3881-01C
Dunlop D14B36
Granning 15917
CF Gomma 1TC 360-45 /205800
Gart 292.2.530
C292
meklas.com meklas

373

e Jroup



CONNECT 1881-KO1

AIR SPRINGS

161169 210005 190003
0 0 ‘ 2311
) 210
3 " M12x1.5 } 05 o<
< U}a M22x1.5
o U U
DDﬁDD

Product ID: 161169 Weight: 1700 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
BPW 05.429.40.010 Contitech 881MB
36 Firestone 1TB66F-10.8
Wabco 9518147080 Firestone Part No W01-M58-8978
Goodyear 1R14-708
Phoenix 1DK 32
Airtech 3881C
CF Gomma 1TC 360-45
204530
Dunlop D14U36
meklas.com - meklas

e group



CONNECT 1881-KP

AIR SPRINGS

161021 210005 190503

Il | ‘ @311

h:476

191
C

Product ID: 161021 Weight: 13,64 kg QIP (pcs): 18
OEM Ref. CROSS Ref.
Huffer Man 6-AB8003-0100 Contitech 881MB P30
Schmitz 750 496 Firestone 1T66F10.8
751549 Firestone Part No WQ01-M58-8667
FAGO41-018 Goodyear 1R14-748
BPW 05.429.43510 Goodyear Flex No 566-28-3-501
Scania 2198330 Phoenix 1DK 32-2
Vibracoustic VIDK32 Y9
Blacktech RML 7992 CP
Airtech 3881-01CPP
CF Gomma 206357
1TC 360-45
Gart 2922532
C292
meklas.com - meklas

e Jroup



CONNECT 1881-KPO1

AIR SPRINGS

161173 210005 190503

09252
| l ‘ @311 120
70

e

oo@oo
oo /o,e“j

o 09l

h:476

45

80
/

191

Product ID: 161173 Weight: 13,72 kg QIP (pcs): 18
OEM Ref. CROSS Ref.
BPW 05.429.43.510 Firestone 1TE6F10.8
Firestone Part No W01-M58-8667
Goodyear 1R14-748
Goodyear Flex No 566-28-3-501

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

131071

®200

1

h:395

$130.8

210071
9286
922 76_ 58
M16x1.5 M10x1.5
O (@)
(@]
20| 7 ’

Product ID: 131071 Weight: 3,25 kg QIP (pcs): 54

OEM Ref. CROSS Ref.

Daf 0513983 Contitech 887 M

R.O.R Meritor MLF7020 Firestone 1TT15LNR-3

VDL Bus 0513983 Firestone Part No W01-M58-0780
Goodyear 1R1-796
Goodyear Flex No 566-22-3-533
Blacktech RML7998
Airtech 3887 P

meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

2200353

%195
M10x1.5

161094 210071
9228
76 .58,
20
g $
< ~ = $22 7
5 ki M16x1.5
i @ﬁb

1100

M16x2

Product ID: 161094 Weight: 8,81kg QIP (pcs): 48
OEM Ref. CROSS Ref.
Daf 0392022 Contitech 887 MK1
1697 684 Firestone 1T15LNR-3
1697 684 Firestone Part No W01-M58-8683
0392 0M Goodyear 1R11-798
1529834 Gooyear Flex No 566-22-3-533
Vibracoustic V1DF18-2
Blacktech RML 7998 C1
Airtech 38683 C
Granning 16224
meklas.com meklas

378

e group



CONNECT 1887-K06

AIR SPRINGS

161095 2100/1 220040
9228
76 .58, | MiOx1.5 2193
20
< = 7 9,
& KJ 922 M16x2
i . || . M16x1.5

Product ID: 161095 Weight: 8,00 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
VDL BUS 1141525 Contitech 887 N P04
1154 761 Firestone 1TI5UCR-5.5
N141525 Firestone Part No W01-M58-5786
41154 761 Goodyear 1R1-797
Goodyear Flex No 566-22-3-533
Vibracoustic VIDF18-3
Blacktech RML 7998 C6
Airtech 3887-04C
Dunlop 01757B-AP
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161522

h:320

138
F

328

M22x1.5

210380

0227

/6 .58

o
(&)

1887-K07

220033

M16x2

2xM10x1.5

2190

Product ID: 161522 Weight: 5,85 kg QIP (pcs): 48
OEM Ref. CROSS Ref.
DAF 1794 428 Contitech 887 N PO6
Firestone TT15LNR-3
Firestone Part No W01-M58-8549
meklas.com

380

O meklas
e group



CONNECT

AIR SPRINGS

131127 210100
2200
| E—
9 P $228
5 90 M10x1.5
m |
g m O T
) 0
< \ .
30)
M16x1.5
$130.8

Product ID: 131127 Weight: 3,58 kg QIP (pcs): 48

OEM Ref. CROSS Ref.

Daf 1276 846 Contitech 889 M
Firestone TT5LLR-5
Firestone Part No WQ01-M58-0781
Goodyear 1R1-842
Goodyear Flex No 566-22-3-551
Blacktech RML7990

meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

161133 210100 220058
8228
$191
M10x1.5
o N 30 5
| a— 1
" %

M16x2

Product ID: 161133 Weight: 7,00 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Daf 1279141 Contitech 889 M K2
1698 434 Firestone 1T15LLR-5
1529 835 Firestone Part No W01-M58-8679
Goodyear 1R1-843
Goodyear Flex No 566-22-3-551
Phoenix 1DF17B-3
Blacktech RML 7990 C2
Airtech 3889C
Granning 16225
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

131116 210095

p311
Ho
O “""’Iﬁ’ 921.8 177

M16x1.5
Mioxl.o |

69.3

h:440
B
O

M24x1.5
\ y M16x1.5 M12x1.25
$171.1
2300

Product ID: 131116 Weight: 5,06 kg QIP (pcs): 18
OEM Ref. CROSS Ref.
Renault V. 5.010.211.724 Contitech 902 MB (without piston)
5.000.815.749 Firestone 1T19G-12
Firestone Part No WQ01-M58-3910 (without piston)
Airtech 3902P
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161106 210095

#3711

M16x1.5

M12x1.25

M24x1.5
M16x1.5

h:345

144 _

190022

$305
®200

Product ID: 161106 Weight: 14,80 kg QIP (pcs): 18
OEM Ref. CROSS Ref.
Renault VI 5.010.211.724 Contitech 902 MB
5.000.815.749 Firestone 1T19G-12
Firestone Part No W01-M58-39910
Blacktech RML7013C
RRML79910C
Airtech 3902 C
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

151170

h:585

$156.5

$265

210010

286

M22x1.5 M12x1.75

Product ID: 131170 Weight: 5,89 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
ROR 2122 2673 Contitech 912 N PO2 (without piston)
Weweler US 96681 Firestone 1m19L-14
SAF 3.229.0013.00 Firestone Part No WQ01-M58-7385 (without piston)
Hendrickson 507782 Goodyear 1R14-758 (without piston)
Goodyear Flex No 566-28-3-510
Phoenix 1D28D-2
Vibracoustic V1D 28D-4
Blacktech RML7023C2
Airtech 3912 P
meklas.com meklas

385

e Jroup



CONNECT

AIR SPRINGS

1313071

(Chad = R

h:585

210004

M22x1.5 ‘ 9286
210

95

2xM12x1.75

Product ID: 131301 Weight: 4,81kg QIP (pcs): 22

OEM Ref. CROSS Ref.

Weweler Us 07385 Contitech 912 N PO1 (without piston)

SAF 3.228.0030.00 Firestone 1T19L-14

3.229.0030.00 Firestone Part No WQ01-M58-8502 (without piston)
Goodyear 1R14-728 (without piston)
Goodyear Flex No 566-28-3-510
Phoenix 1D 28D-10
Vibracoustic V1D 28D-10
Blacktech RML 7023 C1
Airtech 32926 P
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

131349

=y

0254

h:515

NIV

2xM10x1.5

210098

0228

M22x1.5
| MzzX1.9

O
N~

20

310006

M12x1.75

Product ID: 131349 Weight: 142 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Z0rzi 1006551 Firestone 1T15M-9
Omar 1808 Firestone Part No WQ01-M58-6289 (without piston)
Cardi 58050900 Goodyear 1R12-703 (without piston)
Hendrickson B 6195 Goodyear Flex No 566-24-3-501
Rolfo 12322 Phoenix 1D 23 E-3 (without piston)
Vibracoustic VID23E-3
Blacktech RML 75270 C
Airtech 391209 C (without piston)
meklas.com meklas

387

e Jroup



CONNECT

AIR SPRINGS

161139

h:385

188

M22x1.5

M10x1.25

210098

9228
160

M16x1.5

220056

9260

Product ID: 161139 Weight: 9,50 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Zorzi 1006551 Firestone 1T15M-9
Omar 11808 Firestone Part No W01-M58-6289
Cardi 58050900 Goodyear 1R12-703
Hendrickson B 6195 Goodyear Flex No 566-24-3-501
Rolfo 112322 Phoenix 1D23E-3
Vibracoustic V1D 23E-3
Blacktech RML 75270 C
Airtech 391209 C
Dunlop D12B16
Granning 16080
CF Gomma 96871
1T 323-40
Gart 278.2.512
D278/H
meklas.com meklas

388

e group



CONNECT

AIR SPRINGS

131353 210098
2228
0254 160
M22x1.5
d
e} ; © ™
5 2xM10x1.5 20

A%

Product ID: 131353 Weight: 4,84 kg

310006

M12x1.75

QIP (pcs): 45

OEM Ref. CROSS Ref.

Zorzi 1006559 Phoenix 1D 23 E-2 (without piston)
Viberti 128147109 Vibracoustic V1D 23 E-2 (without piston)
Blacktech RML 74514 C (without piston)
Airtech 391210 -C (without piston)
CF Gomma 96864
1T 323-40
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

210098 220005
3260
M22x1.5 9228
160
S
@ — ™~
< 20
- 3 M10x1.25 < 2xM12x1.75

Product ID: 161140 Weight: 9,92 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Zorzi 1006559 Phoenix 1D23E-2
Viberti 128147109 Vibracoustic V1D 23E-2
Blacktech RML 74514 C
Airtech 391210 -C
Dunlop D12B06 / D12B10
CF Gomma 96864
1T 323-40
Gart 2784514
D278/H
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

210098 220005
M22x1.5 9228
160
pA 2xM10x1.25 ’ 20

Product ID: 161180 Weight: 9,50 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Viberti 1281471M Goodyear 1R12-720
Goodyear Flex No 566-24-3-501
Airtech 391210-01C
CF Gomma 1T 323-40BG
97307

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

161203 210010 220031

9260

o

h:500
—

M12x1.75 \

216

Product ID: 161203 Weight: 13,63 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
ROR 2122 2673 Contitech 912N P02
Weweler US 96681 Firestone 1T19L-14
SAF 3.229.0013.00 Firestone Part No W0O1-M58-7385
3.229.0006.01 Goodyear 1R14-758
2.229.0005.00 Goodyear Flex No 566-28-3-510
Fruehauf M0OB60770 Phoenix 1D28D-2
Hendrickson 507782 Vibracoustic V1D 28D-4
Blacktech RML7023C2
Airtech 3912C
Granning 15671
CF Gomma 206333
TT19E2-L
Gart 2874.600
D287/C
meklas.com . meklas

e group



CONNECT

AIR SPRINGS

161204 210004 220031
| I 286
( \ M22x1.5 | _ 210
2xM12x1.75 29
© J 4xM12x1.75

Product ID: 161204 Weight: 13,48 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Weweler US 07385 Contitech 912 N P01
SAF 3.228.0030.00 Firestone 1T19L-14
3.229.0030.00 Firestone Part No W01-M58-8502
Goodyear 1R14-728
Goodyear Flex No 566-28-3-510
Phoenix 1D28D-10
Vibracoustic V1D 28 D-10
Blacktech RML 7023 C1
Airtech 32926 C
CF Gomma 207736 - 207737
T19E-2L
Gart 2874601
D287/C
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161177 210118 220054

.
]

9286

=)

M20x1.5
M12x1.5

h:385

4xM12x1.75

G

208

Product ID: 161177 Weight: 16,92 kg QIP (pcs): 18
OEM Ref. CROSS Ref.
Zorzi 1006552 Firestone 1T19L-14
Fruehauf MQO01464 Firestone Part No W01-M58-8762
UJB0129001 Goodyear 1R13-732
SMB M001464 Goodyear Flex No 566-26-3-518
M588762 Blacktech RML 71304 C
Airtech 391304 C
CF Gomma 201840
97393
Gart D287/B -187.4.581
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161148 210111 220068

H 9286 M20%1.5 258

M12x1.5

h:280

140

M16x2

Product ID: 161148 Weight: 14,16 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Kaiser FO1004307 Goodyear 1R13-730
Blacktech RML 74307 C
Airtech 391305 C
Dunlop D13 BO5

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

i '
/i

161362 210092 220134

$286

h:340
180
120

M22x1.5

2xM10x1.25

140,

2xM16x1.5

Product ID: 161362 Weight: 13,16 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Battaglino 2214.03 Gart 277.2.420
Pezzaioli 7010029 D 277/B
S.T. System Truck 05101009
Zorzi 1006562

meklas.com ror meklas
e JrOuUp



CONNECT

AIR SPRINGS

131141 210092 310004
g,‘ﬂv = ‘Dvr\@ ) $286
$265 M22x1.5 180

h:511
O-
E
79.5

M10x1.25 M16x1.5

\[gl/

Product ID: 131141 Weight: 6,20 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Bartoletti 9161901 Phoenix 1DK 28 B-7 (without piston)
91619005 Vibracoustic V1 DK 28 B-7 (without piston)
Cardi 58050700 Airtech 391318C (without piston)
Omar 11804 CF Gomma 1T19E-2
Rolfo 112060 Dunlop D13B18
112064 D12B12
Viberti 128147117 Gart D277/2F - 287/A-287/B
128147102 277.2.500 - 287.2.510- 287.2.580
Z0rzi 1006554
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161120

h:400

}#\é&(

180
(|
2z

il

210092
M22x1.5 9286
180
79.5
‘ 10
M10x1.25

M16x1.5

220067

9260
120

Product ID: 161150 Weight: 14,75 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Bartoletti 9161901 Phoenix 1DK 28 B-7
91619005 Vibracoustic V1DK 28 B-7
Cardi 58050700 Airtech 391318C
Omar 11804 CF Gomma 1TI9E-2
Rolfo 112060 Dunlop D13B18
112064 D12B12
Viberti 128147117 Gart D277/2F - 287/A-287/B
128147102 277.2.500 - 287.2.510- 287.2.580
Zorzi 1006554
meklas.com meklas

398

e group



CONNECT 191318-KO1

AIR SPRINGS

161181 210092 220067

*@ 286 9260
M22x1.5 180

h:400
//
Q
7Q

f T
LJ /\L M10x1.25
M16x1.5

180

Product ID: 161181 Weight: 12,65 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Bartoletti 91101891 Firestone T1SL-N
Battaglino 91101892 Firestone Part No W01-M58-6361
Cardi 58050700 Goodyear 1R14-706
Omar 1804 Goodyear Flex No 566-28-547
Rolfo 112060 CF Gomma 1T19E-2
Viberti 128147102 93762
Zorzi 1006553 Gart D277/2F
2772500
meklas.com . meklas

e Jroup



CONNECT 191318-K02

AIR SPRINGS

161299 210181 220067/
4 — .k <1, 8286
| — = —— M22x1.5 180

LY e

el 10.5]

o J /IJ M10x1.25

Product ID: 161299 Weight: 14,58 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Viberti 128147 112 Firestone TT9L-M
Viberti 128147124 Firestone Part No W01-M58-6363
CF Gomma 1TI9E-2
Gart D277
2772504

meklas.com 4o meklas
e JrOuUp



CONNECT 191318-K03
AIR SPRINGS

161308 210092 220067/
I 0 ®286 2260
e . — S M22x1.5
% 3 - 180
o LO)|
? } = = &
T ”L[ - ﬁ
M10x1.25
@ ~J M16x1.5 70
b m—
Product ID: 161308 Weight: 14,75 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Wabco 951814706 O Airtech 391318 C
meklas.com . meklas

e Jroup



CONNECT 192618-KP

AIR SPRINGS

161482 210060 220593

®259

M20x1.5

M12x1.5
M12x1.75

h:340

141
—
-

Product ID: 161482 Weight: 744 kg QIP (pcs): 42

OEM Ref. CROSS Ref.

Saf Holland 3.228.0040.00

meklas.com 4o meklas
e JrOuUp



CONNECT 192619-KP

AIR SPRINGS

161484 210006 220594

258
M22x1.5
I =, I 150

73

h:350

2xM12x1.75

151
—
-
]@
%

Product ID: 161484 Weight: 6,98 kg QIP (pcs): 42

OEM Ref. CROSS Ref.

Saf Holland 3.229.0033.00 Contitech 4022 N P05

Scania 1723281 Firestone 1T17BS-6
Firestone Part No W0O1-M58-8612
Goodyear 1R1-781
Goodyear Flex No 566-22-3-526
Phoenix 1DK 22 E-1
Vibracoustic VIDK22E-10
Blacktech RML75133CP4
Airtech 32619 CPP
CF Gomma 1T300-37
Gart D278/S

meklas.com . meklas

e Jroup



CONNECT 192619-KPO1

AIR SPRINGS

161483 210060

9259

il 0 M20x1.5
M12x1.5

M12x1.75

h:350

151
-
S

220594

Product ID: 161483 Weight: 6,86 kg QIP (pcs): 42
OEM Ref. CROSS Ref.
SAF 3.2281043.00 Airtech 32619-01CPP
meklas.com o meklas
e group



CONNECT

AIR SPRINGS

192621 210006
259

| I M22x1.5
150

73

h:540

170
]
2
N
[6)]

2xM12x1.75

220595

Product ID: 161486 Weight: 742 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Saf Holland 3.229.0038.00 Phoenix 1DK 22 E-13
2621V Vibracoustic VIDK22E-13
Airtech 32621CPP
CF Gomma 1T300-37 /207719
Gart D278/S - 2781453
meklas.com
405

O meklas
e group



CONNECT

AIR SPRINGS

161327

=
I~

h:340
240
(G

M12x1.75

192626-KP

210006 220
$259
150 M22x1.5
L1
RS
25]

o574

Product ID: 161327 Weight: 8,75 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Kdgel 360112 Airtech 32626 CPP
SAF 3229003900 CF Gomma 207722
lveco 500036864 1T 300-37
meklas.com

406

meklas
e group



CONNECT

AIR SPRINGS

161366 210004 220135
2286 2260
95
25
2 M22x1.5 '
2xM12x1.75 8xM12x1.75

Product ID: 161366 Weight: 13,64 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

Mercedes A 946 32819 01 Airtech 32813 C

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

131254 210004 310004
|| I M22x1.5 ‘ 9286
1 i 210
0 29)
2xM12x1.75 M16x1.5
8265

Product ID: 131254 Weight: 771kg QIP (pcs): 24
OEM Ref. CROSS Ref.
Mercedes A 946 32815 01 Airtech 30283 P
Weweler US 04030P
US 040306

meklas.com Joe meklas
e JrOuUp



CONNECT

AIR SPRINGS

161287 210004 220087
$260
B 141.5
M22x1.5 M12x1.75 :
M12x1.75
S S ™
° é?‘ 3L
© 100 30
g M o =
P pimif
N
00

Product ID: 161287 Weight: 13,16 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Schmitz 017924 Contitech 4035 N P02
FAGQO41-0087 Goodyear 1R14-823
128 8087 Goodyear Flex No 566-28-3-529
Mercedes A946 3281501 Phoenix 1DK 28 F-3
Weweler US 04030P Vibracoustic V1DK28F-3
US 040306 Blacktech RML 71501C
Jost JAS 20105 015 01 Airtech 30283C
2010501501 Granning 93003
Gart 2772520
D277/D
meklas.com meklas

409

e Jroup



CONNECT 19283-K01

AIR SPRINGS

161293 210004 220087
9286
210 9259

© 100Q,

|
T

h:420

95
1
=
70.7 8

141.5

Product ID: 161293 Weight: 15,00 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Weweler US 04030 Goodyear 1R14-823
Schmitz 017924 Goodyear Flex No 566-28-3-539
Mercedes A946 3281501
Schmitz S015323

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

151105 210133
] M22x1.5
‘ 286
2265
S
0
2xM12x1.75

Product ID: 131105 Weight: 514 kg QIP (pcs): 24
OEM Ref. CROSS Ref.
Weweler US 04031P Goodyear 1R14-784 (without piston)
US 04029P 1R14-812
Schmitz 017 685 Goodyear Flex No 566-28-3-529
Scania 2198324 566-28-3-540
Phoenix 1D 28 F-5 (without piston)
Vibracoustic V1D 28 F-5
Blacktech RML 74031C
RML 77685C
Airtech 30285 C (without piston)
Dunlop D14B49
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161206 210133 220002

9286 9259

M12x1.5

95

h:400

178

Product ID: 161206 Weight: 11,30 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Weweler US 04031P Goodyear 1R14-784
US 04029P 1R14-812

Schmitz 017 685 Goodyear Flex No 566-28-3-529

Scania 2198324 566-28-3-540
Phoenix 1D28F-5
Vibracoustic V1D 28 F-5
Blacktech RML 74031C
RML 77685C
Airtech 30285C
Dunlop D14B49

meklas.com - meklas

e group



CONNECT 19285-K01

AIR SPRINGS

161343 210133 220002

9286

M22x1.5

h:385

Product ID: 161343 Weight: 24,96 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Weweler US 04031P Goodyear 1R14-784
US 04029P 1R14-812
Schmitz 017 685 Goodyear Flex No 566-28-3-529
Scania 2198324 566-28-3-540
Phoenix 1D28F-5
Vibracoustic V1D 28 F-5
Blacktech RML 74031C
RML 77685C
Airtech 30285C
Dunlop D14B49
meklas.com - meklas

e Jroup



CONNECT 192919-KP

AIR SPRINGS

161390 210004 220581
9286 9261
2210 M22x1.5
L1
% 2xM12x1.75 =
< 1 o o))
25)

Product ID: 161390 Weight: 913 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
SAF 3.229.0042.0.00 Firestone 1T19FB-8
2919V Firestone Part No W01-M58-5540
Phoenix 1D28E-2
Blacktech RML 75921 CP
RML 75921 CP1
RML 75921 CP2
Airtech 32919 CPP

meklas.com » meklas
e JrOuUp



CONNECT

AIR SPRINGS

161282 210004 220567

9286

M12x1.75

h:460

Product ID: 161282 Weight: 9,50 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

SAF 3.229.0028.00 Firestone TT19FB-1
3.229.0041.00 Firestone Part No W0O1-M58-5541
3.229.0031.00 Goodyear 1R14-815
2923VK Goodeyar Flex No 566-28-3-529
2924V Phoenix 1D 28 B-1

Scania 1873863 Blacktech RML 72923CP
1723276 Airtech 32924 CPP

Dunlop D14B43
CF Gomma 1TI9E-2
206890
meklas.com e meklas

e Jroup



CONNECT

AIR SPRINGS

131013

0248

h:423

M22x1.5

M12x1.75

210006

0258

150

o

/3

310022

M16x2

Product ID: 131013 Weight: 4,30 kg QIP (pcs): 44
OEM Ref. CROSS Ref.
BPW 05.429.40.910 Contitech 940 MB
05.42943.210 Firestone 1T17D-4.3
Schmitz 013769 Firestone Part No W01-M58-8613
Scania 2406164 Goodyear 1R1-703
Goodyear Flex No 566-22-3-501
Phoenix 1DK 21K
Vibracoustic V1DK 21K
Blacktech RML7051
Airtech 3940 P
Dunlop DNMU31
CF Gomma 1TV300-30
205536
Gart C293A
293.0.41
meklas.com meklas

416

e group



CONNECT

AIR SPRINGS

161025 210006 190004
9258
150 2205
M22x1.5 /Q
E ‘ 4 p A 8¢
P M12x1.75 ‘ DS Qs %,
L\r 4 M16x2

Product ID: 161023 Weight: 11,20 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
BPW 05.429.40.931 Contitech 940 MB P30
05.429.40.941 Goodyear 1R1-763
30K Phoenix 1DK 21 K-1
Airtech 3940C
Granning 15919
Blacktech RML7051C
Gart 293.2.410
C293/A
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161171

M22x1.5

h:355

M12x1.75

303
(=] @
210006 190004
2258
150 2205
o 20
° N )
Ps) g{ g M16x2

Product ID: 161171 Weight: 11,99 kg QIP (pcs): 38

OEM Ref. CROSS Ref.

BPW 05.429.41.281(30K) Firestone 1T17D-4.3
Firestone Part No WO0O1M58 8609
Goodyear 1R1-763
Goodyear Flex No 566-22-3-501
Airtech 3940-01C

meklas.com

e O meklas
e Jroup



CONNECT 1940-K08
AIR SPRINGS

e o
858
161292 210006 190002
| 2258
150
M22x1.5
(’ 20
@ } o p 8#
g L M12x1.75 e,

Product ID: 161292 Weight: 11,00 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

meklas.com " meklas
e Jroup



CONNECT

AIR SPRINGS

161024 210006 190504
2258
150 2201
5 M22x1.5 /Q
I RREE g4 19
§ M12x1.75 %, e 20

Product ID: 161024 Weight: 8,77 kg QIP (pcs): 38

OEM Ref. CROSS Ref.
BPW 05.429.43.210 Goodyear 1RN-752
Granning 16919 Airtech 3940 CPP
Schmitz 751084 Dunlop D1IB36

017331
Wabco 9518117630
Weweler US 510030 UD

meklas.com - meklas
e JrOuUp



CONNECT 1940-KPO1

AIR SPRINGS

1611/5 210006 190504
i 1 2258
150 @201
M22x1.5 70
; 0
= ‘ (-2 ™ )
o b(\\?ﬂq M12x1.75 ‘ h 8{ ® M16x2
T Tre=nl T

Product ID: 161175 Weight: 8,32 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
BPW 05.429.43.22.0 30K Firestone 1T17D--4.3
Firestone Part No WQ01-M58-8585
Airtech 3940-01CPP
Blacktech RML 7051 CP1

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

131014
2248
M22x1.5
N
N
0 M12x1.75
<

210006

0258
150

/3

310022

M16x2

Product ID: 131014 Weight: 4,70 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
BPW 05.429.40.03.0 (30) Contitech 941 MB
Schmitz 015514 Firestone 1T17D-8.3
Firestone Part No W01-M58-8620
Goodyear 1R1-700
Goodyear Flex No 566-22-3-500
Phoenix 1DK 21
Vibracoustic VI1DK21
Blacktech RML7052
Airtech 3941P
Dunlop DNMU30
CF Gomma 1T300-36
204466
Gart C293
293.0.5M
meklas.com meklas

422

e group



CONNECT

AIR SPRINGS

161025

M22x1.5

h:385

M12x1.75

210006 190002
9258
= 9205
7
20
I 763 E
b
M16x2

Product ID: 161025 Weight: 12,20 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

BPW 05.429.40.03.0 (30) Firestone 1T17D-8.3
05.429.43.34.0 Firestone Part No W01-M58-8620
05.429.43.56.0 Goodyear 1R1-700

Wabco 9518117020 Phoenix 1DK 21
9518117000 Airtech 3941C

CF Gomma 1TC 300-36 /204466
Dunlop DN1MU30
Taurus UR730-01T
meklas.com s meklas

e Jroup



CONNECT

AIR SPRINGS

161172

M22x1.5

h:385

M12x1.75

210006

2258
150

/3

190002

0205
/Q

M16x2

Product ID: 161172 Weight: 12,52 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

BPW 05.429.41.241 Firestone 1T17J10.3
05.42943.340 Firestone Part No W01-M58-8619
05.429.43.56.0 Goodyear 1R1-762

Goodyear Flex No 566-22-3-500
Phoenix 1DK 21-1
Vibracoustic VIDK21 X1
Blacktech RML7052C
Dunlop 0O0935A-AP
Granning 15918
CF Gomma 205170
1TC 300-36
Gart 293.2.510
C293/A
meklas.com meklas

424

e group



CONNECT

AIR SPRINGS

161026 210006 190502
‘M 2258
150 2205
M22x1.5 Vi
t 20
o & 2 AR
E ﬁ M12x1.75 ‘ o 6o ® 3 !

191

Product ID: 161026 Weight: 9,50 kg QIP (pcs): 33
OEM Ref. CROSS Ref.
Schmitz 015502 Contitech 941 MB P30
017109 Firestone 1T173-10.3
BPW 05.42943.200 Firestone Part No W0O1-M58-8616
Scania 2338887 Goodyear 1R11-743
Mercedes AQ42 3200121 Goodyear Flex No 566-22-3-500
A 94232049 21 Phoenix 1DK 21-2
A 9423202821 Vibracoustic VIDK21Y1
Blacktech RML 7052 CP
Airtech 3941-01CPP
Dunlop 0OQ0936A-AP
Granning 16918
CF Gomma 206356 /1TC 300-36
Gart 293.2512/C293
meklas.com e meklas

e Jroup



CONNECT

AIR SPRINGS

161176 210006 190502
M 258
150
M22x1.5
E M12x1.75 25

Product ID: 161176 Weight: 13,52 kg QIP (pcs): 33
OEM Ref. CROSS Ref.
BPW 05.429.43.20.0 Firestone 1T17D-8.3
Weweler US500-10KD Firestone Part No W01-M58-8668
Goodyeaar 1R1-743
Goodyear Flex No 566-22-3-500
meklas.com e meklas

e group



CONNECT

AIR SPRINGS

131015 210005 310027
1 L=} ) ‘ @311
@300 210
M22x1.5
Il e g
3 M12x1.75 | 25
© M16x2

Product ID: 131015 Weight: 6,98 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
BPW 05.429.40.05.0 Contitech 942 MB
Schmitz 017199 Firestone 1TB6F-13.5
Firestone Part No WQO1M58 8611
Goodyear 1R14-700
Goodyear Flex No 566-28-3-504
Phoenix 1DK32L
Vibracoustic VIDK32L
Blacktech RML7053
Airtech 3942 P
Gart C292/E
292.0.601
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

161027 210005 190017/
@311
M22x1.5 210
15 | s &
<+ M12x1.75 ‘ 25
P

Product ID: 161027 Weight: 19,67 kg QIP (pcs): 18
OEM Ref. CROSS Ref.
BPW 05.429.41.69.0 Firestone 1T66F-13.5
05.429.41.711 Firestone Part No W01-M58-8584
Haffermann 6-AB8003-0300 Goodyear 1R14-781
Goodyear Flex No 566-28-3-504
Phoenix 1DK 32 L1
Vibracoustic VIDK32L X14
Blacktech RML7053C
Airtech 3942-01C
Granning 15903
Gart C292/B
292.2.600
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161496 210004 220087/
3286 959
M22x1.5 210

M12x1.75

95

h:380
@
%4
°

=g M12x1.75

182
N
(1

Product ID: 161496 Weight: 4,82 kg QIP (pcs): 60
OEM Ref. CROSS Ref.
Mercedes A 946 32815 01 Firestone 1TSL
Schmitz 017 924 Firestone Part No WO01-MB68-6223
Weweler US 04030P
Schmitz FAGO41-0087
128 8087
SMB 093770001
meklas.com s meklas

e Jroup



CONNECT

AIR SPRINGS

1531097/ 210086 510009
$235

M M16x1.5

228

73

h:395

M12x1.75

Product ID: 131097 Weight: 4,33 kg QIP (pcs): 60
OEM Ref. CROSS Ref.
Scania 1394997 Contitech 6705 N PO1 (without piston)
1314903 Firestone 1T15LP-3
1402423 Firestone Part No WQ01-M58-6251 (without piston)
1865759 Goodyear 1R11-826 (without piston)
255295 Goodyear Flex No 566-22-3-543
Phoenix 1DK 18 A-1 (without piston)
Blacktech RML76251C
Airtech 36251P
Granning 15619
Gart 306.2.320
D306
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161396 210086 220149

M16x1.5

90

105

2xM12x1.75

h:280

116

2xM10x1.5

Product ID: 161396 Weight: 9,00 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Scania 1394997 Contitech 6705 N PO1
1314903 Firestone 1T15LP-3
1402423 Firestone Part No WO01-M58-6251
1865759 Goodyear 1R11-826
255295 Goodyear Flex No 566-22-3-543
Phoenix 1DK18 A-1
Blacktech RML76251C
Airtech 36251C
Granning 15619
Gart 306.2.320
D306
meklas.com meklas

431

e Jroup



CONNECT

AIR SPRINGS

161111 210086 2203523

9228

M16x1.5 157.5

h:280

115

Jhadt

Product ID: 161111 Weight: 511kg QIP (pcs): 60
OEM Ref. CROSS Ref.
Scania 1314903 Contitech 6705 N PO1
1402423 Firestone 1T15LP-3
Firestone Part No W0O1-M58-6251
Goodyear 1R1-826
Goodyear Flex No 566-22-3-543
Phoenix 1DK18 A-1
Blacktech RML76251C
Airtech 36251C
Granning 15619
Gart 306.2.320
D306
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161112 210007 220518

$228

$201

M20x1.5
M12x1.5
M12x1.75

h:400

170

Product ID: 161112 Weight: 6,62 kg QIP (pcs): 39
OEM Ref. CROSS Ref.
Acerbi 441901 Contitech 4157 N P10
Fruehauf UJB 0975 Firestone TI5SMPW-7
MOB60 Firestone Part No WO1M58 6315
SMB M060924 Goodyear 1R11-772
Goodyear Flex No 566-22-3-521
Phoenix 1DK 20 A-51
Vibracoustic VIDK20A-51
Blacktech RML75268CP10
Airtech 39002-A3-01CPP
CF Gomma 1TC300-38
206925
Gart C294
2941450
meklas.com s meklas

e Jroup



CONNECT

AIR SPRINGS

131169 210131
5048 M22x1.5 2228

M12x1.5

196318

310006

/3

h:495

M12x1.75

Product ID: 131169 Weight: 4,90 kg QIP (pcs): 39
OEM Ref. CROSS Ref.
Weweler US 06318 F Firestone 1T5SMPW-9
US 86318 F Firestone Part No WQ01-M58-6318 (without piston)
Schmitz 016 512 Goodyear 1R12-837
016 558 Goodyear Flex No 566-24-3-452
124 4666 Phoenix 1DK 23 L-1(without piston)
127 0603 Blacktech RML 76318 CP
Airtech 36318 P
Granning 15783
Gart 2941500
C294/HS
meklas.com meklas

434

e group



CONNECT

AIR SPRINGS

196318-KP

161202 210131 220518

M22x1.5
M12x1.5

$201

h:400

M12x1.75

170
ﬁ

Product ID: 161202 Weight: 6,79 kg QIP (pcs): 39
OEM Ref. CROSS Ref.
Weweler US 06318 F Firestone 1T15MPW-9
US 86318 F Firestone Part No W01-M58-6318
Schmitz 016 512 Goodyear 1R12-837
016 558 Goodyear Flex No 566-24-3-452
124 4666 Phoenix 1DK 23 L1
127 0603 Blacktech RML 76318 CP
Airtech 36318 CPP
Gart 2941500
C294/HS
meklas.com meklas

435

e Jroup



CONNECT

AIR SPRINGS

161233 210010 220089

9286

M22x1.5

M12x1.75

h:420

Product ID: 161233 Weight: 12,70 kg QIP (pcs): 22

OEM Ref. CROSS Ref.
Terberg 21071483 Firestone T1SL-N
Weweler US0B6364FS Firestone Part No WO0O1M58 6344
DAF 0388491 Vibracoustic V1D 28 C-126
Tridec 310472
MAZ 543268-02

54327

544008

544020-030

54421

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161193

M14x1.5

h:400

197308-KP

210021

220512

Product ID: 161193 Weight: 7,52 kg QIP (pcs): 26
OEM Ref. CROSS Ref.
Scania 1314905 Contitech 6706 N P01
255294 Firestone 1T15M-9
1865753 Firestone Part No WQ0O1-M58-7308
W01-358-9104
Goodyear 1R12-713
Goodyear Flex No 566-24-3-501
Phoenix 1DK 23-L-7308
Vibracoustic V1DK 23 L-42
Blacktech RML77308CP
Airtech 34159-SI K-ALU
Dunlop D12B31
meklas.com meklas

437

e Jroup



CONNECT

AIR SPRINGS

161352 210252 220575
$228 #00
M10x1.5 50,70‘ M14x1.5

h:340
68

Product ID: 161332 Weight: 7,88 kg QIP (pcs): 30

OEM Ref. CROSS Ref.
lveco 99458557 Firestone TI5LP6

99468555 Firestone Part No W01-M58-7313
Neway MQ0557019/030 Airtech 37313 CPP

M0557020/031 Blacktech RML 77313 CP

Gart 3061420
D306/A
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

161157 210110 220002

9260

0 0286
=]

M22x1.75

h:400

U

L

178

4xM22x1.75

Product ID: 161157 Weight: 16,20 kg QIP (pcs): 26

OEM Ref. CROSS Ref.

Lecitrailer SN 21502 Firestone TMSL-M
Firestone Part No WQ0O1-M58-7502
Goodyear 1R14-709
Phoenix 1D28B-4
Vibracoustic V1D 28B-4
Gart 2874512

D287/A
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

161468 210357 220173

$259

9229

M22x1.o M18x1.5

h:360

127,

Lr 2xM12x1.75

Product ID: 161468 Weight: 918 kg QIP (pcs): 33
OEM Ref. CROSS Ref.
Solaris 1001101060 Firestone T17AR3.
1070 002 000 Firestone Part No WQ01-M58-8377
P-1001101 060 Phoenix 1DF 25 A-1
P-1070 002 000 Vibracoustic VIDF25A-1

020701-0000-392-836

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

198608

310006

2xM12x1.75

131129 210104
9248
0 i 9259
200
M12x1.5
o 37
3
N ®S

M12x1.75

Product ID: 131129 Weight: 5,33 kg QIP (pcs): 38

OEM Ref. CROSS Ref.

R.O.R Meritor 21229214 Firestone 1m17D03-7
Firestone Part No WQ01-M58-8608 (without piston)
Airtech 38608 CPP (without pistan)
Granning 92605
Blacktech RML 78608 CP

meklas.com

441

O meklas
e group



CONNECT 198608-KP

AIR SPRINGS

161134 210104 220510
A I 2xM12x1.75 8204
| )\» 7
/ M12x1.75 ’ 9,

h:400
171

Product ID: 161134 Weight: 7,01kg QIP (pcs): 38

OEM Ref. CROSS Ref.

R.O.R Meritor 21229214 Firestone 1m7DJ-7
Firestone Part No W01-M58-8608
Phoenix 1DK 22 D-1
Airtech 38608 CPP
Granning 92605
Blacktech RML 78608 CP

meklas.com o meklas
e JrOuUp



443



CONVOLUTED
AIR SPRINGS







CONNECT

AIR SPRINGS

..

=,

171214 215039 215035

4xM10x1.5

4xM10x1.5

Product ID: 171214 Weight: 3,08 kg QIP (pcs): 140

OEM Ref. CROSS Ref.

SAE-SMB 9377-006

meklas.com " meklas
e JrOuUp



CONNECT

AIR SPRINGS

171048 215005 215006

4xM10x1.5

h:186

Product ID: 171048 Weight: 3,20 kg QIP (pcs): 60
OEM Ref. CROSS Ref.
Fruehauf F 48054 Contitech FD138-18
M 80A04 Dunlop 8x2 SP1490
Granning 15803
Lohr A0B030604
Samro H2500188

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171043

2149

h:220

9220

Product ID: 171043 Weight: 2,80 kg

QIP (pcs): 100

OEM Ref. CROSS Ref.
Volvo 0365431 Contitech FD200-19S
0 365 461 Firestone Part No W01-095-0009
6882797 Goodyear 2B9-8325
Goodyear Flex No 556-03-8325
Phoenix 2B12R
Vibracoustic V2B12R
Airtech 2B-220 /114001
CF Gomma (PIRELLI) 20-865399
meklas.com meklas

448

e group



CONNECT

AIR SPRINGS

171006

-

b

h:200

9220

2xM10x1.5

Product ID: 171006

210009

#160

Weight: 2,90 kg

210040

QIP (pcs): 120

449

OEM Ref. CROSS Ref.
Floor 13586 Contitech FD 200-191/4 M10
ROR- Meritor 21221395 Firestone 20
2122 2663 Firestone Part No W01M58 6887 /-6910
Granning 1371 Goodyear 2B9-223
15603 Goodyear Flex No 578-92-3-211
Hendrickson NA 1827 Phoenix SP2B12R
Weweler USOB6910F Vibracoustic VSP2B12R
Airtech 2B-220 /113001
Dunlop O1128A-AP
Gart T291/2 - 291.2.200
CF Gomma (PIRELLYI) 20-206797
meklas.com meklas

e Jroup



CONNECT

AIR SPRINGS

171007 210009 210040
3160 $160
o 44.5 2xM10x1.5
o C 2xM10x1.5 —©
& 3 +

s

9220

Product ID: 171007 Weight: 2,90 kg QIP (pcs): 120
OEM Ref. CROSS Ref.
Phoenix 2B12R-8
Airtech 42B-220 /13549

meklas.com Lo meklas
e JrOuUp



CONNECT

AIR SPRINGS

171008 210049 210040

2160 3160
M20x1.5

M12x1.5 2xM10x1.5

h:200

Product ID: 171008 Weight: 3,33 kg QIP (pcs): 60
OEM Ref. CROSS Ref.
Hendrickson HS507907/P Phoenix SP 2B 12R-12
Airtech 2B-215 /13015

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171009

e

g

h:200

9220

44.5

210040

2xM10x1.5

210055
160
89
M12x1.5
2xM10x1.5 o]
+ o

Product ID: 171009

Weight: 2,91kg

QIP (pcs): 120

OEM Ref. CROSS Ref.
SAF 45.980.0541.92 Contitech FD 200-19
Airtech 2B-220-3
meklas.com

452

O meklas
e group



CONNECT

AIR SPRINGS

171010 210073

160

2xM10x1.5

h:200

Product ID: 171010 Weight: 2,85 kg

OEM Ref. CROSS Ref.

210074

QIP (pcs): 105

Airtech

2B-220/M3021

meklas.com
453

Q

meklas
group



CONNECT

AIR SPRINGS

171056

h:200

9220

D 220-06

210200 210176

1/47—18NPT 44.4 2xM8x1.25

2xM12x1.75

Product ID: 171056 Weight: 3,38 kg QIP (pcs): 105
OEM Ref. CROSS Ref.
Jost ADOO76 Firestone Part No 20T3095.0313
Suspentech ST853 Goodyear Flex No 556 2 2 8521
Airtech 2B-220 /13474
meklas.com

- O meklas
e Qroup



CONNECT

AIR SPRINGS

171057 210192

160
M18x2.5

~= M12x1.5

h:200

$220

Product ID: 171057 Weight: 2,93 kg

210109

2xM8x1.25

QIP (pcs): 100

OEM Ref. CROSS Ref.

Guerra 5036002015006 Firestone Part No 20T3095.0353

Suspentech ST852 Goodyear Flex No 556 2 2 8520

Randon 2121002778 Airtech 2B-220 /13475
meklas.com

455

O meklas
e group



CONNECT D 220-08

AIR SPRINGS

171011 210055 210040
8160 8160
. M12x1.5 44.5 2xM10x1.5
5 C 2xM10x1.5 e
S & +

N

9220

Product ID: 17101 Weight: 2,91kg QIP (pcs): 120
OEM Ref. CROSS Ref.
Granning 15599 Contitech FD 200-19 P04
Kogel 6501706 Firestone 20F
SAF Holland 4.2291004.00 Firestone Part No W01 M58 7894
Scania 1319761 Goodyear 2B9-700
1387289 Goodyear Flex No 578-92-3-211
1723523 Phoenix SP2B12R-5
Pirelli T20 (86660) 207065 Vibracoustic VSP2B12R-5
Airtech 2B-220-3 /13002
Dunlop S0 9208
Gart T291/2 - 291.2.203
meklas.com - meklas

e group



CONNECT D 220-09

AIR SPRINGS

171012 210108 210109

44.5 2xM8x1.25

-

b

h:200

$220

Product ID: 171012 Weight: 2,93 kg QIP (pcs): 100
OEM Ref. CROSS Ref.
ROR-Meritor 21221356 Contitech FD 200-19 G 1/4 M8
Weweler US 0739 4F Firestone 20
Schmitz 16808 Firestone Part No WQO1M58 7679
Granning 15670 Gart 291.2.200

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171026 210134 210040
2160 2160
E] M24x1.5
=il M16x1.5 2xM10x1.5

(@]

(@]

N

< g

9220
Product ID: 171026 Weight: 2,93 kg QIP (pcs): 60

OEM Ref. CROSS Ref.

Mercedes A942 32706 01 Contitech FD 200-19 P02
A 94232058 21 Firestone 20F

Hendrickson HS505613 Firestone Part No WO1M58 7756
HS508264 Goodyear 2B9-234
HS507487 Goodyear Flex No 578-92-3-211
HS506118 Phoenix SP2B12R-17
HS508345 Blacktech 2C21-210P15

Pirelli T20L /207065

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

£ O

171144 210143 210144

$160 160
M18x2.5

ﬂ: M12x1.5 M12x1.75

h:200
of g

Product ID: 171144 Weight: 2,93 kg QIP (pcs): 100

OEM Ref. CROSS Ref.

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

171024 210146 210040
160 2160
- M14x1.5 445 2xM10x1.5
o C 2xM10x1.5 —
S @ :

9220

Product ID: 171024 Weight: 2,93 kg QIP (pcs): 100

OEM Ref. CROSS Ref.

Scania 1387283 Airtech 2B-220-3 /13018

meklas.com Lo meklas
e JrOuUp



CONNECT

AIR SPRINGS

171025 210083 210074
3160 3160
89
M12x1.5 44.5 2xM10x1.5
o 2xM10x1.5 g
g 4+ o o +
U 1
$220

Product ID: 171025 Weight: 2,93 kg QIP (pcs): 100

OEM Ref. CROSS Ref.

meklas.com e meklas
e Jroup



CONNECT

AIR SPRINGS

171045 210176 210143
9160 160
M18x2.5
2xM8x1.25 M12x1.5
]
220

Product ID: 171045 Weight: 2,93 kg QIP (pcs): 100
OEM Ref. CROSS Ref.
Guerra 5036002015006 Firestone Part No 20T3095.0353
Suspentech ST852 Goodyear Flex No 556 2 2 8520
Randon 2121002778 Airtech 2B-220/13475
meklas.com o meklas

e group



CONNECT

AIR SPRINGS

171177 210295 210040

2159

2xM10x1.5 6H

h:210

0216

Product ID: 171177 Weight: 3,59 kg QIP (pcs): 60

OEM Ref. CROSS Ref.

Airtech 2B 220-07

meklas.com s meklas
e Jroup



CONNECT

AIR SPRINGS

171145 210269 210270

$160 $160

44.5 2xM8x1.25

U—"1
C 2xM8x1.25

N

h:200

9220

Product ID: 171145 Weight: 2,93 kg QIP (pcs): 100
OEM Ref. CROSS Ref.
Gigant 190130 Contitech FD 200-19 3/4 M8
Phoenix SP 2B 12 R-1
Vibracoustic VSP2B12R-1

meklas.com » meklas
e JrOuUp



CONNECT

AIR SPRINGS

171093 215016

¢

i) 8xM8X1.25
9210

h:210

Product ID: 171093 Weight: 3,00 kg

OEM Ref. CROSS Ref.

215016

8xM8X1.25

QIP (pcs): 100

Pirelli T20 86600 Contitech FD 200-19 S (8995 N)
Firestone W01-095-0009
Goodyear 2B9-200
Airtech 2B-200
114001
Phoenix 2B12R
meklas.com
465

O meklas
e group



CONNECT

AIR SPRINGS

171143

h:186

$220

Product ID: 171143

210201

160

1/4”—18NPT

210040

2xM10x1.5

2xM10x1.5

Weight: 2,64 kg

QIP (pcs): 105

OEM Ref.

CROSS Ref.
Airtech 220-60/1M50
Gart T291/ B (2911170)

meklas.com

466

O meklas
e group



CONNECT

AIR SPRINGS

171170

h:186

210287

160

1/4”—18NPT

210288

2xM10x1.5

2xM10x1.5

Product ID: 171170 Weight: 2,82 kg QIP (pcs): 60
OEM Ref. CROSS Ref.
BMC 57RS306423 Airtech 220-60 /1152
meklas.com

467

O meklas
e group



CONNECT

AIR SPRINGS

171192 210201 210040
160 9160
1/4”—18NPT 44.5
5 2xM10x1.5 0
- 2 +
%T 72 2xM10x1.5
®220

Product ID: 171192 Weight: 311kg QIP (pcs): 150

OEM Ref. CROSS Ref.

meklas.com Lo meklas
e JrOuUp



CONNECT

AIR SPRINGS

171174 210009 210040

160 $160

44.5

2xM10x1.5

2xM10x1.5 ‘

h:220

220

Product ID: 171174 Weight: 3,80 kg QIP (pcs): 105
OEM Ref. CROSS Ref.
Mercedes A 946 3281601 Contitech FD 200-22
Schmitz 016 793 Firestone 20F
Weweler US 06910C Firestone Part No WO1M58 6772
US0B910F Blacktech 2C211PO1
Jost JAS 20107 016 01 Gart T291/2A
JAE 20107 016 01 291.2.239
2010701601
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

171039 210009 210040

160

TF

2xM10x1.5

h:240

9220

Product ID: 171039 Weight: 3,07 kg QIP (pcs): 105

OEM Ref. CROSS Ref.
Mercedes A 946 328 2101 Contitech FD 200-251/4 M10
ROR-Meritor 21221356 Firestone Part No W01-M58-7394
Granning 15670 Goodyear 2B9-269
Schmitz 016 808 Phoenix SP2B12 RA-10
Weweler US 07394 Vibracoustic VSP2B12RA-10

US 07394C Airtech 2B-225 /13012

US 07394F Dunlop 9" x2 SO 9280

CF Gomma (PIRELLYI) 20L- 207776

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

171040 210009 210040

g 2xM10x1.5

S 2xM10x1.5

160 160

h:240
+
|89

9220

Product ID: 171040 Weight: 3,00 kg QIP (pcs): 100
OEM Ref. CROSS Ref.
Granning 15710 Firestone Part No W01S05 7182
SAF 1319761 Airtech 2B-225 /11301
Scania 1387283

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171058 210201 210040

160

TF

1/4”—18NPT

2xM10x1.5

h:240

220

Product ID: 171058 Weight: 3,00 kg QIP (pcs): 100
OEM Ref. CROSS Ref.
Granning 15670 Contitech FD 200-25
Meritor 21221356 Firestone 20C
Toughline 15670 Firestone Part No W01M58 7679
Weweler US 07394F Goodyear 2B 9-269
Goodyear Flex No 578-92-3-206
Airtech 2B-225 /113010
Dunlop S0 9280
Gart T291/2B - 291.2.260
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

171112 210146 210040

%160 160

~
~
(6]

M14x1.5

2xM10x1.5

h:240
.89
+

8220

Product ID: 171112 Weight: 3,00 kg QIP (pcs): 100
OEM Ref. CROSS Ref.
Scania 1387283 Firestone 20-2
SAF 1318761 Firestone Part No WQ0O1M58 6891
Airtech 2B-225/13038

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171076

f“f" — R M12x1.5

2xM10x1.5

h:240

220

Product ID: 171076

210055

160
89

44.5

210040

160

©-
+ &

2xM10x1.5

Weight: 3,20 kg

QIP (pcs): 100

OEM Ref. CROSS Ref.
SAF 4.2291005.00 Contitech FD 200-25 P02
4.2291005.01 Goodyear 2B 9-701
1608 Goodyear Flex No 578-92-3-206
Phoenix SP2B12R-A-3
Vibracoustic VSP2B12RA-3
Airtech A2 220-30 /113476
Dunlop S09204
Gart T291/2B - 291.2.263
CF Gomma (PIRELLI) ~ 20L 207065
meklas.com meklas

474

e group



CONNECT

AIR SPRINGS

171077

-

e

240

9220

210055

M12x1.5 44.5

2xM10x1.5

Product ID: 171077 Weight: 3,00 kg

210040

2xM10x1.5

QIP (pcs): 100

OEM Ref.

CROSS Ref.

Phoenix
Airtech

SP2B12R-A-4
A2 220-30/ 113481

meklas.com

475

Q

meklas
group



CONNECT

AIR SPRINGS

171059 210200 210176

#160

1/4”—18NPT

2xM12x1.75

h:240

Product ID: 171059 Weight: 341kg QIP (pcs): 75
OEM Ref. CROSS Ref.
Firestone Part No 950.327
Goodyear Flex No 556 2 2 8657
Airtech 2B-225 /113506

meklas.com e meklas
e JrOuUp



CONNECT

AIR SPRINGS

171041
1/4”—18NPT
5 2xM8x1.25
2
~N
£
=
220

2102272 210176

44.5

2xM8x1.25

Product ID: 171041 Weight: 3,60 kg QIP (pcs): 100
OEM Ref. CROSS Ref.
Granning 15670 Firestone Part No 20-2T3095.0256
ROR 21221356 Goodyear Flex No 556 2 2 8656
Weweler US 07394 Airtech 2B-225/13473
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

171060 210202 210109

9160 160

M16x1.5

2xM12x1.75

h:240

2xM8x1.25

$220

Product ID: 171060 Weight: 3,26 kg QIP (pcs): 55
OEM Ref. CROSS Ref.
Goodyear Flex No 556 2 2 8406
Airtech 2B-225 /113550

meklas.com s meklas
e JrOuUp



CONNECT

AIR SPRINGS

171057 210192 210109
ﬂ, 1805 2160 9160
C M12x1.5
=
p 2xM8x1.25

220

Product ID: 171051 Weight: 3,10 kg QIP (pcs): 55
OEM Ref. CROSS Ref.
Firestone 257-1095.0439
Goodyear Flex No 55628342/
556228418
Airtech 2B-225 /113508

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

171120
3130
h:200 %
8250
Product ID: 171120 Weight: 144 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Pirelli T245 93625 Contitech 620N
BPW 05429 00 040 Firestone Part No wW01-095-0219
02.200.20.80.0 Phoenix 2B15R
Granning 16051 Airtech 2B-250 /14150
meklas.com - meklas

e group



CONNECT DFO 250-02
AIR SPRINGS

©

171118 215022 215022

®200 200

8xM8x1.25 8xM8x1.25

S H

9250

Product ID: 171118 Weight: 3,20 kg QIP (pcs): 50
OEM Ref. CROSS Ref.
Pirell T245 93740 Airtech 2B-250 HYD
13151
meklas.com . meklas

e Jroup



CONNECT DFO 250-24 (4 PLY)

AIR SPRINGS

171119 215022 215022

2250

h:200

Product ID: 171119 Weight: 3,30 kg QIP (pcs): 50
OEM Ref. CROSS Ref.
BPW 05.4290.00.40 Contitech 620 N Hydro
Pirelli T245 BV 92141 Airtech 2B-250 Hyd / 113150
Volvo 6882797

365461Bus B 58

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

171122
2158
(@]
(@]
N
2250
Product ID: 171122 Weight: 140 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Granning 15808 Contitech FD 210-225
Firestone WQ01-095-0175
Airtech 2B-255 /114100
Dunlop SP320 (VSM 10176 (10x2)
meklas.com
483

O meklas
e group



CONNECT

AIR SPRINGS

171135 215026 215026

Product ID: 171135 Weight: 140 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Granning 15807 Airtech 2B-255/13100
Samro H 250-0021 Dunlop SP 1538 (10x2)

meklas.com Lo meklas
e JrOuUp



CONNECT

AIR SPRINGS

171127 215024

210

Rp1/2”

4xM10x1.5 i@

h:200

Product ID: 171121 Weight: 4,20 kg

215026

4xMx1.5

QIP (pcs): 50

OEM Ref. CROSS Ref.

Granning 15807 Contitech FD 210-221/2M10
Samro H 250-0021 Firestone WO01-R58-4058
Goodyear 10" *2SP 1538
Airtech 2B-255
Dunlop SP 1538 (10x2)
meklas.com
485

O meklas
e group



CONNECT

AIR SPRINGS

171186 215030 215026

h:206

Product ID: 171186 Weight: 5,50 kg QIP (pcs): 48

OEM Ref. CROSS Ref.

Airtech 2B-255 /13103

meklas.com Lot meklas
e JrOuUp



CONNECT

AIR SPRINGS

171140 210258

4xM10x1.5

h:300

250

O

210258

Product ID: 171140 Weight: 5,40 kg QIP (pcs): 40

OEM Ref. CROSS Ref.

Granning 15830 Contitech FT 210-32
Airtech 3B-255

15056
Dunlop SP1015 (10x3)
meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171123 215024 215025

k 4xM10x1.5

h: 500

Product ID: 171123 Weight: 5,40 kg QIP (pcs): 40

OEM Ref. CROSS Ref.

Granning 15809 Contitech FT 210-32

Weweler USN 510016D Firestone WO01-R58-4059
Airtech 3B-255
Dunlop SP 1539 (10x3)
Norgen M31103 (10x3)

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

171141 210204 210257

\ 4xM10x1.5

h:500

4xM10x1.5

Product ID: 171141 Weight: 5,60 kg QIP (pcs): 40

OEM Ref. CROSS Ref.

Airtech 3B-255 HYD /115057

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171103

2173

.

—

h:200

0285

Product ID: 171103 Weight: 179 kg QIP (pcs): 48
OEM Ref. CROSS Ref.
BPW 05.429.00.011 Contitech 608N
Kassbohrer 4731003000 Phoenix 2B 20R
Magirus 0342 2571 Airtech 2B-285 /14250

meklas.com L0 meklas
e JrOuUp



CONNECT

AIR SPRINGS

171102

h:200

285

DFO 285-01

215018 215018

12xM8x1.25

Product ID: 171102 Weight: 4,00 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
BPW 05.429.00.010 Contitech 608N
Airtech 2B-285 /13250
meklas.com o meklas

e Jroup



CONNECT

AIR SPRINGS

171001 210032 210038

47.5

M12x1.5

% 2xM12x1.75

2300

h:200

Product ID: 171001 Weight: 5,69 kg QIP (pcs): 40

OEM Ref. CROSS Ref.

Firestone 22

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

D 300-01

171002 210029 210039

M12x1.5

h:200

2xM10x1.5

2300

Product ID: 171002 Weight: 5,67 kg QIP (pcs): 40

OEM Ref. CROSS Ref.

Firestone 22

meklas.com Jos meklas
e Jroup



CONNECT

AIR SPRINGS

171003

h:200

2300

2xM10x1.5

Product ID: 171003

210039

0228

Weight: 5,67 kg

D 300-02

210066

28228

2xM10x1.5

QIP (pcs): 40

OEM Ref.

Firestone Part No
Vibracoustic

CROSS Ref.

22
WO0O1M58 6875
21226068

meklas.com

494

O meklas
e group



CONNECT

AIR SPRINGS

171025 210137

47.5

h:200

2300

Product ID: 171023 Weight: 7,00 kg

OEM Ref. CROSS Ref.

D 300-05

210038

0228

2xM12x1.75

QIP (pcs): 40

Firestone

22

meklas.com
495

meklas
e group



CONNECT

AIR SPRINGS

171062

G1"

h:200

2xMx1.25

Product ID: 171062

D 300-06

210203

0228
157.5

66

Weight: 7,00 kg

210097
0228
157.5
2xM8x1.25
T

QIP (pcs): 40

OEM Ref. CROSS Ref.
Bosch 822419044 Contitech FD 330-221/1M8
BPW 02.200219.00 Firestone 22D
Bussing 546905134 Firestone Part No WQ01358 7180
831120120 Airtech 2B-301/ 113306
Hendrickson NA 1816 We Forma WBZ 500-E1
MAN 81436010022
SAF 2.2291001.00
meklas.com meklas

496

e group



CONNECT

AIR SPRINGS

171046 210183

73

h:200

2xM8x1.25

2300

Product ID: 171046 Weight: 7,00 kg

2xM8x1.25

210097

QIP (pcs): 40

OEM Ref. CROSS Ref.

Firestone

22

meklas.com
497

Q

meklas
group



CONNECT

AIR SPRINGS

171146 210271 210272
2228 2228
157.5
1
- q M22x1.5 0
N + o
< 2xM12x1.75
% 2xM12x1.75
T@soo U

Product ID: 171146 Weight: 4,86 kg QIP (pcs): 36

OEM Ref. CROSS Ref.

Firestone 22

meklas.com Joe meklas
e JrOuUp



CONNECT

AIR SPRINGS

171078

2205

h:175

2300

Product ID: 171078 Weight: 198 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Granning 15603 Contitech FD 41218 S
Kaiser A0B030616 Airtech 2B-300 /114300
Lohr YO0001737 Dunlop SP 256 NB
Metro Bus X6641055

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

171053 215004 215002

0260 ) ‘ @260
0232 @232

h:200

4xM10x1.5 4xM10x1.5

Product ID: 171053 Weight: 6,52 kg QIP (pcs): 36
OEM Ref. CROSS Ref.
Weweler USN 41001MKD Contitech FD 412-18 1/2 M10
USN 51001KD Firestone 12x2
Renault S45-S53 Firestone Part No WO1R58 4061
Granning 15813 Goodyear 2B12-2452
Gigant 881202 Goodyear Flex No 578-92-3-2452
Blacktech 2C 30 FO1
Airtech 2B-300/ 13300
Dunlop SP 1541 NB
Norgren M/31122
Weforma WBZ-G 550
meklas.com . meklas

e group



CONNECT DF 300-01

AIR SPRINGS

171061 215003 215002
2260 260
0232 0232
M16x1.5
o
Q
= 42.9]

Product ID: 171061 Weight: 474 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Fruehauf UJB 0985 Contitech FD 412-18 PO1
Granning 15814 Firestone 12x2NB
Lahr AO0B030601 Firestone Part No WO01R58 4073
SMB MOB3796 Goodyear 2B12-2457
Kaiser A0B030615 Goodyear Flex No 578-92-3-2452
Airtech 2B-300 /13301
Dunlop SP 2665 NB (12x2)
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

171069

4xM10x1.5

h:200

DF 300-02

215008
2260
2232
5 loxM22x1.5
42.5
©

215002

2260
@232

4xM10x1.5

Product ID: 171069 Weight: 5,83 kg QIP (pcs): 18
OEM Ref. CROSS Ref.
Kaiser AOB030616 Contitech FD 412-18
Lohr YOO00oN37 Airtech 2B-300 /13305
Granning 15863 Dunlop SP1025NB
Gart T291/ B (291.1.170)
meklas.com

502

O meklas
e group



CONNECT

AIR SPRINGS

171013 210173 210174
2228 9228
157.5
M12x1.5 == =
~ ~
S + 0
2xM12x1.75
3xM12x1.75

Product ID: 171013 Weight: 8,25 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

BMC 57RS066424 Airtech 3B-305HYD / 115021

meklas.com s meklas
e Jroup



CONNECT

AIR SPRINGS

171042 210032 210038

08228

M12x1.5 6H

h:287

M12x1.75 6g

Product ID: 171042 Weight: 8,00 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

171064 210206 210207

0228 o228

/3

h:287

2xM12x1.75 2xM14x2

Product ID: 171064 Weight: 8,00 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Cardi 58053200 Airtech 3B-310 HYD / 115009
Granning 1704D Dunlop 12X 3-VSM 10132
Pirelli 322 BB-93410 Gart T 271/S - 271.3.298/1
Rolfo 12273

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

171066 210173
2228
157.5
o
> M12x1.5 -
S e
2xM12x1.75
o I o=
U U
@300

Product ID: 171066 Weight: 8,00 kg

OEM Ref.

CROSS Ref.

210208

0228

- SxM12x1.75

QIP (pcs): 30

Granning 17017 Airtech 3B-310 HYD / 115008
SAF 3.2281002.01 Gart T 271/S - 271.3.296
meklas.com
506

O meklas
e group



CONNECT T 300-10 (4 PLY)

AIR SPRINGS

171075 210007 210224

0228

M20x1.5

M12x1.75 M12x1.75
M12x1.5 ‘

h:287

Product ID: 171075 Weight: 8,25 kg QIP (pcs): 32
OEM Ref. CROSS Ref.
Granning 15673 Firestone 38D
Tuoghline 15673 Firestone Part No w01358 8017
Airtech 3B - 310HYD / 115010
Dunlop S12302 (12"x3 NB)

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171084

@205

h:200

2300

Product ID: 171084 Weight: 3,20 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Granning 15818 Contitech 950.327
Airtech 3B-300 HYD / 116001
Dunlop SP 153 (VSM 10132) (12x3)
meklas.com . meklas
e group



CONNECT

AIR SPRINGS

171047 210184 210177

h:289

4xM10x1.5 4xM10x1.5

Product ID: 171047 Weight: 8,50 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

Granning 15816 Contitech FT 412-321/2M10

Pirelli T28B /90559 Firestone 12x3

Gigant 881204 Firestone Part No WO01R58 4062
Goodyear 3B12-2452
Goodyear Flex No 578-93-3-2451
Airtech 3B-300 /115003
Dunlop SP 1542 NB

PNP305520178
Norgren M/31123 (12x3)
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

171044 215003 215002

M16X1.5

h:289

4XM10X1.5

4XM10X1.

Product ID: 171044 Weight: 5,57 kg QIP (pcs): 27

OEM Ref. CROSS Ref.

Lohr AOB030606 Contitech FT 412-32 / 66338

Samro H250001M Firestone Part No WO01R58 4037

Granning 15897 Goodyear 3B12-2455

Benalu M 002297 Goodyear Flex No 578-93-3-2451

GT Fruehauf M002297 Airtech 3B-300 /15004

SMB/Suspension Inc.  M002297 Dunlop 12x3 - SP 2666 NB
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

171050 215008 215002

2260 ‘ @260
0232

4. . i
o — T
Sy | ¥

2xM22x1.5

f

h:289

4xM10x1.5

Product ID: 171050 Weight: 8,55 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171138 210267

h:186

2300

Product ID: 171138 Weight: 4,96 kg

210097

QIP (pcs): 40

OEM Ref. CROSS Ref.

Firestone
Airtech

22
2B-301/ 113307

meklas.com
512

Q

meklas
group



CONNECT D 301-06

AIR SPRINGS

171098 210236 210097

h:186

2300

Product ID: 171098 Weight: 4,96 kg QIP (pcs): 60
OEM Ref. CROSS Ref.
Contitech FD 330-22 G 1/4 - 60031
Firestone 22
Firestone Part No W01 M58 6381
Airtech 2B-301/ 113308

meklas.com s meklas
e Jroup



CONNECT D 301-09

AIR SPRINGS

171085 210230 210039
2228
157.5
§ Rp1/4” A
M10x1.5
2228

Product ID: 171085 Weight: 7,00 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Granning 15646 Firestone 22
Hendrickson NA1816 Airtech 2B-301/ 113312
SAF 2.2291001.00 Dunlop 12"x2 S 12201

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

171079 210225 210226
9228
157.5 2223
M14x1.5
; /\ 2xM10x1.5 2xM10x1.5
ay i

Product ID: 171079 Weight: 7,00 kg QIP (pcs): 40

OEM Ref. CROSS Ref.

Scania 1510249 Airtech 2B-301/113329

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

171115 210225 210226

2xM10x1.5

140
140

2xM10x1.5

h:186

2300

Product ID: 171115 Weight: 6,90 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

Scania 1503813-7317 Airtech 2B-301/ 113554

meklas.com - meklas
e JrOuUp



CONNECT D 301-18

AIR SPRINGS

171149 210273
3228
120
A
o
N M16x1.5 " S ™
< 2xM20x2.5
=
3300

Product ID: 171149 Weight: 6,64 kg

OEM Ref. CROSS Ref.

210274

0228

M16x1.5
M30x1.5

QIP (pcs): 45

Kassbohrer 4.731.045.100 Phoenix SP 2B 22-R151666
4731045.300 Airtech 2B-301/ 13556
meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

171221 210346
2228
157.5
— o
© G1/4” 2
® + ©
0. 2xM8x1.25 6H
@300

Product ID: 171221 Weight: 4,86 kg

210347

0228

2xM8x1.25 6H

QIP (pcs): 63

OEM Ref. CROSS Ref.

Contitech

FD 330-22 /60031

meklas.com
518

O meklas
e group



CONNECT

AIR SPRINGS

171147

2205

h:160

2300

Product ID: 171147 Weight: 198 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Granning 15603 Airtech 2B-300/14300
Kaiser A0B030616 Dunlop SP 256 NB
Lohr YOQ001737
Metro Bus X6641055

meklas.com i meklas
e Jroup



CONNECT

AIR SPRINGS

171183 210184 210177

0260 ‘ ‘ 3260
8232

02352

4xM10x1.5

h:197

4xM10x1.5

Product ID: 171183 Weight: 6,38 kg QIP (pcs): 45

OEM Ref. CROSS Ref.

Weweler USN 510011KD Contitech FD 412-18 1/2 M10

Granning 15813 Firestone 12x2

Gigant 881202 Firestone Part No W01R58 4061
Goodyear 2B12-2452
Goodyear Flex No 578-92-3-2452
Airtech 2B-300/M3300
Dunlop SP 1541 NB
Blacktech 2C 30 FO1

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

171133 215003 215002

0260 @260
8232

M16x1.5

h:197

4xM10x1.5

4xM10x1.¢

Product ID: 171133 Weight: 6,51kg QIP (pcs): 45
OEM Ref. CROSS Ref.
BPW HB10350 Contitech FD 412-18 PO1
Fruehauf UJB 0985 Firestone 12x2NB
Granning 15814 Firestone Part No WO01-R58-4073
Lahr AO0B030601 Goodyear 2B12-2457
SMB MOB3796 Goodyear Flex No 578-92-3-2452
Kaiser A0B030615 Airtech 2B -300 /13301
Trouillet HB10350 Dunlop SP 2665 NB
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

171117

2209

h:252

2300

Product ID: 171117 Weight: 3,16 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Granning 15830 Contitech FT412-32S
Airtech 3B-300 HYD /116003
meklas.com
522

O meklas
e group



CONNECT

AIR SPRINGS

171136 215004 215002

h:283

4xM10x1.5 4xM10x1.5

Product ID: 171136 Weight: 7,66 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

Granning 15816 Contitech FT 412-321/2M10

Gigant 881204 Firestone 12x3
Firestone Part No WO01R58 4062
Goodyear 3B12-2452
Goodyear Flex No 578-93-3-2451
Airtech 3B-300 /115003
Dunlop SP 1542 NB

PNP305520178
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

171137 215003 215002

h:283

4xM10x1.5 4xM10x1.5

Product ID: 171137 Weight: 7,82 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Lohr AOB030606 Contitech FT 412-32 / 66338
Samro H250001M Firestone Part No WO01R58 4037
Grannig 15897 Goodyear 3B12-2455
Benalu M 002297 Goodyear Flex No 578-93-3-2451
Fruehauf M002297 Airtech 3B-300 /15004
Scania H 250-0011 Dunlop SP 2666 NB (12x3)
SMB M 002 297
meklas.com - meklas

e group



CONNECT TFO 301-05 (4 PLY)

AIR SPRINGS

171116 215023 215023

h:283

i 12xM8x1.25 12xM8x1.25

2300

Product ID: 171116 Weight: 4,05 kg QIP (pcs): 27
OEM Ref. CROSS Ref.
Viberti 128 118103 Contitech FT 412-32 /66338
Zorzi 100 6506 Airtech 3B - 300HYD / 115005
Bartoletti 91621322 Dunlop SP 2597 - (12"x 3 RE)
lveco 240/36
42107595

meklas.com e meklas
e Jroup



CONNECT

AIR SPRINGS

2 O

171163 215002

0260

0 __ 1

{JMU E

4xM10x1.5

Product ID: 171163 Weight: 7,82 kg

215002

0260

4xM10x1.5

QIP (pcs): 30

OEM Ref. CROSS Ref.

Contitech
Airtech
Dunlop

FT 412-32S /66338

3B-300/ 15007
SP1033NB (12 x 3)

meklas.com
526

Q

meklas
group



CONNECT

AIR SPRINGS

171162 215004 215002

Rp 1/2"

h:306

4xM10x1.5 4xM10x1.5

Product ID: 171162 Weight: 6,65 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Airtech 3B-300 Hyd /115011
Dunlop SP 1542 NB (12x3)

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171113

h:283

TF 301-26 (4 PLY)

16x1.5

4xM10x1.5

Product ID: 171113 Weight: 8,50 kg

215002

4xM10x1.5

QIP (pcs): 30

OEM Ref.

CROSS Ref.

Contitech
Airtech
Dunlop

FT 412-325 /66338
3B - 300HYD / 115012
SP 2666 NB 12x3 NB

meklas.com

528

O meklas
e group



CONNECT

AIR SPRINGS

171108

2xM22x1.5
4x(M10x1.5)

h:283

Product ID: 171108 Weight: 7,58 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171148

220

h:235

300

Product ID: 171148 Weight: 2,17 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Granning 1218 Firestone 2215
Recrusul 10079932 Firestone Part No W01358 0259
095.0092
Goodyear 578923310
Airtech 2B-320/14302
meklas.com - meklas

e group



CONNECT

h:250

AIR SPRINGS

171109

210007

$228

M20x1.5

M12x1.75 M12x1.5

2xM10x1.5

S

#300

210039

Product ID: 171109 Weight: 5,22 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Kassbohrer 4.731.006.000 Phoenix 2B22RA
Terberg T21060123 Vibracoustic V2B22RA
Wiljhuizen 33.86 CF Gomma T22
meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

171111 210223 210097

228 $228

M22x1.5

2xM8x1.25
2xM8x1.25

h:250

300

Product ID: 171111 Weight: 5,70 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Guerra 5002 004 018000 Firestone Part No 22-15T3 095 0258
Tres Eixos 8927 Goodyear 55622 8634
Airtech 2B-320/113325

meklas.com - meklas
e JrOuUp



CONNECT D 302-06

AIR SPRINGS

171105 210066 210039

9228 $298

2xM10x1.5

2xM10x1.5

h:250
+
157.5

?300

Product ID: 171105 Weight: 5,10 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
ROR-Meritor 21226068 Firestone Part No W0O1-M58-6875
Airtech 2B-320 /13342
Dunlop 12"x2

meklas.com s meklas
e Jroup



CONNECT

AIR SPRINGS

171067 215003 215001

9260 ‘ ‘ 9260

8232 8232
; N ’ ‘ M16x1.5  4xM10x1.5
4xM10x1.5_|f '

h:281

Product ID: 171067 Weight: 7,05 kg QIP (pcs): 27

OEM Ref. CROSS Ref.

Fruehauf M07824G Firestone 12x2E

Lohr A0B030622 Firestone Part No WO01-R58-4038

ROR MLF7191 Goodyear 2B12-2450
Goodyear Flex No 578-92-3-2450
Airtech 2B-350/ 13330
Dunlop SP 2782 NB

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

171054 210197 210198
1ot 5 9258 8258
3xM12x1.75
- 2xM12x1.75 - 135
; > /
~

Product ID: 171054 Weight: 8,30 kg QIP (pcs): 27

OEM Ref. CROSS Ref.

BMC 57RS3066424 Airtech 3B-305HYD / 115021

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

171092

219

h:260

Product ID: 171092 Weight: 3,00 kg

QIP (pcs): 30

OEM Ref. CROSS Ref.

Randon 212100072 Airtech

3B-310/116008

meklas.com
536

Q

meklas
group



CONNECT

AIR SPRINGS

171074 210223 210097

9228 9228

M22x1.5
L
MXM8X125 MXMSXWZS
%
[Q\]
<
%300 ‘
Product ID: 171074 Weight: 8,25 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
A Guerra 5002004062000 Contitech FT 330-29 832 Brazil
Firestone 38-R
Firestone Part No WQ01-095-0274
Goodyear Flex No 578338334
Airtech 3B-310/ 115023
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

171072 210206 210220
9228 9228
M22x1.5
ui 1
2xM8x1.25
e 2xM8x1.25
8300

Product ID: 171072 Weight: 6,40 kg QIP (pcs): 27
OEM Ref. CROSS Ref.
Rolfo 112321 Airtech 3B - 310HYD / 115028
Gart T271/S - 271.3.298

CF Gomma (PIRELLI) ~ 322 B.B.-204413

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

171065 210173 210174
228 298
M12x1.5 8157.5
2x12x1.75 2x12x1.75
~ N “

Product ID: 171065 Weight: 8,00 kg QIP (pcs): 24

OEM Ref. CROSS Ref.

Airtech 3B-310 HYD / 115015

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

171142 210007 210266

|
M12x1.
O
n
N
<
9315 ‘
Product ID: 171142 Weight: 6,42 kg QIP (pcs): 25
OEM Ref. CROSS Ref.
Hendrickson HS507907/P Phoenix SP2B22-Ra-2
Airtech 2B-315/113320

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

171063

<;: 4xM8x1.25

$350

h:226

210205 210204

9286 § ‘ $286
| G3/4

4xM8x1.25

Product ID: 171063 Weight: 6,60 kg QIP (pcs): 48
OEM Ref. CROSS Ref.
Grannning 1218 Firestone 22.5x2
Ridewell 1003587443C Phoenix SP 2B 34R
Toughline 1218 Airtech 2B-355 /13450
Watson & Chalin AS-0027
Gigant 196071
meklas.com meklas

541

e Jroup



CONNECT

AIR SPRINGS

171080

h:226

9350

Product ID: 171080

OEM Ref.

210227 210204

9286

9286

4xM8x1.25 4xM8x1.25 |

Weight: 7,00 kg QIP (pcs): 30

CROSS Ref.

DAF 1307 058 Contitech FD 530-221/1M8
Granning 16022 Firestone 22.5x2
Bosch 822419045 Firestone Part No W01-M58-6112
Goodyear 2B14-354
Airtech 2B-355/1M3453
Weforma WBZ 600-E1
meklas.com meklas

542

e group



CONNECT

AIR SPRINGS

171081 210228 210204

G1/2" 9286 ‘ ‘ 9286

4xM8x1.25 4xM8x1.25

h:226

$350

Product ID: 171081 Weight: 7,00 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Firestone 22.5x2
Airtech 2B-355/13455

meklas.com s meklas
e Jroup



CONNECT

AIR SPRINGS

171189 210308 210309

286 ‘ ‘ 286

4xM10x1.5

h:226

$350

Product ID: 171189 Weight: 6,60 kg QIP (pcs): 48
OEM Ref. CROSS Ref.
Firestone 22.5x2
Airtech 2B-355/13459

meklas.com » meklas
e JrOuUp



CONNECT D 350-06

AIR SPRINGS

171134 210263 210204

h:226

$350 4xM12x1.75

Product ID: 171134 Weight: 7,00 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Bosch 822419065 Contitech FD 530-22 61362
Festo EB-385-230 Firestone 22.5x2
Weforma WBZ 600-E2 Airtech 2B-355 /11346

meklas.com e meklas
e Jroup



CONNECT

AIR SPRINGS

171224 210351 201336

286 ‘ ‘ 286
M16x1.5

4xM8x1.25

h:350

»350 4xM8x1.25

Product ID: 171224 Weight: 6,60 kg QIP (pcs): 48

OEM Ref. CROSS Ref.

meklas.com ” meklas
e JrOuUp



CONNECT

AIR SPRINGS

171104 210035 210132
8355 ‘
‘ 9286
/Jyﬂ N 4xM12x1.75
X

h:320

4xM12x1.75

C
TS

Product ID: 171104 Weight: 9,03 kg QIP (pcs): 25

OEM Ref. CROSS Ref.

Facchini 03.08.5017.02 Airtech 3B-357/15038

meklas.com o meklas
e Jroup



CONNECT

AIR SPRINGS

171107 210090 210091

9286 ‘ ‘ 9286

4xM8x1.25

h:326

<¥ 4xM8x1.25

$355

Product ID: 171107 Weight: 9,03 kg QIP (pcs): 25

OEM Ref. CROSS Ref.

Airtech 3B - 357 /15039

meklas.com e meklas
e JrOuUp



CONNECT

AIR SPRINGS

171088

$286

;9) )9 R ¢
=ye )
\_ J

o/ Y

$355

Product ID: 171088 Weight: 3,93 kg QIP (pcs): 18
OEM Ref. CROSS Ref.
Kassbohrer 4.731.034.100 Phoenix 2B34RB
4.731.034.200 Vibracoustic V2B34RB
Pirelli T21B89749 Airtech 2B - 360 /114451
T21B 97141
meklas.com » meklas
e Jroup



CONNECT D 360-01

AIR SPRINGS

171106 210205
3286
T g o r uop
7 )
§ \i> Q 4xM8x1.25
£ 7
.
O )
$355

Product ID: 171106 Weight: 7,56 kg

4xM8x1.25

210204

#286

QIP (pcs): 18

OEM Ref. CROSS Ref.

Phoenix
Airtech

SP2B34R-B
2B-360 /113451

meklas.com
550

O meklas
e group



CONNECT

AIR SPRINGS

171004 210035 210132

»310 ‘ ‘ $310

_ﬂ HA M12x1.5

4x12x1.75

h:220

4x12x1.75

9370

Product ID: 171004 Weight: 6,87 kg QIP (pcs): 42

OEM Ref. CROSS Ref.

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

171005 210090 210091

M22x1 5 | $310 ‘ ‘ 2310

—— 4xM8x1.25 4xM8x1.25

220

9370

Product ID: 171005 Weight: 9,37 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Chereau 01442 Firestone 21D
Firestone Part No W01 M58 7501
Goodyear 2B14-465
Goodyear Flex No 578-92-3-353

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

171165

9260

h:196

9368

Product ID: 171165 Weight: 312 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Granning 15822 Contitech FD 614-26
MCW -Bus & Coach X6651298 Airtech 2B-370 /114350
Samro 2500012 Dunlop SP 1039 (14"x2)
VSM 10246
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

DO 370 (4 PLY)

171164

9260

h:190

p368

Product ID: 171164 Weight: 3,72 kg

QIP (pcs): 30

OEM Ref.

CROSS Ref.

Contitech
Airtech
Dunlop

FD 614-26
2B-370 /114350
SP 1039 (14"x2)
VSM 10246

meklas.com

554

O meklas
e group



convecr  SEESIY

171167/ 215012 215013
8310 8310
) 282.5 282 5
© M22x1.5 ©
4xM10x1.5 SREEX D
O
2 ® © o
e
e y
4xM10x1.5
Product ID: 171167 Weight: 9,00 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Samro 250-0012 Contitech FD 614-26 / 66013
Weweler USN 510010DX Firestone 14.5x2
Gigant 881205 Firestone Part No W01-R58-4064
Goodyear 2B14-2650
Airtech 2B-370/ 13353
Dunlop 14%ax 2
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

215021

$310
282.5

171158

5 M22x1.5

4xM10x1.5

h:196

Product ID: 171158 Weight: 9,00 kg

OEM Ref.

CROSS Ref.

215013
8310
282.5
/6\
© ©
4xM10x1.5

QIP (pcs): 30

Granning 15822 Contitech FD 614-26 / 66013
Airtech 2B-370 /113354
Dunlop SP1988(14x2) PNP 304 140 137
meklas.com

556

O meklas
e group



CONNECT

AIR SPRINGS

171127

h:196

215017

$310
282.5

4x10x1.5

Product ID: 171127 Weight: 9,05 kg

DF 370-08

215013

$310
282.5

QIP (pcs): 30

OEM Ref.

CROSS Ref.

Weweler USN510010DX Contitech FD 614-26 1/2 M10
Granning 15821 Firestone 14.5x2
Gigant 881205 Firestone Part No W01-R58-4064
Airtech 2B-370/M13358
Dunlop 141/2x2 SP1556
Norgren M/31142 (141/2x2)
meklas.com - meklas

e Jroup



CONNECT DF 370-09

AIR SPRINGS

171160 215015 215013
9310 5310
282.5 282.5
Q
1 1 n /\

© 4xM10x1.5

@ © ©

= 4xM10x1.5

9368

Product ID: 171160 Weight: 9,06 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Granning 15882 Contitech FD 614-26 / 66013
Fruehauf J40 108 MO8 A0S Firestone 14.5x2
Airtech 2B-370 /13359
Dunlop SP1998

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

DFO 370-20 (4

171175

215027

$310

9282

h:196 ‘

Product ID: 171175 Weight: 5,44 kg

OEM Ref. CROSS Ref.

215027

$310
282

QIP (pcs): 24

Cardi 580553800 Contitech FD 614-26 / 66013
Viberti 128118102 Airtech 2B - 370/HYD / 113361
Dunlop SP 2599
meklas.com
559

O meklas
e group



CONNECT DF 370-25 (4 PLY)

AIR SPRINGS

171166 215028 215020

8310 ‘ 3310
$282.5 $282.5

M22x1.5

h:196

8xM10x1.5 7

8xM10x1.5

Product ID: 171166 Weight: 10,62 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
Contitech FD 614-26 / 66013
Airtech 2B-370 HYD /113350
Dunlop 14X2 RE

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

171126

$260

h:275

»368

Product ID: 171126 Weight: 5,06 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Granning 15827 Firestone FTB614-36S
Airtech 3B-370
16100
Dunlop 141/2 x 3 SP 2007
(14 1/2xRE)
meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

171168

h:281

4xM10x1.5

215017 215013
310 ‘ 2310
282.5 $282.5

Rp1/2
4xM10x1.5

Product ID: 171168 Weight: 11,95 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
Granning 15827 Contitech FT 614-36 / 68044
Airtech 3B-370 / N5
Dunlop SP 2526 (14 1/2 X 3 RE)
meklas.com

- o meklas
e Qroup



CONNECT

AIR SPRINGS

171124 215012 215013

3310 8310
$282.5 ‘ $282.5

©
M22x1.5

© ©
4xM10x1.5

4xM10x1.5

281

Product ID: 171124 Weight: 10,94 kg QIP (pcs): 20

OEM Ref. CROSS Ref.

Granning 15827 Contitech FT 614-36 1/2 M10
Firestone 14x3,5
Firestone Part No WO01-R58-4065
Goodyear 10"x3 SP1539
Airtech 3B-370 /115103
Dunlop 141/2x 3 RE

meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

171139 215021 215013
2310 9310
$282.5
M22x1.5 5
= 4xM10x1.5 4xM10
N o T
©

Product ID: 171159 Weight: 10,98 kg QIP (pcs): 20
OEM Ref. CROSS Ref.
Diebolt 2799 070 Contitech FT 614-36 / 68044
Fruehauf VFA 2520-1 Airtech 3B-370 /115104
Lohr A0B030605 Dunlop SP 2547 (141/2 X 3)
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

171156 2102357

$310

9$282.5

Rp1/2

h:281

Product ID: 171156 Weight: 10,98 kg

OEM Ref. CROSS Ref.

210218
8310
$282.5
m
© [}
4xM10x1.5

QIP (pcs): 20

Granning 15824 Contitech FT 614-36 1/2 M10
Weweler USN 510018 KD Airtech 3B-370/115108
Dunlop SP1558141/2x 3
Norgren M/31143 (141/2x3)
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

171125 215028

#2310
9282

8xM10X1.5

281

Product ID: 171125

OEM Ref.

M22x1.5

Weight: 12,16 kg

CROSS Ref.

215019

$310
9282

8xM10X1.5

QIP (pcs): 20

Granning 15832 Contitech FT 614-36S / 68044
Weweler USN 510018KD Airtech 3B-370 HYD / 115100
Dunlop SP 2007 (14 1/2 X 3 RE)
meklas.com

566

O meklas
e group



CONNECT

AIR SPRINGS

171178 215012 215011

282

M22x1.5

4xM10x1.5 4xM10x1.5

h:281

Product ID: 171178 Weight: 9,88 kg QIP (pcs): 18

OEM Ref. CROSS Ref.

meklas.com e meklas
e Jroup



CONNECT

AIR SPRINGS

171091

9260

h:190

406

Product ID: 171091 Weight: 3,20 kg

OEM Ref. CROSS Ref.

QIP (pcs): 30

Granning 15831 Airtech 2B-400/114400
Samro 2500013 Dunlop SP 1194
SP199 8
meklas.com e meklas

Q

group



CONNECT DF 400-01

AIR SPRINGS

171089 215012 215013

@310 ‘ ) 2310

3282.5 3282.5

iy 0 iy
©
o
=

4xM10x1.5
i T i
0406

4xM10x1.5

Product ID: 171089 Weight: 9,38 kg QIP (pcs): 25
OEM Ref. CROSS Ref.
Granning 17017 Airtech 2B-400/13403
SAF 3.2281002.01 Dunlop 16" x2

meklas.com . meklas
e Jroup



CONNECT DF 400-02

AIR SPRINGS

171096 215021

$310
$282.5

M22x1.5

4xM10x1.5

o W e
3

Product ID: 171096 Weight: 9,76 kg

OEM Ref. CROSS Ref.

215011

8310
©282.5

€]

o
4xM10x1.5

QIP (pcs): 30

Granning 15830 Airtech
Dunlop

2B - 400/ M13404
16" x 2

meklas.com
570

o meklas
e group



CONNECT DF 400-04

AIR SPRINGS

171100 215017 215013
?310 3310
28,25 ‘ $282.5

4xM10x1.5

195

[©)
Rp1/2
@
4xM10x1.5
©

Product ID: 171100 Weight: 9,70 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Granning 15829 Airtech 2B -400/113408
Weweler USN 5100 08DX Dunlop 16x2 (SP 1557)

meklas.com - meklas
e Jroup



CONNECT DF 400-05

AIR SPRINGS

171099 215015 215011

310 X 310
$282.5 . $282.5

Q
©
\\g/

4xM10x1.5

h:195

Product ID: 171099 Weight: 9,70 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

Granning 15830 Airtech 2B -400/13409

meklas.com - meklas
e JrOuUp



171097 215014 215020
8310 | | 8310
$282.5
0 0 o 40 M22x1.5
. BM10x1.5,
E . 8xM10x1.5

il i T
2406

Product ID: 171097 Weight: 10,62 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Airtech 2B - 400-HYD / 113401
Dunlop 16x2RE
meklas.com meklas

573

e Jroup



CONNECT

AIR SPRINGS

171071 215012 215011

8310 3310
$282.5

280

4xM10x1.5

Product ID: 171071 Weight: 10,55 kg QIP (pcs): 30

OEM Ref. CROSS Ref.

Airtech 3B-400 HYD /115150

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

171101 210237 210218

$310 ‘ ‘ 6310
$282.5

Rp1/2

h:280

4xM10x1.5

Product ID: 171101 Weight: 12,88 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Granning 15832 Airtech 3B-400 Hyd / 115155
Kaiser WC 074 0236 Dunlop SP 2141 (PNP 313 170 100)
1B6x3RE
meklas.com e meklas

e Jroup



-LLOWS






578



CONNECT

AIR SPRINGS

101001

0207
£130.8

o

h:394

| ——
©130.8

Product ID: 101001 Weight: 110 kg QIP (pcs): 48

OEM Ref.

CROSS Ref.

Bussing
Volvo

M.AN
Mercedes
VDL BUS
BPW
Neoplan
EVO - BUS

Kassbohrer

Breda Menarini

536 905 265/ 536 905 266

1134 445/1199893/16221M/
3159252

81.436.010.017

A (000 327 0101/AB13 3270001
06839677

02.200.24.40.0
AA10-01-300/100110 300 /100112 254
A (000 3200321/AB133270001/
A3073270101/A0003270101/
A 327327 0001/A307 3280001
4.771170.000 / 4.771.441.000 /
4.771143.000

199196

Contitech
Firestone
Firestone Part No
Goodyear
Phoenix
Vibracoustic
Blacktech
Airtech
Dunlop PNP
Granning
CF Gomma
Gart

644N
1R1A390-295
W01-095-0118
8017

1E21

VIE21

RL9755

3644

30147 0102
15622

15285-24 / 92574
276.0.390/D276/B

meklas.com

579

meklas
e group



CONNECT

AIR SPRINGS

101002

3240

2150.8
|

e

h:391

Product ID: 101002 Weight: 1,65 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
MAN 90.831120144 Contitech 661N
Mercedes AB13327 0201 Firestone 1R1C390-310
Van Hool 624319-670 / 624319-690 X
veco 4746733 | 1822247 Firestone Part No W01-095-0021
Sachs 0501323 86 Goodyear 8018
Schimitz 750 208 Phoenix 1E25
Hanomag 536905 26/5 , Vibracoustic VIE25(-2)
Neoplan 100112 250 / 110163 45
AAID-01-001 B.lacktech RL9?72
Evo Bus A 410327 00 01 Airtech 366
Magirus -Deutz 0249 8667 Dunlop PNP 30498 0101
0418 22247 Granning 15621
Volvo 1137888/3195253 CF Gomma 1S310-28 / 91016
Kassbohrer 4.731.012.000/ 4.731.031.000 /
4731.042.000 /4.771427.000 / Gart 2970.390/D297
4.771440.000
Insbus 5.001.829.866
meklas.com meklas

580

e group



CONNECT

AIR SPRINGS

101003

2300
2198.1

R

(@]
[<e]
M)
<
2198.1
Product ID: 101003 Weight: 2,31kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Bussing 100 110 200 /100 112 251 Contitech 662N
VDL Bus 0578 361 Firestone 1R1ID355-355
BPW 02.200.24.60.0 Firestone Part No W01-095-0207
Schimitz 750209 Goodyear 9007
Neoplan 100112 251 Phoenix 1E32
100110 200 Vibracoustic VIE32
AA10-01-002 Blacktech RL9773
AA10-21-300 Airtech 3662
Dunlop PNP 302730101
Granning 15623
CF Gomma 1SC360-30/ 92594
Gart 297.0.380/C292/C
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

OEM Ref.

101004

38230

£130.8

h:370

1

£130.8

Product ID: 101004 Weig

ht: 1,36 kg

CROSS Ref.

QIP (pcs): 40

Mercedes

VDL Bus
Evo-Bus
Magirus- Deutz
\olvo

Breda Menarini

A 3833270001
0627584

A3833270001/A621328 00 01

02491566
1611776
178 623 /325993

Contitech
Firestone
Firestone Part No
Goodyear
Phoenix
Vibracoustic
Airtech

Granning
Blacktech

Gart

673N
1R1A370-285
WO01-095-0198
9051

1F21A

VIF21A

3673

15927

RL9784
276.0.370/D276/C

meklas.com

582

meklas
e group



CONNECT

AIR SPRINGS

101005

0260

23179

AN

h:345

3179

Product ID: 101005 Weight: 2,60 kg QIP (pcs): 38
OEM Ref. CROSS Ref.
lkarus B 510040 Contitech 701N
Bova Bus B 510040 Firestone 1R3M340-340
Firestone Part No WQ01-095-0205
Goodyear 9006
Phoenix 1E26
Airtech 3701
Granning 15706
Vibracoustic VIE26
Blacktech RLS812
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

101006
2130.8

2240

h:510

! —
£130.8

Product ID: 101006 Weight: 1,85 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
M.AN 81.43601.0096 Contitech 706 N1
81.43601.0098 Goodyear 9067
81.43601.0101 Blacktech RLS817
81.43601.0139 Airtech 3706
Granning 16247
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

101007

0240
£130.8

]

[£130.8_]
Product ID: 101007 Weight: 1,80 kg QIP (pcs): 54
OEM Ref. CROSS Ref.
\olvo 1622116 Contitech 713N
6797169 Goodyear 9066
Phoenix 1F21D
Vibracoustic VIF21D
Blacktech RLS824
Airtech 3713
Granning 15929
Gart 304.0.490/C304/B
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

101008
0265
7150.8
(@]
n
M
<
1
Product ID: 101008 Weight: 170 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Insbus 5.000.819.517 Contitech 715N
M.AN 81.436.010.059 / 81.436.010.060 / Firestone 1R1C335-310
81.436.010.061/ 81.436.010.075 / Firestone Part No W01-095-0087
81.436.010.078 / 81.436.010.078 / Goodyear 8015
81.436.010.083 / 81.436.010.090 / Phoenix 1F25
81.436.01013/81.436.01015 / Vibracoustic VIF25
81.436.010.117 Blacktech RL9826 Gart
Mercedes A363328 0000 Airtech 3715
VDL Bus 0659 561 Dunlop PNP 304890101
Renault 5.000.819.517 Granning 15626
CF Gomma 1SC310-16 / 93518
meklas.com meklas

586

e group



CONNECT

AIR SPRINGS

101009
2260
2130.8

)

h:460

—
©130.8

Product ID: 101009 Weight: 213 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Volvo 1593 842 Contitech 716N
M.AN 81.43601.0039 Firestone 1R2A450-305
81.43601.0040 Firestone Part No W01-095-0145
Goodyear 9073/ D12519
Phoenix 1F 26 B-1
Vibracoustic VIF26B-1
Blacktech RL9827
Airtech 3716
Granning 15693
CF Gomma 1SC300-34 /92548
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

101010

2198.1

//J 2300 ‘\\

h:530

2198.1

Product ID: 101010 Weight: 2,90 kg QIP (pcs): 18
OEM Ref. CROSS Ref.
Kassbohrer 4.731.032.000 Contitech 719N
DAF 0818225 Firestone 1R2D530-360
BPW 02.200.24.000 Firestone Part No W01-095-0192
Schmitz 750 215 Goodyear 8n18
Neoplan 100110100 /102100 200 Phoenix 1F32B
Gigant 166205 Vibracoustic VIF32B
196036 Blacktech RL9820
Airtech 3719
Dunlop PNP 30462 0101
Granning 15701
CF Gomma 1SC360-43 /92593
Gart 292.0.520/C292/E
meklas.com meklas

588

e group



CONNECT

AIR SPRINGS

101011
2240
2130.8

7

h:460

Product ID: 101011 Weight: 1,57 kg QIP (pcs): 54
OEM Ref. CROSS Ref.
Neoplan 100112 300 Contitech 720N
Volvo 1590136 Firestone 1R2A460-295
162215 Firestone Part No W01-095-0195
1629193 Goodyear 9008/ D12S04
Mercedes A 387328 0101 Phoenix 1F 21
BPW 02.200.2410.0 Vibracoustic VIF21
M.AN 81.436.010.033 Blacktech RL9831
81.436.010.037 Airtech 3720
Dunlop PNP 30100 0100
Granning 15702
CF Gomma 1SC290-30 /88802
Gart 299.0.450/C299
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

101012

2300
2198.1

N\

]

h:450

£198.1

Product ID: 101012 Weight: 2,55 kg QIP (pcs): 22

OEM Ref. CROSS Ref.

M.AN 81.436.010.056 / 81.436.010.057 / Contitech 727N
81.436.010.058 / 81.436.010.076 / Firestone 1R2D460-360
81.436.010.079 / 81.436.010.082 / Firestone Part No W01-095-0191
81.436.010.084 / 81.436.010.091/ Goodyear 817/ d13S04
81436.010.114 / 81.436.010.116 Phoenix 1TF32A

Van - Hool 624319-640 Vibracoustic VIF32A

VDL Bus 0638148 Blacktech RL9838

\olvo 1134 446 Airtech 3727

DAF 0638148 Dunlop PNP 306420100

Gigant 196043 Granning 15700

CF Gomma 1SC360-34 / 92575
Gart 292.0.450/C292/D
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

101013

2300
©198.1

= N

h:476

N

. 2198.1 |
Product ID: 101013 Weight: 2,50 kg QIP (pcs): 22
OEM Ref. CROSS Ref.
Schmitz 750 212 Contitech 728 N
Firestone 1R25470-360
Firestone Part No W01-095-0419
Goodyear 817
Blacktech RL9839
Airtech 3728
CF Gomma 1SC360-34 / 92575
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

101014
2265

h:485

Product ID: 101014 Weight: 1,97 kg QIP (pcs): 22

OEM Ref. CROSS Ref.
Mercedes A3933280101 Contitech 737N
Breda Menarini 178739 Firestone 1R2A480-330
Chereau VSR U5 00211F Firestone Part No W01-095-021
lveco 44561 Goodyear 9075 / D13S06
Pegaso 4746740 Phoenix 1F 26

Vibracoustic VIF26

Blacktech RL9848

Airtech 3737

Granning 16017

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

101016

0265
2130.8

)

h:385

|9130.8]
Product ID: 101016 Weight: 1,80 kg QIP (pcs): 80
OEM Ref. CROSS Ref.
Mercedes A3633280201 Contitech 757 N
Firestone 1R2A380-305
Firestone Part No WQ01-095-0212
Goodyear 9077/ D12520
Phoenix 1F26C
Vibracoustic VIF26C
Blacktech RL9868
Airtech 3757
Granning 16018
meklas.com o meklas

e Jroup



CONNECT

AIR SPRINGS

101017

2300

©198.1

)

h:390

©198.1

Product ID: 101017 Weight: 2,30 kg QIP (pcs): 20

OEM Ref. CROSS Ref.

BPW 02.200.24.20.0 Contitech 762N
09.429.38.02.0 Firestone 1R2D390-360
02.200.24.00.0 Firestone Part No W01-095-0190

DAF 0644 425 Goodyear 9010/ D13S02
0578 361 Airtech 3762

Neoplan 102100 300 Dunlop PNP 307800100

Kassbohrer 4.731.013.000 Granning 15698

MAN 81.43601.0049 Vibracoustic VIF32
81.43601.0052 CF Gomma 1SC360-30

Van Hool 624319-460 92594
624319-680 Blacktech RL9873

VDL Bus 0644 425 Gigant 196035

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

101018
2265

- N ey

£130.8

h:385

£130.8

Product ID: 101018 Weight: 2,64 kg QIP (pcs): 25
OEM Ref. CROSS Ref.
Renault 5.000.954.175 Contitech 768N
Volvo 1612 455 Firestone 1R2A380-330
Insbus 5000954175 Firestone Part No WQ01-095-0213
Goodyear 9078/ D13S08
Phoenix 1E27
Vibracoustic V1E27
Blacktech RL9879
Airtech 3768
Granning 16019
Gart 302.0.385/C302/A
meklas.com o meklas

e Jroup



CONNECT

AIR SPRINGS

101067
2190

2130.8
—

"

h:380

2130.8

Product ID: 101067 Weight: 1,86 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Renault 5.000.805.284 Contitech 769N
Breda Menarini 252933 Firestone 1R1A380-260
Daewoo 96708574 Firestone Part No W01-095-0204
Insbus 5.000.786.640 Goodyear 8053/ D10S02
5.000.805.284 Phoenix 1E18

Van Hool 624319-860 Vibracoustic VIE18

Blacktech RL9870

Airtech 3769

Granning 15705

meklas.com meklas

596

e group



CONNECT

AIR SPRINGS

101020
2210
2130.8

T

h:410

£130.8

Product ID: 101020 Weight: 1,50 kg QIP (pcs): 48
OEM Ref. CROSS Ref.
\olvo 21102 227 Contitech 782N
Mercedes A382 3277201 Firestone 1R1A415-285
Renault V.15.000.854.176 Firestone Part No W01-095-0197
5.000.869.179 Goodyear 9013/ D1S02
5.000.787632 Phoenix 1E21D
Insbus 5.000.954.176 Vibracoustic VIE21D
500.324.098 Blacktech RL9893
lveco 5003 24098 Airtech 3782
Granning 15703
CF Gomma 1S 290--23V
204427
Gart 286.0.420/D286
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

101022 310007

2254

‘S

M10x1.5

h:415

NIV

Product ID: 101022 Weight: 3,50 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Breda Menarini 178739 Contitech 9039 NTB
lveco 99459166 Goodyear 1R12-709
174932 Phoenix 1D 23C-1
MAN 81436016023 Airtech 3809 T
Pegaso 174932 CF Gomma 1T320SP

meklas.com s meklas
e JrOuUp



CONNECT

AIR SPRINGS

101052

h:315

Product ID: 101052 Weight: 1,60 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Breda Menarini 252933 Contitech 817N
Insbus 5.000.805.998 Blacktech RL 9928
5.810.805.998 Airtech 3817
5.000.768.641 Granning 15938
CF Gomma 1SC260-30 97613
Gart 289.0.301/C289/BS
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

28265

h:594

£130.8

Product ID: 101025 Weight: 2,46 kg QIP (pcs): 18

OEM Ref. CROSS Ref.

Mercedes A 674 328 00 01 Contitech 838N
Goodyear 9074 / D13S05
Phoenix 1F26D
Vibracoustic VIF26D
Blacktech RL93949
Airtech 3838
Granning 15940

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

101049

28240

2150.8

h:470

! ——
©150.8

Product ID: 101049 Weight: 2,20 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
lveco 8139068 Contitech 876N
41022620 Airtech 3876
Renault VI 5.000.296.816 Granning 17092
5.000.296.827 CF Gomma 15323-34
92477
Blacktech RL9987
Gart 298.0.460/D298/C
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

101026
2210

£130.8

h:465

Product ID: 101026

7N

QI
@0]

Weight: 1,32 kg

QIP (pcs): 44

OEM Ref. CROSS Ref.
Breda Menarini DO3M5 Contitech 882 N1
M.AN 81.43601.0065 Firestone 1R4R465-260
81.43601.0067 Firestone Part No W01-095-0435
81.43601.0070 Goodyear 9048/ D12512
81.43601.0092 Phoenix 1F16
81.43601.0099 Airtech 3882
81.43601.0103 Granning 15944
81.43601.0121 Vibracoustic VIF16
81.43601.0132 CF Gomma 1SC250-28
Mercedes AB939 3280101 97042
Blacktech RL9993
Gart 298.0.400/C298/D
meklas.com meklas

602

e group



CONNECT

AIR SPRINGS

101027

3230
£130.8

7

h:495

E 2130.8 /)

Product ID: 101027 Weight: 1,95 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
M.AN 81.43601.0071 Contitech 883 N1
81.43601.0072 Goodyear 9012 / D11SB2
81.43601.0110 Phoenix 1F21C-2
81.43601.0128 Vibracoustic VIF21C-2
81.43601.0137 Blacktech RL9994
Volvo 1082085 Airtech 3883
1082130 Granning 94517
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

101028

28230
£130.8

)

h:420

I
Product ID: 101028 Weight: 2,23 kg QIP (pcs): 58
OEM Ref. CROSS Ref.
M.AN 81.43601.0066 Contitech 884 N
81436010068 Firestone 1R2B415-270
81.43601.0069 Firestone Part No W01-095 0295
81.43601.0106 Goodyear 9002 / D12S06
81.43601.0108 Phoenix 1TF20A
lveco 8188539 Vibracoustic VIF20A
5003 01452 Blacktech RL9995
97108363 Airtech 3884
Pegaso 8188539 Dunlop 02443A-AP
Insbus 5.000.301452 CF Gomma 1SC2 270 -28
5.010.294.385 97043
Gart 290.0.420/D290
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

101029
2186

9120.6

h:510

2120.6

Product ID: 100029 Weight: 1,80 kg QIP (pcs): 50

OEM Ref. CROSS Ref.

Scania aMe27 Contitech 896 N

Dennis 655 606/1 Firestone 1R1J520-285

656 300/2 Firestone Part No WO01-095-0245
Goodyear 8040 / SP2191
Phoenix 2E18A
Blacktech RL9S07
Airtech 3896
Dunlop PNP 30514 0100
Granning 15639
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

101030
0220
i 0164.8
(@]
M
~
<
Product ID: 101030 Weight: 175 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Pegaso 794686 Contitech 897N
795097 Firestone 1R1K440-320
Cardi 58050315 Firestone Part No W01-095-0229
Dennis 656 289/2 Goodyear 8028 /SP2192
Scania 411622 Phoenix 2E23
411623 Vibracoustic V2E23
Blacktech RL9908
Airtech 3897
Dunlop PNP 305210100
Granning 15642
CF Gomma 1S320-30
88788
Gart 278.0.430/D278
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

101031

2240
£130.8

7 )

h:465

I
Product ID: 101031 Weight: 174 kg QIP (pcs): 54
OEM Ref. CROSS Ref.
M.AN 81.43601.0095 Contitech 916 N1
81.43601.0097 Firestone 2R2A460-295
81.43601.0100 Firestone Part No W01-095-0555
81.43601.0102 Goodyear 9015/ D12s05
81.43601.0105 Phoenix 1F21C-5
81.43601.0126 Vibracoustic VIF21C-5
81.43601.0138 Blacktech RLS027
Airtech 3916
Dunlop 01758A-AP
Granning 15912
Gart2 89.0.455/C289/C1
meklas.com meklas

o e Jroup



CONNECT

AIR SPRINGS

101068
@190
7130.8
/‘;I
(@]
<
<
1
Product ID: 101068 Weight: 1,85 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
lveco 99459166 Contitech 921N
Evo Bus A 0003280001 Firestone 1R1A415-260
Kassbohrer 4.771.503.000 Firestone Part No W01-095-0226
Insbus 5.000.288982/ Goodyear 8043/ D10S04
5.010151.378 / Airtech 3921
5.010151.379 Vibracoustic VIET7
Blacktech RL9032
Gart 276.0.391/D276/BS
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

101032

2186

2120.6

A

h:425

1 —
2120.6

Product ID: 100032 Weight: 1,30 kg QIP (pcs): 50
OEM Ref. CROSS Ref.
Volvo 3116 354 Contitech 927N
AAU 2542 Firestonel R1J415-285
Dennis B611896/12 Firestone Part No W01-095-0244
Leyland 316 354 Goodyear 8037
AAU 2542 Phoenix 2E18B
Blacktech RL9038
Airtech 3927
Dunlop PNP 30008 0100
Granning 15637
Vibracoustic V2E18B
meklas.com - meklas

e Jroup



CONNECT

AIR SPRINGS

101035
0220
2164.8
Pi—g
M
N~
M)
<
Product ID: 100033 Weight: 1,60 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Dennis 650292 /8 Contitech 928N
650883/4-7 Firestone 1R1IK380-320
Volvo 10904 403 Firestone Part No W01-095-0228
316983/ Goodyear 8042/ D12S03
AAU 2544 Phoenix 2E23A
lveco 6453741 Vibracoustic V2E23A
Blacktech RL9039
Airtech 3928
Dunlop IC 3308
meklas.com meklas

610

e group



CONNECT

AIR SPRINGS

101034

@216
2130.8

h:290

! —
£130.8

Product ID: 101034 Weight: 1,20 kg QIP (pcs): 60
OEM Ref. CROSS Ref.
lveco 6144040 Contitech 943N
8160165 Firestone 1R1A260-285
6144040 Firestone Part No W01-095-0189
Pegaso 199563 Goodyear 9001/ DNS05
Breda Menarini S5001051 Blacktech RL9054
Scania 4890 001 Airtech 3943
Granning 15696
CF Gomma 15285-18
88809
Gart 276.0.260/D276/D
meklas.com meklas

611

e Jroup



CONNECT

AIR SPRINGS

101035

0216

£130.8

—

h:390

! —
9£130.8

Product ID: 101035 Weight: 140 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
lveco 4714025 / 4738008 / 8188526 / Contitech 944 N
4714025 /4722525 /5254025 / Firestone 1R1B390-270
6657150 Firestone Part No W01-095-0121
DAF 627584 Goodyear 9009/ DN11S04
Inbus 484 0005/ 4839 0001/ 484 0001/ Phoenix 1E21-6
5001051 Airtech 3944
Scania 523229 Granning 15704
Inbus 484 0005 / 4839 0001 CF Gomma 97619
88786
Blacktech RL9055
Gart 290.0.390/D230/B
meklas.com meklas

612

e group



CONNECT

AIR SPRINGS

101036
9216
2130.8

)

h:435

Product ID: 101036 Weight: 1,65 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
lveco 4716989 Contitech 945N
Pegaso 197145 Firestone 1R1A460-290
4716989 Firestone Part No W01-095-0063
769388 Goodyear 9014 / D12512
Scania 523229 Phoenix 1TE21C
Breda Menarini 178 741 Blacktech RL9056
Airtech 3945
Dunlop 03065A-AP
Granning 15641
CF Gomma 15285-25
97555
Gart 276.0.420/ D276
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

101057
2230

£130.8

| I—

h:435

1
[9130.8]
Product ID: 101057 Weight: 1,85 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Evo Bus AB28 3230092 Contitech 946 N
Mercedes AB28 3230092 Phoenix 1F20C
Vibracoustic V1F21C
Blacktech RL 9057
Airtech 3946
CF Gomma 1SC 290-28
207725
meklas.com » meklas

e group



CONNECT

AIR SPRINGS

101079

0220
2164.8

N

h:390

OEM Ref.

Product ID: 101079 Weight: 1,85 kg QIP (pcs): 40
CROSS Ref.
Dunlop PNP303907100
Airtech 30907

meklas.com

- O meklas
e Qroup



CONNECT

AIR SPRINGS

101023

0226

2150.8
| I—

/;l

h:320

Product ID: 101023 Weight: 1,32 kg QIP (pcs): 40

OEM Ref. CROSS Ref.

Irs 5.001.021.414 Contitech 1415 N

Iveco Bus 503130506 Phoenix 1TE23A

299729 Goodyear 93
Goodyear Flex No 556-03-9113
Airtech 31415
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

101069

0225
©150.8

h:345

’ 2130.8

Product ID: 101069 Weight: 1,36 kg QIP (pcs): 50

OEM Ref.

CROSS Ref.

Contitech 1417 N

meklas.com

- O meklas
e Qroup



CONNECT

AIR SPRINGS

1010387/
2265
(@]
(o))
<~
<
1
Product ID: 101037 Weight: 2,14 kg QIP (pcs): 45
OEM Ref. CROSS Ref.
Volvo 1075290 Contitech 1421N
1622115 Firestone 1R2A490-305
1622122 Firestone Part No W01-095-0472
1593842 Goodyear 9072
Wabco 896130193 4 Goodyear Flex No 556-03-7092
Airtech 31421
meklas.com meklas

618

e group



CONNECT

AIR SPRINGS

101038

2230
2130.8

7 )

h:450

1
Product ID: 101038 Weight: 1,60 kg QIP (pcs): 60

OEM Ref. CROSS Ref.

lveco 98478799 Contitech 1885 N1

M.AN 8.143601.0109 Firestone 1R2A445280
8.143601.0104 Firestone Part No W01-095-0429
8143601.0123 Phoenix 1F208B
8143601.0M CF Gomma 1SC 270-28
8143601.01150 97043
81436010125 Dunlop D12507

Wabco 89613014

meklas.com s meklas

e Jroup



CONNECT

AIR SPRINGS

101039

28240

2150.8

h:470

Product ID: 101039 Weight: 2,20 kg QIP (pcs): 45

OEM Ref. CROSS Ref.

M.AN 81.43601.0163 Contitech 1888 N

ZF Sachs 0017 48 451100 Phoenix 1E25B
Goodyear 9123
Goodyear Flex no 556-03-9123
Airtech 31888
Blacktech RL9S2999

meklas.com - meklas

e group



CONNECT

AIR SPRINGS

101055

2200
£130.8

h:235

%) 8

Product ID: 101055 Weight: 110 kg QIP (pcs): 72
OEM Ref. CROSS Ref.
lveco 41006926 Airtech 319250
CF Gomma 1SC 250-19
201727

meklas.com . meklas
e Jroup



CONNECT

AIR SPRINGS

101054

0220

£130.8

=N

h:344

Product ID: 101054 Weight: 140 kg QIP (pcs): 50
OEM Ref. CROSS Ref.
lveco 98411807 CF Gomma 1SC260-92
Gart €289

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

128518

101077

0216

@130.8_

]

h:290

OEM Ref.

Product ID: 101077 Weight: 1,25 kg QIP (pcs): 45
CROSS Ref.
CF Gomma 1528518 C
97261

meklas.com

. O meklas
e Qroup



CONNECT

AIR SPRINGS

101071
@216

h:556

Product ID: 101071 Weight: 176 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
lveco 500364433 CF Gomma 1S290-30V
205074

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

101073

3240
2150.8

i

h:391

Product ID: 101073 Weight: 213 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
lveco 4843255 CF Gomma 1S 323-25
96541

meklas.com e meklas
e Jroup



CONNECT

AIR SPRINGS

101091
2240

h:507

! ———
2150.8

Product ID: 101051 Weight: 2,30 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
lveco 41022620 Airtech 336323
CF Gomma 15323-36
203833
Gart D298/B
298.0.515

meklas.com . meklas
e JrOuUp



CONNECT

AIR SPRINGS

101042
0225
2150.8
/17—1

n

<

M

<

I
Product ID: 101042 Weight: 1,91kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Volvo 302727 Contitech RZ 415-25
Firestone 1R5P345-290
Firestone Part No W01-095-0381
Goodyear 9004
Goodyear Flex No 556-03-9004
Blacktech RLO526-36
Airtech 3415-25
CF Gomma 1S 280-25
203000
meklas.com . meklas

e Jroup



CONNECT

AIR SPRINGS

101043

8225
2150.8

/‘;}

h:410

! —
92130.8

Product ID: 101043 Weight: 2,25 kg QIP (pcs): 40

OEM Ref. CROSS Ref.

\olvo 3027272 Contitech RZ 415-28

Wabco 896130184 Firestone 1R5P4102390
Firestone W01095 0382
Goodyear 9005
Goodyear Flex No 556-03-8922
Phoenix 2G20A
Airtech 3415-28
CF Gomma 1S 280-28

203001
meklas.com - meklas

e group



CONNECT

AIR SPRINGS

101085
2240

2168.4
 ——

h:360

Product ID: 101085 Weight: 1,93 kg QIP (pcs): 60

OEM Ref.

CROSS Ref.

Blacktech 99206

meklas.com

- O meklas
e Qroup



CONNECT

AIR SPRINGS

1010583

0225
3150.8

/{7—I

h:394

2150.8

Product ID: 101053 Weight: 1,60 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Evo Bus A 356.327.0001 Contitech RZ 450-25
lveco 93197594 Goodyear 8050
Mercedes A 356 327 0001 Phoenix 1E23
Airtech 3450-25
CF Gomma 1S 300-27
203386
Dunlop D12513
meklas.com - meklas

e group



CONNECT 160789

AIR SPRINGS

101060

0216
£130.8

J

h:365

g

0]

Product ID: 101060 Weight: 1,36 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Volvo 20540789 Goodyear 9081
Goodyear Flex No 556-03 -9081
Phoenix 1TE21B
Airtech 30789

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

101065
2190

?130.8_

77—

h:390

Product ID: 101065 Weight: 1,50 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Volvo 3M277 Firestone 1R4U395260
Firestone Part No WQ01095 0453
Dunlop A310950013
Airtech 31277

meklas.com ) meklas
e JrOuUp



CONNECT

AIR SPRINGS

10107/6
0216
$130.8
(@]
o
X
<
1
Product ID: 101076 Weight: 146 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Volvo 21836533 Phoenix 1E21F
Goodyear 9134
Goodyear Flex No 556-03-9134

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

101059

2190

2130.8
| —

N

h:365

£130.8

Product ID: 101059 Weight: 1,80 kg QIP (pcs): 50
OEM Ref. CROSS Ref.
Volvo 21347075 Goodyear 9082
20540792 Airtech 30792

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

101072

0220

2164.8

S

h:380

£164.8

Product ID: 101072 Weight: 142 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Firestone 1TR1IK380300
Firestone Part No WQ01095 0541

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

101066
2226

) I |

2150.8

h:495

! ——
£130.8

Product ID: 101066 Weight: 1,88 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Volvo 9522709 Airtech 36305
20573305

meklas.com - meklas
e JrOuUp



CONNECT

AIR SPRINGS

101061

@220
©150.8

h:149

64

M10x1.5

162709-P

220100

0226

26

Product ID: 101061 Weight: 8,52 kg QIP (pcs): 30
OEM Ref. CROSS Ref.
Volvo 9522709 Airtech 36305 T (with pistan)
20573 305
meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

101075
2190

2130.8
| n—

)

h:390

Product ID: 101075 Weight: 1,27 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Volvo 20535875 Phoenix 1E18D
Goodyear 9080
Goodyear Flex No 556-03-9080
Dunlop D12521

meklas.com - meklas
e JrOuUp



CONNECT 165875-P

AIR SPRINGS

10107/8 220083
?130.8
3204
77—\
(T
AI 34 \\ \,/ 2xM10x1.5
= N - 95.4
I
36

Product ID: 101078 Weight: 8,52 kg QIP (pcs): 28
OEM Ref. CROSS Ref.
Volvo 20535875 Phoenix 1E 18 D (with piston)
Goodyear 9080 (with piston)
Goodyear Flex No 556-03-9080

meklas.com - meklas
e Jroup



CONNECT

AIR SPRINGS

101064

0226

©£150.8
/

h:380

Product ID: 101064 Weight: 1,94 kg QIP (pcs): 40

OEM Ref. CROSS Ref.

\olvo 70377052

meklas.com o meklas
e JrOuUp



CONNECT

AIR SPRINGS

101062 220101
2226

2150.8

2197

I 1

O
=

Product ID: 101062 Weight: 4,58 kg QIP (pcs): 40
OEM Ref. CROSS Ref.
Volvo 70 377 054
70377052

meklas.com » meklas
e Jroup



Notes




BUILD SOLID

Meklas Group do not accept any liability for possible efrars or omissions in this catalogue.
We reserve the right to.make any changes to this catalogue without prior notification.
Total of partial reproduction of this catalogue without written authorisation given by Meklas Group is prohibited.




meklas.com

MEKLAS OTOMOTiV
ithalat ihracat San. ve Tic. Ltd. Sti.

MEKPA OTOMOTIiV
ithalat ihracat San. ve Tic. Ltd. Sti.

Organize Sanayi Bolgesi
Turuncu Cad. 1. Sk. No: 2 16140

BURSA / TURKIYE

T+90 224 41116 76
F+90 224 41116 79

info@meklas.com

BURSA / TURKIYE

Organize Sanayi Bolgesi
Turuncu Cad. 1. Sk. No: 2 16140

T+90 224 41116 76
F+90 224 41116 79

info@meklas.com

MEKPACZ s.r.o

MEKPA NA INC.

MEKPA HAVA
Sispansiyon Korikleri Koll. Sti.

Ata SB Mah. Gul Cad.No:9
Bursa Serbest Bélge 16600
Gemlik/BURSA/ TURKEY
T+90 224 524 87 07

F +90 224 524 87 08
info@meklas.com

Palackého 1159/78b
Ostrava - Privoz 702 00
Czech Republic

T +420 596 110 979
filipg@meklas.com

6293 Thomas
Road Ft. Myers,

FL 33912 - USA

T +1239 405 7681
F +1239 349 2610
mete@meklas.com

ANL Reklamcilik Ltd. Sti'ne bastiritmistir.
Agustos 2018

V' &8
D) S
KOSGEB

www.kosgeb.gov.tr

ive.com

hy and design by

concept, ph

2018-EU-01 - MEKLAS ®© ALL RIGHTS RESERVED



